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PART - I (|- 1)
MENTAL ABILITY TEST

ifser AvIar ghemr

Questions : 1 to 90

Direction : (Question Nos. 1 to 3)

In these questions, a number series is
given with one term missing. Choose the
correct alternative from the given ones
that will complete the series.

1. 4,13, 28, 49, 76, ?
(1) 99
@) 111
(3) 109
(4) 122

2. 117,96, 77, 60, ? , 32
(1) 40
(2) 49
(3) 50
(4) 45

3. 7,20,58, 171,
(1) 216
(2) 284
(3) 509
(4) 441

4. If4x2=3and 8 x4 =3, then find
the value of 21 x 7 :

(1) 4
@) 3
@) 8
4) 16

NMMS-2022

1.

4.

Time : 12 Hours

4,13, 28, 49, 76, ?
(1) 99
) 111
(3) 109
4) 122

117, 96, 77, 60, ?, 32
(1) 40
(2) 49
(3) 50
(4) 45

7,20, 58, 171, ?
(1) 216
(2) 284
(3) 509
(4) 441

gqfe 4x2=3 X 8x4=3 2, @I
21x7 &I HE S HIST -

(1) 4
@) 3
@) 8
(4) 16

P.T.O.
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A

Direction : (Question Nos. 5 and 6)
The figure (X) is folded to form a box.
Choose the box from given alternatives
that is similar to the box formed.

5. a +7/
o | Al X
X)
+
O | x| @ (o2
¥ .
@ Y @|x|2
6. Bt
s |l@l# v
E
X)
@ #
o [+Y @ B2
@ &Y
@ |v|¥ @is|®

Direction : (Question Nos. 7 to 10)
Each side of solid cube is 15 cm. The
opposite faces of this cube are painted
Red, Green and Yellow. After this the
cube is cut into small cubes whose each
side is 3 cm. Answer the following
questions on this basis.

7. How many such small cubes will
be obtained which have red and
green colour on only two faces ?

(1) 12 2 8
(3) 36 4) 24
NMMS-2022

(4)

feer : (Fe d@&m 5 TF 6)

e (X) = s9M & [ A .= 8
R o famedi & | UAr foehea (fe=am)
I S I T fes & qHEY Bl |

5. a "{“‘7/
e |AlX
X)
+
o (<] @ [g]A
¥ .
@ v @ =2
6. =t
$|l@l# v
B
X)
@ #
o | |HY o |xg8°2
@ 4,
® (v|l¥ @ |s|®

fdsr ¢ (959 d@==m 7 9 10)

7. U9 fhaq 8¢ =99 Ut 8 s
Had & o U¥ A ST B4

a1 oEr e
(1) 12 2) 8
(3) 36 (4) 24
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A

8. How many such small cubes will 8. U¥ fha+w Bl g9 U1 i [’=eh
be obtained which have yellow Had Th Haleh ¥ didr 31 8 7
colour on only one face ?

(1) 8 (2) 12 (1) 8 (2) 12
3) 18 (4) 54 3) 18 (4) 54

9. How many such small cubes will 9. 0¥ fhaw Bl g9 91 e ek
be obtained which will not have fpdl |l ®ae® 9¥ «, 81 M
red, green and yellow colour on dier 1 F8f 8 ?
any of the faces ?

(1) 125 (1) 125
2) 25 (2) 25
(3) 8 (3 8
(4) 27 4) 27
10. How many such small cubes will 10. 0¥ fhaw Bl 99 91 e b
be obtained which will have red, dad dIF HAH 97 AT, B4 T
green and yellow colour on only diar T 8T ?
three faces ?
(1) 12 (1) 12
(2) 8 2 8
(3) 25 (3) 25
(4) 54 (4) 54
Direction : (Question Nos. 11 and 12) ISECIEE (E[-‘Ff gE&r 11 o9 12)
In the following number series find the dE S e = el Hodg Eed
number which is wrong according to the T H S e & AFAR AT S |
series.
11. 7,17, 11,15, 15,13,19, 9, 23 11. 7,17,11, 15, 15,13, 19, 9, 23
1) 9 1 9
@) 11 @) 11
(3) 23 (3) 23
(4 15 (4) 15
NMMS-2022 P.T.O.
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A

12. 8, 4,6, 15, 52
1) 4 (2) 52
3) 15 4) 8

Direction : (Question Nos. 13 and 14)

The three different position of a dice are
given below. Select the suitable answer
of the following question.

+ @ X

13. What is the symbol on the opposite
surface of T ?
1 3
) @

(2) +
(4) x

14. What is the symbol on the opposite
surface of § ?
(1) % (2) x
(3) + (4) #

Direction : (Question Nos. 15 to 17)
In the following questions there are
statements followed by conclusions.
Choose the conclusion(s) which must
logically the
statements.

follow  from given
(1) If only conclusion I follows.
(2) If only conclusion II follows.

(3) If neither conclusion I and II follows.
(4) If both conclusion I and II follows.

15. Statements :
All Apples are Mangoes.
Some Mangoes are Guava.
Conclusions:
I Some Guava are Apples.

II Some Guava are Mangoes.

NMMS-2022

(6)

12. 8, 4,6, 15,52
1) 4
(3) 15 4) 8

fdsr : (v d@er 13 wd 14)

Teh UTET Sl A STAT-3TaT Regfar
& w2 FefaiEd usdl & SugE
IAX Bl I HBX |

+ @ X

(2) 52

X

13. T & f9udg gds X H9H-91 =

g7
1 $ 2 +
) @ (4) x
14. $ & A9 9de WX HE-91 ==
g7
1 X (2) x
3) + 4) #
feer : (987 dem 15 9 17)

Frfaiad uedl |, HUF & a= ey
2| Fr=py @1 =9e &Y S fRw g el
q dlihes &9 & HAFAXOT HL |

(1) g Haa F=py 1 FAFATOT I 2 |
(2) aE Faa M=y 11 SAFEOT HIT © |
@) g T @ M=y I R J & 11

AFELOT HIT © |

4) afs Frepd 1 X I 91 AFEXT
FXA 2 |

15. HAT :
gl a9 7H 2 |
FB A FHES ¢ |

ey -

I B oM&e 49 B

II B THES TH 2 |
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16. Statements :
Some buses are vans.
Some vans are motorcycles.
Conclusions :
I Some vans are buses.

II Some motorcycles are vans.

17. Statements :
Some dogs are cats.

No cats are rats.
Conclusions :

I Some cats are dogs.

II Some rats are dogs.

Direction : (Question Nos. 18 to 20)

The answers to the following questions
are based on the diagram given below.
Where the circle represents students

studying Mathematics, the triangle
represents students studying Science
and the square represents students

studying Geography.

18. Number of students who study
Mathematics and Science but not
Geography :

1 7
@) 5
3) 4
4) 6

NMMS-2022

(7)

16.

17.

IRECIEE
e usst & SO T R
MRY X aTefikg & Sier
ged ard B, Fys fasme
gfat~fere sar 2

FHAT

FHe T4 99 2 |
H/E I HICTAEG 2 |

ey -

I 3B a9 99 21

II % HexdEthd o € |

HIT
FB FHl it 2 |
®g et Fer 7 B
e -
I o [l & 2
II B I FI ¢ |
(ueT de&mr 18 | 20)
T
ga 7o
qe-
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A

19. Number of students who study
Mathematics, Science and
Geography :

(1) 5
(2) 6
3) 7
(4) 4

20. Number of students who study

only Mathematics :
(1) 3
2) 4
3) 6
4 7

Direction : (Question Nos. 21 and 22)
In a certain code language

(a) ‘rim tim bo’ means ‘Sun is Hot'.

(b) ‘sim jar tim’ means ‘Moon is Cool’

(¢) 9ar bo lim’ means ‘Sun and Moon’.

21. In that language which word is

written for ‘and’ ?
(1) tim
(2) lim
(3) sim
(4) jar

22. In that language which word

written for ‘cool’ ?
(1) lim
(2) jar
(3) tim
(4) sim

NMMS-2022

(8)

19. 39 BEN #H  GE, SO,
st &R e ged ¥

1 5
(2) 6
(3) 7
(4) 4

ST BET N G, Sodad A
RECICE

1 3

@ 4

(3) 6

@ 7

e : (v EE 21w 22)

Teh figE e A |

(a) ‘rim tim bo’ T 318} ‘Sun is Hot’ &
(b) ‘sim jar tim’ @7 378 Moon is Cool’ &
(© Yarbolim’ &I 727 ‘Sun and Moon’ &

20.

21. 39 N1 H S U= ‘and’ B U
forar T B

(1) tim
(2) lim
(3) sim
(4) jar

22, 39 AT H S 9TF ‘cool’ & @

forer T ©
(1) lim
(2) jar
(3) tim
(4) sim
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23. If the word ‘EIGH’ can be written

as ‘EMOT’, then how can the word
‘AEKL’ be written in that code ?

(1) AELM
(2) AESX
(3) AISX
(4) AIXS

Direction : (Question Nos. 24 and 25)
Which of the four answer figures can be
formed from the pieces (X) given below ?

2. AU
D Jd
(X)
(1) 2)
(3) (4)
25. D7 K]
(X}
v g eB
o @ o®
26. If the word ‘MUMBAI can be
written as ‘NWPFFQO’, then how
can the word ‘DELHI’ be written
in that code ?
(1) EFMIL (2) EGOLN
(3) CDKGH (4) EGOMN
NMMS-2022

(9)

A

23. e ‘EIGH’ == &I ‘EMOT foram
ST 2, af ‘AEKL &1 391 shis |
T U foTar ST dahar 8 7

(1) AELM
(2) AESX
(3) AISX
(4) AIXS
fdsr ¢ (99 HEr 24wy 25)
IR IAT TR H & HIA-El TR
Sl A BT U gwsi (X) @ IE R S
BT & 7
a4, |AL
A
(X)
ey) (2)
3) 4)
25. &\
0
(X}
ey @ (2) @
6)) @ (4) @
26. It ‘MUMBAT /=2 &I ‘NWPFFO’

forar Sfar 2, a9 ‘DELHT i =4t
HE H 9 s fo/@ar Srodewan
e

(1) EFMIL (2) EGOLN
(3) CDKGH (4) EGOMN
P.T. O.
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A (10)

Direction : (Question Nos. 27 to 29) ISECIEE (sra=r e 27 9 29)
There are given six logical Diagrams (a, B g G =& (a, b, ¢, d, e 3T f)
b, ¢, d, e and f). Select one which best fer T | Fr=fefad § 9 ud@s gs=
illustrates the relationship among three 7 a9 @t & dg 9y Qi g
classes in each of the following question. qass ﬂﬁl
Ce &) @
& ¢ C
a b a b
Q0 @ Qo @
d e f d e f
27. Husband, Wife, Family : 27. Ui, 9eil, 9@ -
1 b 1) b
@) f @) f
(3 a 3) a
(4) e (4 e
28. Authors, Women, Techers : 28. J@h, Hiew, ferp :
(1) b (1) b
(2) ¢ (2 ¢
3 d 3 d
(4) e (4 e
29. Mothers, Women, Children : 29. H@W, Hfg@W, T=
1) f 1) f
(2) a (2) a
3) b 3) b
(4) c @) c
NMMS-2022
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30.

31.

32.

33.

If the word “DOCTOR” can be
written as FRGVRYV, then how can
the word “HEALTH” be written in
that code ?

(1) IFBMUI
2) JHEMWM
(3) IFBNUI
(4) JHENWL

If the word ‘DOG’ can be written
as 13, then how can the word
‘MAT’ be written in that code ?

1) 17 (2) 34
(3) 24 (4) 26
Rahul is 15th from the left in a

row of 38 boys. What will be his
position from the right ?

(1) 23rd
(2) 22nd
(3) 24th
(4) 25th
If the word ‘MOUSE’ can be
written as “ONWRG”, then how

can the word ‘LIGHT’ be written
in that code ?

(1) MGHFU (2) JGEFR
(3) JJEIR (4) NHIGV
34. How many times does Zero appear
in the numbers from 1 to 1000 ?
(1) 102 (2) 122
(3) 192 (4) 112
NMMS-2022

(11)

30.

31.

32.

33.

34.

A

gfe “DOCTOR” == @ FRGVRV
forer S 8, o “HEALTH” =t
El HIEe H fpE gwr f@r s
Tepar B 7

(1) IFBMUI

(2) JHEMWM

(3) IFBNUI

(4) JHENWL

g ‘DOG’ 15 1 13 for@r Srar
g, @1 ‘MAT = @1 s # 5
UehI forar o1 Tehar 8 7

(1) 17 (2) 34

(3) 24 (4) 26

38 Teehi hl dikd H g 9 |
153 T 9T 2| IR ST SR
q N &0 B8R 7

(1) 23ar
(2) 224t
(3) 24art
(4) 25aT
s ‘MOUSE’ /=5 %I “ONWRG”
foram ST ®, o ‘LIGHT & &

e H R Uk far S gehdr
g

(1) MGHFU
(3) JJEIR

2) JGEFR

(4) NHIGV

1 ¥ 1000 d% I dEAed H 0
fepa=il e T ® 7

(1) 102 (2) 122

(3) 192 (4) 112

P.T.O.
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Direction : (Question Nos. 35 to 39)

Read the following information and
answer the questions given below.

1. P$Q means P is mother of Q.

2. P@Q means P is father of Q.

3. P#Q means P is husband of Q.
4. P&Q means P is daughter of Q.

35. How is A related to C according to
A@B#C ?
(1) Father
(2) Grand Father
(3) Father-in-law
(4) Son-in-law
36. How is C related to A according to
A$B&C ?
(1) Wife
(2) Daughter
(3) Mother
(4) Husband
37. How is A related to C according to
A#B$C ?
(1) Husband (2) Father
(3) Son (4) Wife

38. How is C related to A according to
A&B#C ?

(1) Mother
(2) Daughter
(3) Wife

(4) Husband

NMMS-2022

(12)

feer = (987 der 35 § 39)
frefafad 9 98 ok i fRu
S|l & IA< & |
1. P$QeFr 1t 2 P, Q bl AT 2 |
2. P@Q@ 1T B P,Q & fuar ¥
3. PHQ@F 1 B P,Q & Ui 2 |
4. P&Q I A B P,Q &I I 2 |
35. A@B#C &% T7dR A &1 C ¥ =1
g B 7
(1) foer
(2) =1aT

(3) |gY
(4) ™=

36. A$B&C & STgAX C &1 A & =41
T B 7
(1) ol
(2) a1
(3) =
(4) 9fT
37. A#B$C &% 1A A & C q &1
T B 7
(1) afq 2) foar
(3) e (4) o

38. A&B#C & AR C & A | &1
T B 7
(1) =rer
2 I
(3) o
(4) 9f
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39. How is A related to C according to
A@B$C?

(1) Grand Father

(2) Husband

(3) Maternal Grand Father
(4) Father

Direction : (Question Nos. 40 to 44)
Read the following information and
answer the questions given below.

All six members of a family P, Q, R, S, T
and U are traveling together. S 1is
daughter of P. U is brother of Q. Q is
daughter of R. But R is not the mother of
Q. P and R are a married couple.

40. Who is U’s mother ?
1) s 2) P
(3) R 4 T
41. How is T related to S ?
(1) Uncle
(2) Father
(3) Maternal Uncle
(4) Brother
42. How many children does P have ?
1)1 (2) 2
(3) 4 4) 3
43. How many male members are
there in the family ?
1) 1 2) 4
3) 2 4) 3
NMMS-2022

(13)

A

39. A@BS$C & TAN A &1 C & &1

T B 7

(1) &=t

(2) 9fq

(3) T

(4) foar
fEer = (997 FEar 40 § 44)

frefeiRad S99 el A R
T YAl & IAT G |

U gRaR & 949 8: 9599 P, Q, R, S,
T X U Tk 917 I T @ 218, P
FT AT BN U, Q & 92 1 Q R HI
4 B AfRT R, Q & AT A& B P

3T R us faafed swer 21

40. U = |7 &9 8 ?
(1) S 2 P
3) R (4) T
41. T &1 S § 1 daegr 8 ?
(1) ==
(2) fOar
(3) AT
(4) o2
42. P fopaw a=a & 7
1) 1 ©2) 2
(3) 4 4) 3
43. dRAR ¥ fHaa guy el € 7
(1) 1 2) 4
(3) 2 4) 3

P.T.O.
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A

44. How is S related to U ?
(1) Sister
(2) Mother
(3) Sister-in-law
(4) Daughter

Directions : (Question Nos. 45 to 48)
In each of the following figures number
are written according to some patterns.
One number missing. Find the
missing number that replace the
question mark (?).

12 15 13 18 7 ?
45. Y Y Y
20 26 7

18

1) 21 @) 13
3) 9 4) 19
GRS X8
1) 9 @) 2
3) 18 @) 7
a7. 2 27 8 T g 3 9 4
4
SRS S
(1) 464
() 232
(3) 494
(4) 133
NMMS-2022

(14)

44. SHUH 1 dag € 7

(1) s=ee

) =t

(3) «Te

@ &
feer = (997 dear 45 q 48)
= G R uadw ety ¥ ue MiEd
HH AR FHE den e 2
H 9 Uk A g 2 ga a9
S L S geq RBree (7) & e W
SUYHT |

12 15 13 18 7 ?
45. Y Y Y

20 26 7

(1) 21 2) 13

(3) 9 (4) 19

1) 9 @) 2

(3) 18 4) 7
a7, 2 27 8 1 & 3 Y 4

o

P A S A

(1) 464

(2) 232

(3) 494

(4) 133
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48. 218
2|77\
216 27

913

1) 5 ) 14

(3) 125 (4) 25

Directions : (Question Nos. 49 to 52)

Read the following information and

answer the questions given below.

There are five person in a group A, B, C,
D and E. The group has one doctor, one
teacher and one author. A and D are
unmarried students. E is a man married
to one of the group member. B is brother
of A and is neither doctor nor author. C
1s not a doctor.

49. Who is author ?
1) A
3) C

@) B
(4) E

50. Who is teacher ?

(1) B
@ C
3) E
(4 D

51. Who is doctor ?
(1) C
(2 B
3) D

4) E

NMMS-2022

(15)

48. 218
216 27

913

1) 5 2) 14

(3) 125 (4) 25
feer : (Je | 49 | 52)

ffrefafag S99 ik S RRu
T YAl B IAC 2 |

ks @e d 5 AT A, B, C, D 3R E
g1 We H UHh S, UH (AEw IR
Th @ 21 A X D affgaiza s=
FIE U 59 B o 9gg ® @=di #
T uh 9 fgaied 81 B, A & 9E B
AT F a e &8 9 8 a@s| C
feex 81 2|
49. TGH HIT B ?
1) A

3 C
faretes B B ?
(1) B
@ C
B E
(4) D
efFeX BT & ?
1) C
2) B
3 D
(4) E

©2) B
(4) E

50.

51.
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52.

53.

54.

55.

Who is wife of E ?

(1) D

2) C

(3 B

4 A

A clock has 6 : 47, so what does

the time of the clock appear when
you look in the mirror ?

(1) 7:13
(2) 6:13
(3) 5:13
(4) 8:13
If the English alphabet is written
in reverse orders, which will be

the 8th letter to the right of the
12th letter from the left ?

1) G
@ T
®) F
4) 1

If the seventh day of a month
comes three days before Saturday,
then which day will be the 17th
day of that month ?

(1) Sunday
(2) Saturday
(3) Friday

(4) Wednesday

NMMS-2022

(16)

52.

53.

54.

55.

E & 9l &9 8 7
(1) D

@) C

(3) B

4) A

Th TS H 6 Foih 47
g, ar guor § I W
T T Ui Bldr § 7
(1) 7:13

(2) 6:13

(3) 5:13

(4) 8:13

afg SIS H FoEET B IdS
A H foer S, O 9 | 129

3 % adl X &4 ofElY
HIT-91 EFT 7

1) G

e 8u
G|

@ T
3 F
@) 1

gie fpEr A # gaar oA
v ¥ 99 &9 vsd of«r g,

al 39 HE & 9edl @9 Si-dr
I BN P

(1) dagax
(2) <THE

(3) YHATX
(4) gEAR
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56.

Various terms of an alphabet
series are given with one term
missing as shown by (?). Choose

the missing terms out of the given

alternatives.

DEF, HIJ, MNO, ?

(1) RST (2) STU
3) TUV (4) SRQ

Direction : (Question Nos. 57 and 58)

Select a proper group of letters from the
given alternative.

57.

58.

59.

60.

_a_b_abaa_bab_abb

(1) abbaa (2) babba
(3) ababb (4) babaa
qrp_q_ppqr_p_1rpp

(1) qraq (2) rapq

(3) prpq (4) rrpq

What is the angle between the two
hands at 7 : 30 in the Clock ?

(1) 45°
(3) 15°

(2) 60°
(4) 30°
A man walked 40 meters towards
North, took a left turn and walked
20 meters. He again took a left
turn and walked 40 meters. How

far and in which direction is he
from the starting point ?

(1) 20 meters East
(2) 20 meters South
(3) 20 meters West
(4) 100 meters South

NMMS-2022
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56.

e -
fRu T fapedl § 9 SR & Th
e gHu S Rea @& o g

JOHTAT T
T e e 9 us
B g F=ree (7) 9 =9
gl Ru U Femedi § & Red
ST ShIfSTT |

DEF, HIJ, MNO, ?

(1) RST (2) STU

(3) TUV (4) SRQ

(I @& 57 uF 58)
e
&

ST 9 |

57.

58.

59.

60.

_a_b_abaa_bab_abb
(1) abbaa (2) babba
(3) ababb (4) babaa

qrp_q_ppqr_p_rpp

(1) qraq (2) rqpq

(3) prpq (4) rrpq

gl H 7 96X 30 HeEe 9¥ &l
g2l & g e @It @ o
2RT ?

(1) 45° (2) 60°

3) 15° (4) 30°

T Hfkd I QM Hr IR 4
HeX deb =1, g8 9" gSl
20 HEX AT g€ g 9
AN 40 HeX I@T| URIAS
g e fpaeil gY R FRe f&sm
2R T ?

(1) 20 #Hex gd

(2) 20 HIexX FeyoT

(3) 20 HiexX 9f=gH

(4) 100 HieX aferor

LT %o

°
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A

Direction : (Question Nos. 61 to 64)

In each of the following questions the
first words have a common
relationship. Choose one word out of the
given four alternatives, which will
replace the question mark (?), having
same relationship with the third, the
pairs are given as following.

two

61. Reading : Knowledge : : Work : ?
(1) Engagement
(2) Employment
(3) Experience

(4) Experiment

62. Paw: Cat:: Hoof:?
(1) Lion

(2) Elephant

(3) Lamb

(4) Horse

63. White : Peace :: Red : ?

(1) Rose

(2) Hatred

(3) Violence
(4) Cleanliness

64. South : North-West : : East : ?
(1) South-East

(2) South-West

(3) North

(4) West

NMMS-2022

(18)

fEer - (997 EEm 61 F 64)

=feRaa g% 999 H U8d & R
el 7 Rl dXe 9 Usm-gEl 9
21 Ru T Ir fawedt # 9 uH
== g S garE Bree (7) &
gy 37 9l & R JE == 9
T 9 8| SIS 39 UhK [’ E |

[l

:

854

61. 9&AT : S ¢ : HIH : 7
(1) &

(2) VST

(3) STgHAT

(4) I=mT

USTT - foreat o
(1)

(2) e

3) 9

(4) =T

qha : Shfd : o
(1) I

(2) gom

(3) Ear

(4) T@=dr
aferor : SOR-ufREm s gg ;7
(1) =feror-gd

(2) Eferor-uie=H

(3) I

(4) qfg=H

62.

63.

64.
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65. Wednesday being Republic day
was holiday. The tenth day of the
next month  being Basant
Panchami was holiday. What day
was on 10th ?

(1) Wednesday
(2) Tuesday
(3) Friday

(4) Thursday

Direction : (Question Nos. 66 to 69)

In each of the following questions, 3
question figures are given as A,B,C and
four answer figures are given as 1,2,3
and 4. Select the figure from the answer
figures that will continue the series

given in the question figure.
66. Question Figures

lA olﬂ-

A B c D

[m] [m]
. 0

\%

Answer Figures

o P e T
a

o [T T
NMMS-2022
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A

65. JUAIX HI UG fEId B Il
g1 ST Hem 104 R =9d
el I gedl et 10 e
Hi-dr & ar ?

(1) ggar
(2) HITE
(3) YA
(4) T&IR

feer : (J9 d=T 66 | 69)

g g% 9s9 H 3 U
agfEl AB,C & &9 H 8lX IR 3%
sTpfaat 1,2,3 ofX 4 & &9 § & T
21 IAT oTEiEl H A IF SATHIA B
T BT ST U SATRfrA H & T
2T B SR T |

66. T STHIET

\%

[m]
0

-

(1) (2)

3) (4)

ol
o
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67. Question Figures 67. U SRRt
& &
(m] A (] A
a] ? a]
AX O A
A B C D A B
Answer Figures C3eEd BTIEEI%ITI\T
(1) (2) o (1) (2)
A A A
(3) A (4) O @) A (4)
@) A @)
68. Question Figures 68. U= 3Tt

A4, 7 A 14,

Answer Figures SR R

o |/ w |/

@ | A @ | A

(3) W@ (3) W@

@ Y @ Y
NMMS-2022
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69. Question Figures

Al

Answer Figures

>

&

A

(1)

@)

3)

D @

(4)

v

Direction : (Question Nos. 70 and 71)

In the following questions, choose a
figure amongst the four alternatives
which when placed in question mark (?)
space of figure (X) would complete the
pattern.

70.
(X)
(1) @)
(1T
(3) @ K
NMMS-2022

(21)

69. U7 STt
Ay aYaa
o9 9eS
e SRR

fesr : (9s demm 70 we 71)
FrfaRaa gt & o) el & 9 %
Sl A, 8 5 AR (X) & 97
e () & WM WX @ ST Q@1 Yed
g0 Bl SO |

(1)

3)

(4)

70.

(X)

(1) @)

3) (4)
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71.

v ¥l ©

(4)

3)

Direction : (Question Nos. 72 and 73)

In the following questions, from amongst
the figures marked 1, 2, 3 and 4 choose
the figure which satisfies the same
condition of placement of the dot(s) as in
figure (X).

2. @

(X)

(1) (2

N

2)
3) ’\\ (4)
73. 2
x)
(1) K " @) (j)/>
/AN
@ AN @ @
NMMS-2022

(22)

71.
?
(X)
o ¥l o
3) (4)
fesr : (Js deEmm 72 ud 73)

Frfaiaa usAt #, STl 1, 2, 3 3%

49 9 ge enfa gH, s &g e #
SHl Refq &1 dgse Fxar B oSEr 6

el X)HF B

72 @

(X)

(1) (2

\)

@)

N

3)

(4)

73. .

(X)

" @

(1) K ;)/>

AN
N

N @

3)
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Direction : (Question Nos. 74 and 75)

Select the mirror image of the given
number/figure (X).

74. 24169
(X)

1 96142

@2 Sphroe

3) earps

(4 a€rpS

75.

(3) (4)

BB
SR

Direction : (Question Nos. 76 and 77)

Study the following number sequence
and answer the questions given below.

63745921873569437142769317

76. How many prime number are in
the sequence which are
immediately preceded by an even
number but immediately followed
by an odd number ?

1) 5 (2) 13
3) 4 4) 7
NMMS-2022

(23)

fesr : (Js d@emm 74 wd 75)
& M FEar /Al (X) @ suer =B
g |

74.

75.

24169
(X)
1) 96142
@ Shrae
3 earsrs
4 derrs

(X)

fesr : (9s demm 76 wd 77)
Frfiaa dear oTgshd &1 oTeaas HY
S A= AU T gsHl & IR |
63745921873569437142769317

76.

ffU T oTgehd H feha=l 79
g 2 dfeT gRa 9’ d us
fouy der B 0

1) 5 (2) 13
@3) 4 (4) 7
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A

77. How many ‘3 number are in the
sequence which are immediately
preceded by an even number but
immediately followed by an odd

number ?
1) 4 2) 2
3) 3 4 1

Direction : (Question Nos. 78 and 79)
The given figure (x) is followed by four
figures 1, 2, 3, and 4 such that (x) is
embedded in one of them. Trace out the
correct alternatives.

78. N

(X

1) )
3) (4) Eg
79.
\/\ﬁ/\/
(X)
[—1
o || AA]] @ @
3) @ (4) %v
NMMS-2022

77. Bu M AgHH H ReaA ‘80 E,
e 3 UBd U w9 der @
e A de H Tk fquH g
g7

1) 4 2) 2
(3) 3 4) 1

(I demr 78 uwd 79)

g Th = (x) =) e 1, 2, 3,
F & us & g 21 SifE (%)

4
| A el | FfRd 81 Suge [aehed
T B |

78. N

(X

3

»3%

1) 2

(3) 4) Eg
79.

\/ﬁ/\/

o [|AA]] @

® @ @

by |
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80.

81.

82.

83.

Kailash walks 3 kms to east and
turns south and walks 4 kms.
Again turn west and walks 6 kms.
How far he from the starting
point ?

(1) 5kms
(2) 6kms
(3) 3kms
(4) 7kms

Select the related number from
the given relation :

583:295::486:7
(1) 291
(2) 378
(3) 487
(4) 581

Find the odd word from the given
alternatives :

(1) RTUX
(2) WUTQ
(3) GEDA
(4) ECBY

If A means +, B means x, C means

+and D means — , then the value
of 9A2B6D4C2is:

1) 16 2) 19

3) 27 (4) 30

NMMS-2022

(25)

80.

81.

82.

83.

A

Hanrer 3 TR gd I AR = @
A SR & IR gsar & SR 4
foFHl FIetar g1 g uiRed @ AR
JeHy 6 fHil F@ar B g8
AR fofg & feaei 3T &8 7

(1) 5 feper

(2) 6 fRHT

(3) 3 fRHT

(4) 7 fRmr

feu o ddy 9 H&fag 9= &
T P

583:295::486:7

(1) 291
(2) 378
(3) 487
(4) 581

Tu U fgpcdi § & AwH =
Sd HieT -

(1) RTUX
2 WUTQ
(3) GEDA
(4) ECBY

g A 1 3T +, B &7 1 x, C &l
3 + IR D & SR —, HET S,
AI9A2B6D4C 2 s O+q 5T

hIfSTT -
1) 16 @) 19
(3) 27 4) 30

P.T.O.
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A

84. If4x3=14,5x4=18,6x5=22,

then find the value of 7x 6 :
(1) 20
(2) 26
(3) 30
(4) 42

Direction : (Question Nos. 85 to 87)

How many triangles are in the given
figure ?

85.

(1) 10
3) 9

1) 10
@) 8

3) 6
4) 5

2) 12
4) 5

86.

817.

(1) 7
) 10
(3) 11
(4) 9

NMMS-2022
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84. T 4x3=14,5x4=18,6x5=22
2, A 7x6 H AF T HioT -

(1) 20
(2) 26
(3) 30
4) 42

e -
&
2

(wre7 deEAT 85 | 87)
TS AR H BrgSl @ d@EEmn fohden

?

N

(1) 10
3) 9

@) 12
) 5

86.

X

(1) 10
2 8
(3) 6
4) 5

817.

>

1 7
@) 10
(3) 11
4 9
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Direction : (Question Nos. 88 and 89)

How many squares are in the given
figure ?

88.

(1) 18
@) 15
(3) 25
4) 16

89.

1) 12
@) 15
(3) 20
4) 25

90. If x means —, + means X, + means
+ and — means +, then find the
value of 175 -25+5+2x3+10:

(1) -13
(2) 160
(3) 240
(4) 2370
NMMS-2022

(27)

fdsr - (U e 88 ud 89)

ELl
27

88.

89.

90.

TS SRR H oA &l G fedaer

1) 18
@) 15
(3) 25
4) 16

1) 12
@) 15
(3) 20
4) 25

g x @1 31—, + & I x, + F

3 + AT — H T+ HET
ST, ar 1756 —-25 =5+ 2x 3+ 10

H A A HITY -
(1) -13
(2) 160
(3) 240
(4) 2370
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PART - II (T - II)
SCHOLASTIC APTITUDE TEST

Aferer arar gderor

Questions : 91 to 180

91.

92.

93.

94.

Who among the following was
associated with the
Republican Association ?

(1) Subhash Chandra Bose
(2) Mahatma Gandhi

(3) Bhagat Singh

(4) Laxmi Sehgal

Hindustan

The place where an Earthquake
originates is :

(1) Centre
(2) Epicenter
(3) Focus

(4) Apex

What is the additive identity of
rational number ?

(1) 0 2) 1
3) -1 (4) 2
If the angle of incidence is 50°,
then calculate the angle between

the incident ray and the reflected
ray :

(1) 50°
(2) 130°
(3) 80°
(4) 100°

NMMS-2022

91

92.

93.

94.

Time : 12 Hours

Fefafed & & % Bgae
Rufscter Talfues & Sfer or ?

(1) g9y =iz 919
(2) HeTHT e
(3) wa &

(4) T T

I8 M el 9% Ul e © ¢

(1) &=

(2) SAiTH=
(3) wIhd
(4) faiferg

URET 9= H ARTHS  gedd
FT B ?
(1) 0
3) -1
g ofUad &HOT 500 B, I

Tufaa fRYer wd gyEfid fheer
% &I FH HIOT HI TN B -

@) 1
4) 2

(1) 50°
(2) 130°
(3) 80°
(4) 100°
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95.

96.

97.

98.

What steel was Tipu Sultan sword
made of ?

(1) Stainless Steel

(2) Wootz

(3) Silver

(4) Gold

Which of the following resource
has commercial value ?

(1) Clean environment

(2) Panoramic view

(3) Cotton clothes

(4) Pleasant weather

It 1s difficult to walk on ice

because :

(1) pressure is high
(2) pressure is low
(3) friction is high

(4) friction is low

Here are the names of resources
and their types. Look at the
options and state which option is
not correct ?
(1) Coal — Non-renewable
resource

(2) Petroleum  — Non-renewable

resource

(3) Water — Non-renewable
resource

(4) Solar Energy — Renewable
resource

NMMS-2022
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95.

96.

97.

98.

A

Ay g #l dear hE i
q & et ?

(1) SE i

(2) gt

(3) =ridr

(4) AT

=" | feE "Ees o
afoTfsTes Jo & 7

(1) =8 Irareso

(2) H9RH ™

(3) Tl oA

(4) geEa JrEd

% U TAAT Hied & Fifh ¢

(1) =19 oTfers 8

(2) =19 9 B

(3) TYUr aTfereR B

(4) g1 HH T

TET GEEEl & A g 39 UhR
feu @ | fopeal 1 AT o)
gaey & HE-ar ey a8 &7
g7

(1) I - STHAIRLONT Fares

(2) USIeTEH - TR dareq
(8) oI — STFIRLONT 9aree

(4) AT STl — AR eNg Gares

P.T.O.
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99.

Which of the following 1is
important component of
formation ?

(1) Parent Shell

(2) Flora

(3) Climate

(4) All of the above

an
soil

100. The animals that produce new
young ones are called :
(1) Viviparous
(2) Oviparous
(3) Both (1) & (2)
(4) None of these
101. A square carrom board has a
perimeter of 320 cm. How much is
its side in cm ?
(1) 100 (2) 80
(3) 60 (4) 90
102. Why did Mahatma Gandhi visit
Champaran ?
(1) To see the plights of Indigo
planters in Champaran
(2) To see the progress of Indigo
plantation
(3) To see the managing system of
company
(4) To collect the revenue
103. In a pie chart data is converted
into :
(1) Line
(2) Angle
(3) Circle
(4) Percentage
NMMS-2022

(30)

99.

100.

101.

102.

103.

1 & | @9-ar gar FEier @
He@yol g2 © 7

(1) 9% AA
(2) TSI

(3) STeeyg
(4) IUUEFT Tt

J SHEX S §=9 Ual kA ©,
Fead B -

(1) S=ar sS4 dId

(2) =T 39 g

(3) @ (1) X (2)

(4) =H q Fg Tl

Tk IR HIH e HI 9=
320 9Hl B IFH QST H AT

a1 | =1 8 ?
(1) 100 (2) 80
(3) 60 (4) 90

HeTeHT el 9= I=T R T 7

(1) IuRET § i 9GRS "Ik
HI oS 3@ & g

(2) Al SRS ARl &1 99T
3@ & AU

(3) HIAT H UEEA YU @
% fog

(4) ST THA HA b [@Q

qE =e H BH ofiksl &I fhaH

ged ad & °?

(1) «e=

(2) T

3) g
(4) T

Downloaded from cclchapter.in



104.

105.

106.

107.

108.

The fight for Purna Swaraj was
fought under the presidentship of :

(1) Mahatma Gandhi

(2) C. Rajagopalachari

(3) Sardar Vallabhbhai Patel
(4) Jawaharlal Nehru

How many features are required
to construct a quadrilateral ?

(1) 4
(2 5
(3) 6
4) 3

Which of following
method i1s used for purifying of

chemical

water ?

(1) Fluorination

(2) Chlorination

(3) Bromination

(4) Filtration

The policy of merger was given by
which English man ?

(1) Warren Hastings

(2) Lord Dalhousie

(3) William Bentinck

(4) Lord Wellesley

How many sepoys were dismissed

from service and sentenced to ten
years in jail on 9 May, 1857 ?

(1) 80 (2) 85
(3) 90 4) 95

NMMS-2022
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104.

105.

106.

107.

108.

A

fopeent Sfemerl H YUl WIS
SEIENSEII A

(1) HeTeAT e

(2) €. JTSENIEATET

(3) AXEX AN ged

(4) SR AE&

Rl =IgYST &l AT & Y el
e (S &) oTasas € 7
(1) 4

2 5

(3) 6

4) 3

= J 9 hg wamfee & @
SYINT Il &l 5 B & [
fopar ST 8 °

(1) FRAIA

A EESIEGER

(3) SHAIT

(4) BT

faa & g fhg IO & 39
g

(1) IR+ 2RE™

(2) o€ s=I

(3) faferaw sifden

(4) @ JAT

9 U2, 1857 &I Thaw foureal =

Tar I gEig R T X &9
e & g &1 T 7

(1) 80 (2) 85
(3) 90 4) 95
P.T.O.
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109.

110.

111.

112.

113.

Lahore Gate Improvement Scheme
was launched in :

(1) 1888 (2) 1886
(3) 1911 (4) 1936

5 26
If 2y+=—="——y,theny=:
Y 3 3 Yy Y

M1 @)

Wl w|o

6
3) 5 (4)

Who said these "Education means
all round drawing out of the best
in child and man body, mind and
spirit" ?

(1) Swami Vivekanand

(2) Rabindranath Tagore

(3) Mahatma Gandhi

(4) Plato

Who allowed the British to trade
in a limited area in Bengal ?

(1) Jahangir

(2) Aurangzeb

(3) Bahadurshah Zafar

(4) Shahjahan

The factor of 49P* — 36 are :
(1) (7P + 6)*

(2) (7P - 6)*

3) (7P —-6) (7P + 6)

(4) (6-"T7P) (7P +6)

NMMS-2022
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109.

110.

111.

112.

113.

AER T GaR AT & B TR
off :

(1) 1888 #
(3) 1911 #

(2) 1886 H

(4) 1936 H

i 2y+§:%—y, ar y o AW
B -

M1 2)

W3 w|b

6
3) 5 (4)

I fpas T CIAreTr 1 o1l a
AR A & R, |79 A AT
(1) @i fTasHs

(2) =TT TR

(3) HeTHT e

(4) e

ST H e # Odifba &= H
IR &l AT b= & 7

(1) STBRT

2) AT

(3) FBIGISME STHT

(4) smESTEl

49P* - 36 &1 YOGS BFT :
(1) (7P + 6)

(2) (7P —6)’

(3) (7P -6) (TP + 6)

(4) (6—1TP) (7P + 6)
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114.

115.

116.

117.

118.

The area of a rectangular field
whose length is twice its breath is
2450 m2. What will be its length in
meter ?

(1) 35
(2) 70
(3) 45
4) 90

Find the cube of (2 - 0.3) :
(1) 7.73

(2) 4.913

(3) 4.713

(4) 7.713

40% of 50 students of a class are
good
students are not good at Science ?

(1) 20 (2) 30
(3) 25 4) 35

at Science. How many

The example of cylindrical shape
is :

(1) Pipes

(2) Gas Cylinder
(3) Cold Drink Can
(4) All of the above

The height of a cylinder whose
radius 1s 7 cm and total surface
area is 968 cm? is :

(1) 15cm
(2) 17cm
3) 19cm
(4) 21 cm

NMMS-2022
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114.

115.

116.

117.

118.

A

Th FgYSRR T [STEe
EISIERE] 2, W AHA
2450 @ W B | TEHI TS HIeX
¥ 1 Brf °?

(1) 35

(2) 70

(3) 45

(4) 90

(2-0.3) FT 99 FT B8R 7
(1) 7.73
(2) 4.913
(3) 4.713
(4) 7.713

50 BT Pl TP kel H 40 st
B faem & o= )| fham s&
fosm § o= 7878 7
(1) 20 (2) 30
3) 25 (4) 35

ATTHIT STRfT BT IETET 2 -

(1) qrzq

2) T fEaausT
(3) wice FH A
(4) IUUFT Tl

T JopR o= &1 A g
A 968 JHIT B duT I@H
Proar 7 @@ 8, @1 I@ehl A
feper=it BT 7

(1) 15 9=t
(2) 17 I+
(3) 19 It
(4) 21341

P.T.O.
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119.

120.

121.

122.

123.

Area of a square plot is 2401 m?.
Find the side of square plot :

(1) 49 m
(2) 48 m
(3) 59 m
(4) 39 m

If (—3)™*! x (=3)° = (-3), then the
value of m is :

(1) 5

2) 7

3) 1

4) 3

If x and y directly
proportional, then which of the

following is correct ?

are

(1) x+y =constant
(2) x—y =constant
(3) xy = constant
(4) x/y = constant

The scale of map is given as 1:300.
Two cities are 4 km apart on the
map. The actual distance between
them is :

(1) 1000 km
(2) 1100 km
(3) 1200 km
(4) 1300 km

Which of the following is the
common factor of :

5xy, 3pqr and 40xyz
(1) 5 2) 0
(3) xy 4) 1

NMMS-2022
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119.

120.

121.

122,

123.

BRI e H a5hA 2401 i
g | @Ie H S T BR 7

(1) 49 =

(2) 48 =i

(3) 59 Hi

(4) 39 =

gie (-3)™" x (-3)° = (-3)7, @ m
&1 | BN :

(1) 5

2 7

3 1

4) 3

e x AR y FATGARIT &, O 35
q HE-AT Bl B 7

(1) x+y= Rk

(2) x—y= R

(3) xy = R

(4) x/y= T

Teh HERE & 99T 1 : 300 f&=r
T OB EY HERE W 4
[B2ai] w2 IR 9
arediaeh gl feha=it B8R 7

(1) 1000 fHHT

(2) 1100 fFHT

(3) 1200 fHT

(4) 1300 fHT

ffu 7@ wei § e UGS =4
BRI 7

5xy, 3pqr 3T 40xyz

(1) 5 2 0

(3) xy 4 1
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124.

125.

126.

127.

128.

865000 is equal to :
(1) 8.65x 10°
(2) 8.65x 10°
(3) 8.65x 10°
(4) 8.65x 10*

By joining (-1, —1), (0, 0) and (3, 3)

represent :

(1) atrangle

(2) acurved line

(3) a straight line passing through
origin

(4) a straight line not passing
through origin

Where did the word Calico come
from ?

(1) Calicut
(2) Kolkata
(3) Karnataka
(4) Kandla

If (504 + P) is a perfect cube
number, whose cube root is P, then
value of P will be :

(1) 6
2 4
(3 2
4) 8

Women and Men who carried
basket loads of iron—ore on their
heads were called :

(1) Wootz (2) Agaria
(3) Bandana (4) Cossaes
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124.

125.

126.

127.

128.

865000 SXTEX B :
(1) 8.65x 10°
(2) 8.65x 10°
(3) 8.65x 10°
(4) 8.65x 10*

(-1, —1), (0, 0) =X (3, 3) = o™

g gred BN -

(1) T s

(2) TH Ik 3@

(3) Uh T @ S oga &g |
oIl B

(4) Uh X Y@ Sioge f6g |9
qEl Yol &

Hicrenl 9= fpad Fepar 8 7

(1) FIAhe q

(2) IR A

(3) FHAEH A

(4) Hisam A

e B
P &1 9+

e

e (504 + P) us
g, ar

fSTqer =9 P g,
BIGECTEE

(1) 6

@) 4

(3) 2

(4) 8
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129.

130.

131.

132.

133.

The British thought surveys were
important for :

(1) Writing History

(2) Effective Judgement

(3) Effective Administration

(4) All of the above

If 3x74 is a number divisible by 9,
then the least value of x is :

1)1 (2) 2

3) 3 4) 4

Which of the following factors
affect the location of industries ?
(1) Availability of raw material

(2) Proximity to market

(3) Availability of water

(4) All of the above

Who presides over the Lok Sabha ?
(1) Prime Minister

(2) Speaker

(3) President

(4) Vice President

Where 1is the
located in India ?

supreme court

(1) Chandigarh
(2) Kolkata

(3) Mumbai
(4) Delhi
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129

130.

131.

132.

133.

AT wr fgsara e &k gdefor
& Bl 8

(1) sfdeE faem & g

(2) o=l T HEd o & g
(3) ST TXE A MEA FHA &b [
(4) IYAFT G4l

gfe ge=ar 8x74, 99 WY &, ol x

BT FATH HH BN ¢
1) 1 2) 2
3) 3 4) 4

M= d 9 SF-91 R ISR
% AARATT I TATaT HIT B 7

(1) FH=a AT Bl g

(2) SIS &1 fehedr

(3) ST I ITT==AI

(4) IIeRT T

AHTAT Pl STHETAT DI BT & 7
(1) T

(2) &R

(3) Trezafd

(4) IYTSEYfT

gRd H galed Ead Fel e
27

(1) =Ere H
(2) ik H

(3) g=g |
(4) e H
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134.

135.

136.

137.

Which of the following right aims
at making India a Secular State ?
(1) Right to Freedom of Religion
(2) Right to Equality

(3) Right to Education

(4) Right to Freedom

Which of these countries is the
leading producer of coffee ?

(1) Brazil
(2) Indonesia
(3) China
(4) India

Which one of the following
statements is not correct regarding

the population pyramid ?

(1) Population pyramid is also

called age sex pyramid.

(2) Population pyramid gives us
an idea of the income level and
health conditions of people of

different age groups.

In countries with low birth
rates, the of the
population pyramid is narrow.

The of the
population pyramid indicates
high birth-rate.

3)

base

wide base

(4)

Who does file the FIR ?

(1) Police men

(2) Lawyer

(3) Judge

(4) Public Prosecutor

NMMS-2022

(37)

134.

135.

136.

137.

A

fFr=fafag § 9 f-ar SR
I I gHUe] 91T 8 °

(1) i Ta=dar &1 AR
(2) FHEAT BT ATHRT

(3) fererr =B1 AT

(4) TWA=CAT B IATYBR

g8 9 hE-Ar A BB H
3T IEE 8 7

(1) seie

(2) gSMRE

(3) =

(4) 9T

SHaEr fUuis & d@d9y § =
¥ F HE-91 HAT 9el 787 8 7

(1) SHaer adE &6
fafe off w=a 2

(2) STEET [QuiHe | 84 A=
AY & H ANl H AT B
WY g W AT &l Oy
T 2

(8 A STH ITX di e« H
SO UUEE R STER
GhYT BIT B |

(4) JEE  fgufEe & =Ser
MY 3= S9-a7 HI a0l
2

T, oM. MR. (FIR) &9 &St
FIAT & 7

(1) g

(2) FHIA

(3) =TTATERST

(4) TR Fhid

g e

P.T.O.
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138.

139.

140.

141.

Which statement is true regarding

sparsely populated areas ?

(1) The regions where there is

cold, sparse

population is found.

Hilly areas

inhabited.

Equatorial regions

heavy rainfall, so there is less

population.

(4) All the above statements are
true.

extreme

2) are sparsely

receive

3)

Which is the highest law-making
body in our country ?

(1) High Court

(2) Supreme Court
(3) Parliament

(4) Sarpanch

the

Violence Act passed in India ?

In which year Domestic

(1) 2004
(2) 2005
(3) 2006
(4) 2007

Article 21 of the
Constitution guarantees :

(1) Right to Speech

(2) Right to Life

(3) Right to Freedom

(4) Right to Information

Indian
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138.

139.

140.

141.

R @9 gu &= &% dHdg H

HT-9T FH GF & °

(1) ™9 gesi # oTfeeh 3 Il
g2, g8t foa SHuenr R
ST 2

(2) YT & foRel 979 8T 2 |

(3) YHERE™ Uei H  AiYs
qui ekt B, gafg g8t
SHEET B 2 |

(4) IIUEFT G HIFT THT 2

AR 29 H Hared HMA a9
CISTIRCES AR Bc] - Se

(1) =g =TI

(2) Hal=a AT

(3) d@9=

(4) Id=

aRd H fRE ad ;| B @
qre eI =@ 7

(1) 2004

(2) 2005

(3) 2006

(4) 2007

AR Giaeas %1 ofg=ss 21
TS AT © -

(1) HATIOT BT IATEHT

(2) ST @1 ATTBR

(3) TA=IAT &I AR

(4) FIAT HT ATTB
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142. Match List—1 with List-2 :
List-1 List-2
State Location of
Atomic Power
Station
(a) Maharashtra |(I) Kalpakkam
(b) Uttar Pradesh |(II) Kaiga
(¢) Karnataka (IIT) Narora
(d) Tamil Nadu (IV) Tarapur
(1) a-1v, b-III, ¢-II, d-I
(2) a-1, b-I11, c-II, d-IV
(3) a-I, b-1I, c-11I, d-IV
(4) a-1v, b-111, ¢-I, d-II
143. Where are the aims of the
constitution mentioned ?
(1) The Preamble
(2) Fundamental Rights
(3) Directive Principle
(4) Fundamental Duties
144. Which of the following is called
golden fiber ?
(1) Jute
(2) Cotton
(3) Silk
(4) Wheat
145. Where did the biggest gas tragedy
in the world ?
(1) Chennai
(2) Jaipur
(3) Bhopal
(4) Gujarat
NMMS-2022
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142.

143.

144.

145.

A

-1 Hm g2 9 gHled
FHifoTT -

gEi-1 A2
T QRHATI] FHSTl
& B T
(a) HWEISE () HTIERRH
(b) IAT UL |1 B
() HACH (11D T
(d) dHEArg | AV) I

(1) a-1v, b-I11, ¢-11, d-I
(2) a-I, b-111, c¢-1I, d-1IV
(3) a-I, b-11, c-111, d-IV
(4) a-1v, b-111, c-I, d-II

dfaae & Il H o Hel
fpar T 2 ?

(1) g&aE=T §

(2) Aifes SAfprRl &

(3) wifa-fdeer Rasial &

(4) Aifees Hereat o

M= § @ %9 gaeu W we
SIS

(1) gead
(2) HUTq
(3) =™

(4) T

fasg &1 99 921 Y9 A9 Haf
g ?
(1) =72

(2) STIgY
(3) 9T

(4) ToTd
P.T.O.
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146.

147.

148.

149.

Which 1s an organization that
arranges toilet facility in the cities
and towns ?

(1) Sulabh
(2) Bharat Vikas Parishad

(3) Muhalla Sudhar Samiti
(4) Private Company

Which of the following is not a
method of land
conservation ?

suitable

(1) Checks on overgrazing
(2) Deforestation

(3) Regulated wuse of chemical

pesticides

(4) Land reclamation

Which of these minerals is a non-
ferrous metallic mineral ?

(1) Iron Ore

(2) Manganese

(3) Chromite

(4) Copper

Which of the following industries
are and operated by
producers or suppliers of raw
materials ?

owned

(1) Private Sector Industry
(2) Public Sector Industry
(3) Cooperative Industry

(4) Joint Sector Industry
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146.

147.

148.

149.

FE-A dEr e AR el A
QIr=reTd giaer Iueie Hqal 8 7

(1) gw

(2) ARG fehra qRug

(3) Hiewl ga diHid

(4) ST BT

=T & 9 BA-a1 g dRETOT @
T IUYHT TUH TET & 7

(1) STf=mReT 9¢ Uk

(2) AT
(3) T BAESINEI
fafrafaa SgaET

(4) 9 TR

H O H-9T giee oTas
efeaeh @iveT & °

(1) AE IS

(2) FEIST

(3) HHAERT

(4) qren

M= d 9 e S A1 @i

g G Fed "0 b SdEs Al
giciepl garT e Siar © °

FT

(1) Fofr & & sgan
(2) AESTE &5 & ISART
(3) TEH I

(4) T B9 B ST
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150.

151.

152.

153.

154.

Which
number
Sabha ?

(1) Haryana

(2) Uttar Pradesh
(3) Punjab

(4) Bihar

maximum

in Lok

state  has
of members

Name the sphere that supports life
and where living organisms exist :

(1) Atmosphere
(2) Lithosphere
(3) Biosphere
(4) None of these

Burning coal in a closed room will
produce :

(1) NO2 (Nitrogen Dioxide)
(2) CO2 (Carbon Dioxide)
(3) CO (Carbon Monoxide)
(4) Oz (Oxygen)

The synthetic fiber that appears to
resemble wool 1s :

(1) PET
(2) Acrylon
(3) Rayon
(4) Nylon

Acid Rain mainly constitutes :

(1) Sodium Chloride

(2) Sulphur dioxide and Nitrogen
dioxide

(3) Hydrochloric Acid

(4) Carbon Tetrachloride
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150.

151.

152.

153.

154.

A

ARaT § 999 Al gew [ha
T g E Y

(1) srREm™n
(2) AT U=
(3) g

(4) B

9 &F H AW FAST S SiEd
T THAT HIAr 2 SN ST&r Siifad

(1) argHed
(2) TIHSA
(3) SilgHsA
(4 =H | Fg Tl

g% FR T FIA B AT I
FIAT B

(1) NO: (FTEgs SEHAFES)
(2) CO: (FET SEATFART)

(3) CO (FEA AMAATFARES)

(4) O (SATFdSH)

P b ey REA g Eiivd
XA T AN B

1) U<

(2) Uk
(3) XA
(4) ATSA

A aui & Y& =9 ¢
(1) |feaq FaRES

(2) I SEHATFES
S IEFSERSIESIESIES

(3) EEEEAING T

(4) FHET TEANES

AT

P.T.O.
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155.

156.

157.

158.

159.

The microorganism which contains
chlorophyll are :

(1) Virus

(2) Fungus

(3) Algae

(4) All of the above

In humans, the development of
fertilized egg takes place in the :

(1) Ovary
(2) Oviduct
(3) Testis
(4) Uterus

Iron is galvanized by coating it
with :

(1) Chromium

(2) Sodium

(3) Magnesium

(4) Zinc

Chromosomes are found in :
(1) Nucleus

(2) Nucleolus

(3) Nucleoplast

(4) Vacuole

When a sperm having X-
chromosome fuses with the ovum,
the child born will be :

(1) Male
(2) Female
(3) Male as well as female twin

(4) It depends on the chance of
fusion
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155.

156.

157.

158.

159.

g‘s’ gersilg STEH  aithe  Bldn
(1) a=E

(2) HIH

(3) Q&

(4) IURTFT Al

gl |, o S @ g
2T B

(1) s H

(2) FETarter |

(3) gueT H

(4) T H

e 1 AcaIboT  Fasl  uxd
Tl HY Har Sar 2 ?

(1) I

(2) |ifeaH

(3) HIifarm

(4) 5

TR T E
(1) =iy o
2) Ifrraed o

(3) AT |
(4) Rfergepr &

S X- a R BE W
arer o S, o Uer 8 aren
F=T BAT -

(1) X
(2) e
(3) Y 3R AT et

(4) I8 Hag9 H GHEEAT 9X
e wear B
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160. A plastic which can not be
remouled again by heating is :
(1) Polyethene
(2) pPVC
(3) Polystyrene
(4) Bakelite
161. The process of removing salt from
sea water is called :
(1) Calcination
(2) Desalination
(3) Evaporation
(4) Condensation
162. The bumper and door handles of
motorcars are coated  with
chromium because :
(1) It does not easily get corroded
(2) It does not easily get scratched
(3) It tarnishes quickly
(4) It is cheap
Which one option is not a correct
cause ?
163. After the sun, the next nearest
star to Earth is :
(1) Alpha Centauri
(2) Polestar
(3) Sirius
(4) Proxima Centauri
164. Friction can not be reduced by :
(1) Making the surface smooth
(2) Making the surface rough
(3) Lubricating the surface
(4) Using ball bearing
NMMS-2022
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160.

161.

162.

163.

164.

A

U%h Wiedh o BT IHT A9
&7 fpan ST Aehar a8 ®

(1) dfeien=

(2) di.4r..

(3) dieEe=aA

(4) SeIEe

THET ST F 99T &l G HIA B
gfhaT el 8 ¢

(1) e

(2) AAAONHIOT

(3) aTSdIRToT

(4) G+

Aew@dR $ §9¢ X @™ &
Ted g¥ HEIH & 9 TS Bl
2 it -

(1) I8 STEarFT d @d Fel Bl &
Q) F& SAEFT & @R e S ®
(3) TE STl gie B Sl ©

(4) g8 & ®

SUIRT H 9 Bhe-ar Ok @@l
TETT ?

g % de gl H ST
fHeheay arT ' -

(1) 3ATHT T

(2) ga ara

(3) Ti=a

(4) difersT 9=

gYYT T HH 7T [BAT S Fehall :
(1) §ag i =HAT TR

(2) |TE I GREX T

(3) AdEl 9T TEH TMHT

(4) T SAMET BN ITANRT BLeh

P.T.O.
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165.

166.

167.

168.

169.

Refrigerating gases which harms
ozone layer :

(1) MFC
(2) CFC
(3) LPG
(4) DFC

The most Reactive metal is :
(1) Copper

(2) Silver

(3) Calcium

(4) Sodium

A bomb explodes on the moon.
How long will it take for the sound
to reach the Earth ?

(1) 10 Second

(2) 1000 Second

(3) 1day

(4) Sound will not be heard

A book of mass 20 g is placed on a
table. Find the thrust exerted by

the book on the table. (Take
acceleration due to gravity as
10 ms™)

(1) 0.2N
(3) 200 N

@) 2N
(4) 20N

Which of the following is a natural
fiber ?

(1) Wool
(2) Nylon
(3) PVC
(4) Polythene
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165.

166.

167.

168.

169.

gifad g S S 9Rd N
B Jganil 8 :

(1) MFC

(2) CFC

3) LPG

(4) DFC

qaifas FRarsiia a1 g © -

(1) HUT

2) =i

(3) Hfesmw

(4) SifeaH

g9 9T 99 Hedl 21 @ Hl
gl q% Ugew d fRar wHd
& ?

(1) 10 9%

(2) 1000 TFS

3 11

(4) = gg et &l

20 UM ZHHEM & Teh &b i
T A9l 9 I@T 1 21 A9 WX
LS EI-URUIEG R I |
HITT | (&A™ @R 10 ms? &
g H )
(1) 0.2N
(3) 200N

frfafaa & @ @9 us uglas
HEEX & 7

(1) =T

(2) A=

(3) diarEt

(4) dteliel=

@) 2N
(4) 20N
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170.

171.

172.

173.

174.

175.

Which of following gas is used to
control fire ?

(1) NHs (Ammonia)

(2) H2 (Hydrogen)

(3) CO2 (Carbon Dioxide)
(4) F2 (Fluorine)

Which
AIDS ?

(1) A protozoa
(2) A bacteria
(3) A virus

(4) An algae

microorganism  causes

The soil formed by decayed organic
matter is called :

(1) Pesticide
(3) Humus

(2) Fertilizer
(4) Biocide

The clearing of forests is referred
to as:

(1) Reforestation
(2) Desertification
(3) Deforestation
(4) Sanitation

Tissues combine to form :
(1) Nucleus (2) Cells
(3) Organism (4) Organs

Two plane mirrors are kept at the
following angles one by one. In
which case i1s the no. of images
formed maximum ?

(1) 60° (2) 30°
(3) 45° (4) 90°
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170.

171.

172.

173.

174.

175.

A

= 3 9 F9 A9 &1 SuEm
NT &I FEET w9 & e &
ST ® 7

(1) NHs (et

(2) Hy (e=ge™)

(3) CO: (FET SEATFART)

(4) Fo (FA0H)

HA-AT GEESia TSd H HROT
RGN

(1) TH YremsieT

(2) TH SFIRAT

(3) TH AEH

(4) Tp AarA

S 8O HEives gerel " S e
arelt el ®I Her ST @

(1) FHeATHm  (2) IEEh

3) gud (4) qEES

gl I THES B HET AT 8 -

(1) aIeRTeT
(2) HEEIAHIOT
(3) a#i & HeB
(4) Er=sdar

SdH HesT 99 ®
EIRED (2) BT
(3) S (4) 3T

A 9Had Ul Bl TH-THh Hih
fFrafaRad o oX 3@ S @)
fpa Rafg & s g ufafest
F G AHaT Bl B 7

(1) 60° (2) 30°

(3) 45° (4) 90°

P.T.O.
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176. Arrange the following planets in 176. =faRaa =F &0 ‘\Iﬁl{ % =i
increasing order of time required to HAR Teh =TFHT g FH & g
complete one revolvation around METH THT H ded HH H
the Sun : ZAfad He
(1) Earth (i1) Uranus (i) g (11) @T-RC[

(ii1) Mars (iv) Jupiter (i11) HITA (iv) ge&qic
(1) 1,11, 1ii, iv (1) 1,11, 111, iv
(2) 1,111, iv, i1 (2) 1,1ii, 1v, 11
(8) 1v, 1iii, 11, 1 (3) 1iv, 1ii, 11, 1
(4) 11,111, 1, iv (4) 11, 111, 1, 1v

177. A whistle produces sound because : 177. A< & Ul Il & Fih ¢
(1) It stores air (1) I8 &1 Hh G99 Hl 8
(2) Air vibrate (2) =T PIT HT &

(3) Person produces vibration (3) =afrd I YaT T B
(4) All of the above (4) IUUFRT Tl

178. The amount of Heat Energy 178. R 1 Fremma 9 @t T’i CER]
produced on complete combustion FHA T IA BiA Il S
of 1 kg of a fuel is called : ol I HET AT © -

(1) Calorific Value (1) e A
(2) Significant Value (2) | 74
(3) Latent Heat (3) T« SHoAT
(4) Internal Energy (4) STARE Hotl
179. What is rust ? 179. ST T B ?
(1) Copper oxide (1) U TS
(2) Zinc oxide (2) TSI ITieraEs
(3) Sodium oxide (3) AifsTw SffeFArEsS
(4) Iron oxide (4) SIEA SATFAES

180. The chemical substance rich in 180. WY& Tl o AL RGIRIEES
nutrients are called : qaref e @
(1) Fertilizer (1) IEH
(2) Weedicide (2) @I
(3) Pesticides (3) H/IeAIEH
(4) Herbicides (4) SRRl

NMMS-2022
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6.

10.

11.

12.

13.

14.

15.

16.
17.

18.

usHl % IOX, IIX =k H it @ it
wwﬁ?ﬁgﬂhmaﬂwm%,
= g T R o

O e B o

AW B I ™ SOX G "HEr S, 9
IO A @ B A U 9 9 ©

© ® © @

gie U 9 el @l B WY 2d & Al AR
SAX IIT HIET ST |

B I
Sar 6

. X% HA U gRIE H 3E YA & fag & T

el SFTE 9Y &1 &1 |

.G IO Fad SAC UFH (OMR) WX & 3ffeed

FH | AIT I YD AR HL | IAX T
2g 29d % (F%e FIS) H gAnT Mt B

. g% 999 % fo @Ru w = foeeedl H @ S

fgpea & T AT 99% (OMR) X &ad TF &l
gd H YU e H Oid @R 99 F 9 0H
IR I Sfkd X B G IH ST A8 S
T 2 |

srwpefl gfema Y b 3@ IO u=eh O Hiel |
ST Qawwﬁémﬁrsmqwm
ARl O SgHHI® IO Uk MEiRd
W & Afaiead o= 9 [Rid |

gse QRIS Ud IO 9 B eAYaS TANT HY,
iR e o aRRaf § (Faw geT gRawr o
IAX WE B HHIG A fWear Hl R @l
BIghI) ga¢ g7 Grawr 8 3=y &l #arn
ST 1

gs gROH/SOY 9Eeh H [T T A
el Wl ade ¥ et 9= 7 o |

el St uwdem E/HH H WA HE B
AT fopdl U sl 1gd @i, gigda =
sEfIRgd RSl I i, ﬁa’{ e B,

s’%@;ﬁmwmﬁ%ﬁmwﬁﬂmﬁr
H A S AT I FIA H AGART S 2 |

ISRUSET-ARY M U U STell ofuAr
T (T o) famamd |

o= Adierh a1 e ® [@AT g @ faer
FIE Tt STIAT W T BIE |

SAFS(~1eh /EETATAT Uiehaleh I SUANT afoid 2 |

fopel Bla H ued gRAeHl AR SAX U5 H Fis
ART ST T |

e " BN R, Sl qdiem et /et
8lgd 9 Yd SR YN HE-UIAEh bl AT
Fﬁtr%ganzreﬁamﬁwaqﬁg%waﬁém
qhd T |

6.

10.

11.

12,

13.

14.

15.

16.
17.

18.

Answers to questions in answer sheet are to be
given by darkening complete circle using black ball
point pen as shown below :

O e O o

The answer will be treated wrong, if it is marked, as given

below :
v ® © @

If you fill more than one circle it will be treated as a
Wrong answer.

. Rough work should be done only in the space provided

in the Test Booklet for the same.

. The answers are to be recorded on the OMR Answer

Sheet only. Mark your responses carefully. No whitener
(white fluid) is allowed for changing answers.

. Out of the four alternatives for each question, only one

circle for the most appropriate answer is to be darkened
completely with Black Ball Point Pen on the OMR
Answer Sheet. The answer once marked is not allowed
to be changed.

The candidate should ensure that the Answer Sheet is
not folded. Do not make any stray mark on Answer
Sheet. Do not write your Roll No. anywhere else except
in the specified space in the Answer Sheet.

Handle the Test Booklet and Answer Sheet with care, as
under no circumstances (except for discrepancy in Test
Booklet and Answer Sheet Serial No.), another set of
Test Booklet will not be provided.

The candidate will write the correct Number as given in
the Test Booklet/Answer Sheet in the Attendance Sheet.

Candidate is not allowed to carry any textual material,
printed or written, bits of papers, pager, mobile phone,
electronic device or any other material except the Admit
Card inside the examination hall/room.

Each candidate must show on demand his/her Admit
Card (Roll No.) to the Invigilator.

No candidate, without special permission of the
Superintendent or Invigilator, should leave his/her seat.

Use of Electronic/Manual Calculator is prohibited.

No part of the Test Booklet and Answer Sheet shall be
detached under any circumstances.

On completion of the test, candidate must hand over the
Answer Sheet to the Invigilator in the Room/Hall. The
candidate is allowed to take away this Test Booklet with
them.
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SET:B

gehoie I U
3TouHo3TRo HHH
CRETIET <8:|3|%| ﬁ) : Booklet Serial No. &
Roll No. (In Figures) O. M. R. Serial No.
AT (r=al H)
Roll No. (In Words)
qOeT &HF Bl A -
Name of Examination Centre
Tegelt T A et B TEER -

Name of Candidate Signature of the Candidate

59 T97-giaesr 4 geal @l a&qr 48 g7l F TdEr 180 aTT

No. of Pages in this Question Booklet No. of Questions Time

3 hours

et P SEATEIT /Signature of the Invigilator :

oreeeff @) 10 e &1 G597 g gRasr gT 89 RN # ge7, g9 gEae 7 Ry ¢ gef & diRaa 797 9% #77 a9 SRT 977 P e
Rar a1 af gev-97 gwae F go F diRGT T T 89 & @ g = ordfers @ [Fa5T FWH G9F 9 JHAT Jad & | GO G
&I % geErg FE FTar @hHR TE AT T §7 10 Fret # sifaR#d, gel # Iuv @7 7 sifkd a7 % R Q3 392 # gw Rar s

STRIFRNET % forg Fder
1. IR =% (OMR) 39 999 YRR & 3= &l

INSTRUCTIONS FOR THE CANDIDATES :

1. The OMR Answer Sheet is inside this Test Booklet.

2| S SRl U9 YRAeRT Fie @ el S, o
IAX U R Y A A had Fwi i @R
U9 9 faEyer «% |

. 9eT W rEi 3§28 & ud usd g F 180 UsT
2| Uk UT TH b B B FIF FURHE BT
T&T &1

.30 U T {qEROT Sifehd Hid Ud IO U WX
M9 & % [T A il S @ige U9
TR &Y | T UeA-gRGHT H ITART FHA oA
TAY U Bl WX H AEYEl aXd | §@d JeF
gieer @< garT T8 1 S

. T8 o gRfea & & & gs9 gRaew wHiw oA
ST 95E HHG UH B &1 TR FE F= B a@r
Al gAY gA-gRAHE AR I I=E A &
for et @1 g ST AT |

. g8 gdem @ 9 7 8 -
ART-1 : NieH AT geor
AFT-I1 : e qrgar qh&er (9. 91 F ¥, 180)

(.17 9. 90)

When you are directed to open the Test Booklet, take out
the Answer Sheet and fill the particulars carefully with

black ball point pen only.

. The test is of three hours duration and consists of

180 questions. Each question carries one mark. There is no
negative marking.

. Use Black Ball Point Pen only for writing particulars on

this page/marking responses in the Answer Sheet. The
candidate should remain careful in handling the question
paper and in marking the answers on the answer sheet.

Another booklet set will not be given.

. Also ensure that your Test Booklet Serial No. and

Answer Sheet Serial No. are the same. In case of
discrepancy, the candidate should immediately report the
matter to the Invigilator for replacement of both the Test
Booklet and the Answer Sheet.

. This Test has two Parts :

Part-1 : Mental Ability Test (MAT) (Q.1t0 Q. 90)

Part-II : Scholastic Aptitude Test (SAT) (Q. 91 to Q. 180)

W.-ggﬁw%wﬁﬁv%sﬁﬁé‘sﬁ#
21

Note : Read other remaining instructions given on the

last page of this Booklet.
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(3) B

PART - I (|- 1)
MENTAL ABILITY TEST

s AIar geroT

Questions : 1 to 90

Direction : (Question Nos. 1 and 2)

In the following number series find the
number which is wrong according to the
series.

1. 7,17, 11, 15, 15, 13, 19, 9, 23
(1) 9
@) 11
(3) 23
4 15

2. 8, 4,86, 15,52
(1) 4
(2) 52
(3) 15
4) 8

Direction : (Question Nos. 3 and 4)

The three different position of a dice are
given below. Select the suitable answer
of the following question.

+ @ X

3. What is the symbol on the opposite
surface of ¥ ?

1) $ @) +
3) @ (4) x
NMMS-2022

Time : 12 Hours

fEsr ¢ (U9 HE 1 uE 2)
= & T ' gEder #ogg g9en
ST L S A F ATAR T ¢ |

1. 7,17, 11,15, 15, 13, 19, 9, 23
(1) 9
@) 11
(3) 23
) 15

2. 8, 4,6, 15,52
(1) 4
2) 52
(3) 15
(4) 8

feer : (Je dEm 3 uF 4)

T qrel & i STaT-oTa Refa =
S M 2 FeAfRad 9| i & SugEd
ST BN TIAT B

+ @ X
< | @ # |5

3. T & fauda gds W H9-a1 ==
g7

1 3
3) @

@) +

(4) x
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4. What is the symbol on the opposite
surface of § ?

1) 2
@) x
(3 +
(4) #

Direction : (Question Nos. 5 to 7)

In the following questions there are
statements followed by conclusions.
Choose the conclusion(s) which must
logically follow from the given
statements.

(1) If only conclusion I follows.
(2) If only conclusion II follows.

(3) If neither conclusion I and II follows.
(4) If both conclusion I and II follows.

5. Statements :
All Apples are Mangoes.
Some Mangoes are Guava.
Conclusions :
I Some Guava are Apples.

II Some Guava are Mangoes.

6. Statements :
Some buses are vans.
Some vans are motorcycles.
Conclusions :
I Some vans are buses.

II Some motorcycles are vans.

NMMS-2022

4. $ # fa9dg gds W HE-91 e
g7

1) 2
@) x
(3 +
(4) #

fdsr ¢ (I dEr 5 | )
Fr=fiRad gs=l ®, ®U9 & aE F=hy
2| =pY &1 =TI HY S fRu U et
q dlicheh &9 & HAFAXOT HL |

(1) afE Haa Fr=pd 1 STFAYeT HIar 2 |
(2) At daw F=pd 11 STFEOT & B |
@) g 7 ar F=py I R 7 & 11

AT FHIT © |
(4) g* F=pd 1 oiX I S SAFEROT
X E |
5. ®HYT :
g4l q9 o1 2 |
BB AW FHEE € |
e -
I HB oHEe 49 2|
II B THES TH T |

6. YT :
FHE T4 99 2 |
BB I HIETHEG 2 |
rspe :
I B a9 ad 21
II %5 AedEthd a9 8 |
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7. Statements :
Some dogs are cats.
No cats are rats.
Conclusions :
I Some cats are dogs.
IT Some rats are dogs.

Direction : (Question Nos. 8 to 10)
The answers to the following questions
are based on the diagram given below.
Where the circle represents students
studying Mathematics, the triangle
represents students studying Science
and the square represents students
studying Geography.

8. Number of students who study
Mathematics and Science but not
Geography :

1 7
(2) 5
3) 4
4) 6

9. Number of students who study
Mathematics,
Geography :
(1) 5
2) 6
) 7
4) 4

Science and

NMMS-2022

(5)

7. YA :
FB Fl fafeedr 2
®g et Fer 7 B
e -
I 35 fafcEr & 2|
11 @ﬂ%aﬁ%l
fdsr @ (I dE 8 | 10)

FrfaiRad usHi & IaX A ke @
ARG U ofemiRa ¥, St gu Wi
T At B, HYs faem ued A

P.T.O.
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10. Number of students who study
only Mathematics :

1) 3
2) 4
3) 6
4) 7
Direction : (Question Nos. 11 and 12)
In a certain code language
(a) ‘rim tim bo’ means ‘Sun is Hot'.
(b) ‘sim jar tim’ means ‘Moon is Cool’
(c) 9jar bo lim’ means ‘Sun and Moon’.

11. In that language which word is
written for ‘and’ ?

(1) tim
@) lim
(3) sim
(4) Jjar

12. In that language which word
written for ‘cool’ ?

(1) lim
(2) jar
(3) tim

(4) sim

NMMS-2022

10. 39 BET &H &A1, S A ITAoTd
TS B -

(1) 3

2) 4

3) 6

4) 7
feer - (989 EEr 11 e 12)
Ueh Mig=d e A o
(a) ‘rim tim bo’ &1 31 ‘Sun is Hot’ &
(b) ‘sim jar tim’ T 377 ‘Moon is Cool’ B
() arbolim’ & 37 ‘Sun and Moon’ &

11. 39 9T § ST =% ‘and’ & foQ
ferar =7 2

1) tim
@) lim
(3) sim
(4) jar

12. 39 99T H ST T=F ‘cool’ & fo@
forar T4 ®

(1) lim
(2) jar
(3) tim

(4) sim
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13. If the word ‘EIGH’ can be written
as ‘EMOT’, then how can the word
‘AEKL’ be written in that code ?

(1) AELM
(2) AESX
(3) AISX
(4) AIXS
Direction : (Question Nos. 14 and 15)

Which of the four answer figures can be
formed from the pieces (X) given below ?

14. A L] =/
(X>
(1) 2)
3) (4)
15. =\
0

(X}

o0 2 o
®» @ o®

16. If the word ‘MUMBAI' can be
written as ‘NWPFFQO’, then how
can the word ‘DELHI’ be written
in that code ?

(1) EFMIL (2) EGOLN
(3) CDKGH  (4) EGOMN
NMMS-2022

(7)

13. I ‘EIGH == = ‘EMOT ferar
ST 2, af ‘AEKL &1 391 shis §
{9 g foar S 9ehar 8 °?

(1) AELM

(2) AESX

(3) AISX

(4) AIXS
Frder : (997 @eAT 14 T 15)
IR IAX q 9 HA-d ST
®l A RU U RSl (X) & I S
qepal & 7

A

(X)

ey) 2)

) 4)
15. =\

0

v =2 o
e | @

16. I MUMBAT st== &I ‘NWPFFO’
forer Sar 8, @ DELHT <l s&i
He H fFa s forar S gehar
g7

(1) EFMIL (2) EGOLN
(3) CDKGH  (4) EGOMN

P.T. O.
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B

Direction : (Question Nos. 17 to 19)

There are given six logical Diagrams (a,
b, ¢, d, e and f). Select one which best
illustrates the relationship among three
classes in each of the following question.

© & @
@ @ @

17. Husband, Wife, Family :
(1) b @) f
3) a (4) e

18. Authors, Women, Techers :
1) b @) c
3) d (4) e

19. Mothers, Women, Children :
1 f @) a
3) b 4) c

20. If the word “DOCTOR” can be
written as FRGVRYV, then how can
the word “HEALTH” be written in
that code ?
(1) IFBMUI (2) JHEMWM
(3) IFBNUI (4) JHENWL

21. If the word ‘DOG’ can be written
as 13, then how can the word
‘MAT’ be written in that code ?
(1) 17 (2) 34
3) 24 (4) 26

NMMS-2022

(8)

fEer (987 Fem 17 9 19)

B: g G =& (a, b, ¢, d, e 3T )
fauw @ B f=fafea § 9 9@ 9=
7 a9 a1t & g 9y g9 g
IS T |

© & @
@ @ @

17. 9id, 9l 9idr -
(1) b @) f
3) a (4) e

18. @, Afewy, e :
(1) b 2) c
3) d 4) e

19. H@Q, Azag, s=
1) f (2) a
3) b 4) c

e “DOCTOR” sr== &I FRGVRV
forar Star 8, a1 “HEALTH”
=@l @I § fpg e forEr o

20.

har & 7
(1) IFBMUI  (2) JHEMWM
(3) IFBNUI (4) JHENWL

g ‘DOG’ =5 1 13 for@r Srar
g, @1 ‘MAT = @1 s # 5
UehIX forar ST Tehat B 7

1) 17 (2) 34
(3) 24 (4) 26

21.
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22

23.

24.

. Rahul is 15th from the left in a

row of 38 boys. What will be his
position from the right ?

(1) 23rd (2) 22nd
(3) 24th (4) 25th
If the word ‘MOUSE’ can be

written as “ONWRG”, then how
can the word LIGHT’ be written
in that code ?

(1) MGHFU (2) JGEFR

(3) JJEIR (4) NHIGV

How many times does Zero appear
in the numbers from 1 to 1000 ?

(1) 102 (2) 122

(3) 192 (4) 112

Direction : (Question Nos. 25 to 29)

Read the following

information and

answer the questions given below.

1.

2.
3.
4

25.

26.

P$Q means P is mother of Q.
P@Q means P is father of Q.
P#Q means P is husband of Q.
P&Q means P is daughter of Q.

How is A related to C according to
A@B#C ?

(1) Father

(2) Grand Father

(3) Father-in-law

(4) Son-in-law

How is C related to A according to
A$B&C ?
(1) Wife
(3) Mother

(2) Daughter
(4) Husband

NMMS-2022

(9)

22

23.

B

. 38 gl Bl Gl H WA 9F 9

158 T 94X B ITH IR MR
o T T AT 7

(1) 234t (2) 224t

(3) 24at (4) 25aT

gl ‘MOUSE’ == sl “ONWRG”
forar star 2, o ‘LIGHT =t s4r
His H p9 Uk r@ar 1 dwhdn
g7

(1) MGHFU  (2) JGEFR
(3) JJEIR (4) NHIGV
24. 1 ¥ 1000 9 & Gl H 0
fopa=t 9 STar 2 7
(1) 102 (2) 122
(3) 192 4) 112
fasr ¢ (v d@eEm 25 | 29)

fefeiRad S99 el A '
gAl & 39X & |

1.

2.
3.
4

25.

26.

P$Q T 1ef B P, Q a1 AT £
P@Q @ 18 8 P,Q & fuar 21
P#Q T 372f 8 P,Q & 9ig 2|
P&Q & 37ef B P, Q & T 2 |

A@B#C & AR A &1 C |
qeeg g ?
(1) foer
(2) =r1=T

(3) g
(4) ™=

A$B&C & T7aR C &1 A & 40
el & 7

(1) 9 2) At

(3) = (4) iy

P.T.O.
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27. How is A related to C according to
A#B$C ?

(1) Husband
(2) Father
(3) Son

(4) Wife

28. How is C related to A according to

A&B#C?

(1) Mother
(2) Daughter
(3) Wife

(4) Husband

29. How is A related to C according to

A@B$C ?

(1) Grand Father

(2) Husband

(3) Maternal Grand Father
(4) Father

Direction : (Question Nos. 30 to 34)
Read the following information and
answer the questions given below.

All six members of a family P, Q, R, S, T
and U are traveling together. S 1is
daughter of P. U is brother of Q. Q 1s
daughter of R. But R 1is not the mother of
Q. P and R are a married couple.

30. Who is U’s mother ?
(1) S 2 P
3 R 4) T
NMMS-2022

(10)

27. A#B$C &% 1A A & C q &1
T B 7

(1) 9T
(2) faar
(3) et
(4) ol

28. A&B#C & AR C & A | &0

T B 7
(1) =
(2) =&
(3) Tl
(4) 9idq

29. A@B$C &% TTER A &1 C & =1

g B 7
(1) arar
(2) afa
(3) =T
(4) Toar

fasr : (w7 d@eEm 30 | 34)
frfafad STl 9@ 3k A f'g
MM YAl B IAL & |

UF gaR & 99 8: 9599 P, Q, R, S,
T X U T 91 I T @ 218,
AT BRI U, Q H 9 Bl QR
I B ARRT R, Q F SR
3T R us faarfed swer 21

30. U & Hf shig & 7
1) S 2 P
3) R 4 T

-

P
2 Fl
ot P
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31. How is T related to S ?
(1) Uncle

(2) Father

(3) Maternal Uncle

(4) Brother

32. How many children does P have ?
11 (2) 2
(3 4 4) 3
33. How many male members are
there in the family ?
11 (2) 4
(3 2 4) 3
34. How is Srelated to U ?
(1) Sister
(2) Mother

(3) Sister-in-law
(4) Daughter

Directions : (Question Nos. 35 to 38)

In each of the following figures number
are written according to some patterns.
One number missing. Find the
missing number that replace the
question mark (?).

12 15 13 18 7 ?
35. Y Y Y
20 26 7

(1) 21
@) 13
3) 9
4) 19

NMMS-2022

1s

(11)

31. T S & &1 G 8 7
(1) =r=in
(2) foar
(3) HM™ET
(4) wrg
32. P& fopas o= € 7
1) 1 @) 2
3) 4 4) 3
33. qRaR # fHo+ 9T @l € 7
1) 1 @) 4
3) 2 4 3
34. SHUH 1 Haeg © ?
(1) s8q
(2) =t
(3) «r«l
4) &
fasr : (w1 d@eEm 35 | 38)

= & e U@ g J us MfdEd
HH AR FHE dEn e 2
H 9 U dE g9 2 ga a9
A ® S U o () B o' W
SUYEHT & |

12 15 13 18 7 ?
35. Y Y Y
20 26 7

1) 21
@) 13
3) 9
4) 19

P.T.O.
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0

255

1) 9 @) 2
3) 18 ) 7
g7, 2 37 8 7 5 3 9 4
i
I s I
(1) 464 (2) 232
(3) 494 (4) 133
38. 218
277\
216| 27
e
1) 5 @) 14
3) 125 4) 25

Directions : (Question Nos. 39 to 42)

Read the following information and
answer the questions given below.

There are five person in a group A, B, C,
D and E. The group has one doctor, one
teacher and one author. A and D are
unmarried students. E is a man married
to one of the group member. B is brother
of A and is neither doctor nor author. C
is not a doctor.

39. Who is author ?

1) A @) B
3) C 4) E
NMMS-2022

(12)

0

255

1) 9 2) 2
(3) 18 4) 7
g7, 2 37 8§87 5 3 9 4
* * liﬁ
N I A A
(1) 464 2) 232
(3) 494 (4) 133
38. 218
X7
216[ 27
P/
1) 5 2) 14
(3) 125 4) 25
feer : (Je deEm 39 | 42)

ffrefafag S99 ik A= Ru
T YAl B IAT 2 |

Uk @ge H 5 A A, B, C, D 3R E
g1 99 d u% S, UH [REE 9IR
Uh d@H 21 A R D Afgafed s=
21 E u% 959 B S 99 & d==i H
q up g fqafea 21 B, A &1 9E 2
AR 7 a BaeX &8 9 & @@kl C
Sl & B

39. AEH HT B ?
1) A (2) B
3) C (4) E
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40.

41.

42.

43.

44.

Who is teacher ?
(1) B

2) C

(3) E

4 D

Who is doctor ?
1 C

(2 B

(3 D

(4) E

Who is wife of E ?

(1) D

2 C

(3) B

4 A

A clock has 6 : 47, so what does

the time of the clock appear when
you look in the mirror ?

(1) 7:13
(2) 6:13
(3) 5:13
(4) 8:13
If the English alphabet is written
in reverse orders, which will be

the 8th letter to the right of the

12th letter from the left ?
1 G 2 T

3 F 4) 1

NMMS-2022

(13)

40.

41.

42.

43.

44.

faretes B B ?
(1) B
2) C
B E
4) D
efFex BT & ?
1 C
©) B
3 D
4 E

E & 9l I & 7
(1) D

@) C

(3) B

4) A

UF gSI H 6 Foieh 47
g, ar o § @ W
T FT Ui BT 8 °
(1) 7:13

(2) 6:13

(3) 5:13

(4) 8:13

gfe SiUS &I JOHEET B IAC
FH H for@r S, ar arg | 124

3 % adl X & ofElY
HIT-91 EFT ?

1) G

e 38U
eI

@) T
3 F 4) I

P.T.O.
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45. If the seventh day of a month
comes three days before Saturday,
then which day will be the 17th
day of that month ?

(1) Sunday
(2) Saturday
(3) Friday

(4) Wednesday

46. Various terms of an alphabet
series are given with one term
missing as shown by (?). Choose
the missing terms out of the given
alternatives.

DEF, HIJ, MNO, ?
(1) RST
(2) STU
(3) TUV
4) SRQ

Direction : (Question Nos. 47 and 48)

Select a proper group of letters from the
given alternative.

47. _a_b_abaa_bab_abb
(2) babba
(4) babaa

(1) abbaa
(3) ababb

48. qrp_qg_ppqr_p_rpp

(1) qrqq (2) rapq
(3) prpq (4) rrpq
NMMS-2022

45. Ifc fFE1 ®@E @ gadar &1
JFER § a9 &9 gsd ofEr g,
@ 39 HIE H1 gedl & HiH-a1
are Brm P

(1) e
(2) SiE
(3) AR
(4) ggaX

46. IOHT =@ b qe
™ e RV 8 sk uw e
| g e (?) @ g9

I

2| Ru o faweat & ¥ Rad
ST i1 |

DEF, HIJ, MNO, ?
(1) RST
(2) STU
(3) TUV
4) SRQ

18 wd

feer - (999 EEar 47 ud 48)
fRu 1@ fomedl # & oTa & uH el
e g fSa R = i w6
ST 9 |
47. _a_b_abaa_bab_abb

(1) abbaa (2) babba

(3) ababb (4) babaa

48. qrp_q_ppqr_p_rpp
(1) qrqq (2) rapq

(3) prpq (4) rrpq
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49. What is the angle between the two
hands at 7 : 30 in the Clock ?

(1) 45°
(3) 15°

(2) 60°
(4) 30°

50. A man walked 40 meters towards
North, took a left turn and walked
20 meters. He again took a left
How

far and in which direction is he

turn and walked 40 meters.

from the starting point ?
(1) 20 meters East

(2) 20 meters South

(3) 20 meters West

(4) 100 meters South

Direction : (Question Nos. 51 to 54)

In each of the following questions the
first have
relationship. Choose one word out of the
given four which will
replace the question mark (?), having
same relationship with the third, the
pairs are given as following.

two words a common

alternatives,

51. Reading : Knowledge : : Work : ?
(1) Engagement
(2) Employment

(3) Experience

(4) Experiment

NMMS-2022

(15)

B

49, 931 ¥ 7 I97HY 30 fEe 9T =i
g2l & g feaqa @Il @1 o
R 7

(1) 45°
(3) 15°

(2) 60°
(4) 30°

50. Teh eferq IaX faem @l SR 40
Hlex o =, g8 9 g o)
20 HieX =A11 g8 YA SF geT
AR 40 HEX =T | URHE ==
g e fpaeil g R fRe fRam #

BRT 7

(1) 20 HexX gd
(2) 20 HIeX IeToT
(3) 20 HiexX 9i=EH
(4) 100 HieX feroT

fEer = (999 EEm 51 § 54)
elkifaa g@® 999 # Ued a ==
iao—aﬁqmﬁma@@%awm
21 fRu T ar faeedi H§ ¥ ue wEm
e A S gdreh o () I
q¥ ST Hehdl B X iR == 9 J@l
T 9 2| S 39 U f’u ¥

51. 9&HT : 9 & : hH @ 7
(1) &g
(2) TASH
(3) STgsa
(4) 93T

P.T.O.
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52.

53.

54.

55.

Paw : Cat : : Hoof : ?
(1) Lion

(2) Elephant

(3) Lamb

(4) Horse

White : Peace : : Red : ?
(1) Rose

(2) Hatred

(3) Violence

(4) Cleanliness

South : North-West : : East : ?
(1) South-East

(2) South-West

(3) North

(4) West

Wednesday being Republic day
was holiday. The tenth day of the
next month  being Basant
Panchami was holiday. What day
was on 10th ?

(1) Wednesday
(2) Tuesday
(3) Friday

(4) Thursday

NMMS-2022

(16)

52.

53.

54.

55.

USTT @ fereat e
(1) ST
(2) e
(3) 9
(4) =T
ae -
(1) Tems
(2) gom
(3) Ear

(4) T@=edr

e ¢ -

aferor : IAT-uftEm ;o gd : 7
(1) aferor-ge

(2) =feroT-gig=d

(3) I

(4) qie=™

geeaR B Mo fRgw # ged
A1 ord "E€M 109 R =&d
gEEl @l gedl 10 arE @t
-d f&st ar ?

(1) ggart
(2) HITEX
(3) IHATT
(4) JHAX
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Direction : (Question Nos. 56 to 59)

In each of the following questions, 3
question figures are given as A,B,C and
four answer figures are given as 1,2,3
and 4. Select the figure from the answer
figures that will continue the series

given in the question figure.
56. Question Figures

T

A B c D

[m] [m]
. 0

Answer Figures

(1) 2)

3) (4)

!

2l
e

57. Question Figures
A

o X |a
0 ?

A B C D

Answer Figures

® KX @ KX
®) 2 @ KXo
[m] A
NMMS-2022

(17)

feer : (Je | 56 | 59)
g 9cgeh 999 H 3 usH
agfEl AB,C & &9 H &Y IR 3%
il 1,2,3 X 4 & w9 H & T
21 IUT oTEfEl H | IF AR B
TIA BT ST Ue SATfA H & T
SJEAT ol ST TE |

56. TS STpforAT
E] AV I;]Do - 2
l o]
B c D

IAX ST

~
—
~
G I
~
DN
~
:
ID I

® 7T @

57. 9T STIIET
A A 2
0 ?
AX O
A B [ D
IAX ST
1 (2) O
A A
3) Ay (4) &)
O A
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B (18)

58. Question Figures 58. U SRt
A4 1T A AT 2
A B C D A B C D

Answer Figures I STt

(1)

@ | A
3) gfg
@ Y

59. Question Figures 59. U STt

2)

3)

(4)

|| 4] | Bel o<

GHe0 8880
Answer Figures I STt

NMMS-2022
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Direction : (Question Nos. 60 and 61)

In the following questions, choose a
figure amongst the four alternatives
which when placed in question mark (?)
space of figure (X) would complete the
pattern.

60.
(X)
(1) @
HEN
3) @ 5
61.
?
(X)
(1) ( N ©@
3) @)

Direction : (Question Nos. 62 and 63)

In the following questions, from amongst
the figures marked 1, 2, 3 and 4 choose
the figure which satisfies the same

condition of placement of the dot(s) as in
figure (X).

NMMS-2022

(19)

s : (I d=T 60 TE 61)
FrfaRaa gl § 3 Ol § 9 uh
Sl g+, B 5" STpla (X) & 997
e (?) & W 9 @ S ar Yed
g0 Bl SO |

60.
)
1) 2)
T
(3) @ S
61.
?
(X)
o ¢1 ©
(3) 4
fesr @ (9s deEm 62 ud 63)

FrfaReaa get #, st 1, 2, 3 3%
49 4§ g8 A g, S &g e @
SHl Refq &1 dgse wxar & oS 6
el X)HF B
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62. @

63.

(X)

(1) (2

@
o AN o
(X)
M K " @ (jJ/>
7N
@ AN @ ;Zﬁk

N

Direction : (Question Nos. 64 and 65)

Select the mirror image of the given

number/figure (X).

64.

24169
(X)
(1) 96142
2 Shroe
@3 earpS
(4 KRS

NMMS-2022

(20)

63.

e

@
o AN o
(X)
M K e (jJ/>
AN
@ AN @ @

N

(M9 |1 64 TF 65)

& e "EE /A (X) @& s9er R

g |

64.

24169
(X)
1 96142
2 Shroe
@3 €aorhs
(4 3€IMS
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65.

(1) @)

(3) (4)

Direction : (Question Nos. 66 and 67)

Study the following number sequence
and answer the questions given below.

63745921873569437142769317

66. How many prime number are in
the sequence which are
immediately preceded by an even
number but immediately followed
by an odd number ?

1) 5 (2) 13
(3) 4 4) 7

67. How many ‘3’ number are in the
sequence which are immediately
preceded by an even number but

immediately followed by an odd
number ?

1) 4
©2) 2
3) 3
@) 1

NMMS-2022

(21)

65.

e -

(X)

(1) 2)

(3) (4)

(M9 |1 66 TF 67)

g S STEhH @l STIT i
AR = Ru U gt & I T

63745921873569437142769317

66.

67.

R MU orehd H fhcHl STad
e B dfeT RO 9 H U
s = B 7

1) 5 2) 13
(3) 4 4) 7
R @ AR d e ‘37 8,
596 S Ueq Uk @H dEAT ©

dfeh A e H Tk fqud g
g7

1) 4
@) 2
3 3
@ 1
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Direction : (Question Nos. 68 and 69)
The given figure (x) is followed by four
figures 1, 2, 3, and 4 such that (x) is
embedded in one of them. Trace out the
correct alternatives.

68. N

(X)

(1) (2)

(3) (4)

69.

(1)

2)

3)

by ) <10

(4)

NMMS-2022

fesr : (Js deEm 68 wd 69)
g Th = (x) =) F=Ei 1, 2, 3,
4

q el ° MR B 1 Sugs e
Hl TE= Y |

68. : '
(X)

(1) 2)

3) (4)

69.

(1)

@)

3)

by ) | (0

(4)
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70. Kailash walks 3 kms to east and
turns south and walks 4 kms.
Again turn west and walks 6 kms.
How far he from the starting
point ?

(1) 5kms
(2) 6 kms
(3) 3 kms
(4) 7kms

71. Select the related number from
the given relation :
583:295::486:7
(1) 291 (2) 378
(3) 487 (4) 581

72. Find the odd word from the given
alternatives :

(1) RTUX (2) WUTQ
(3) GEDA (4) ECBY

73. If A means +, B means x, C means
+and D means — , then the value
of 9A2B6D4C2is:

(1) 16 2) 19
3) 27 (4) 30

74. If4x3=14,5x4=18,6x5=22,
then find the value of 7 x 6 :
(1) 20 (2) 26
3) 30 (4) 42

NMMS-2022

(23)

70.

71.

72.

73.

74.

B

o 3 TR gd I AR = @
A ST & IR gsaT & 3R 4
Rl FIear © 1 g uiRed i R
JeHy 6 Bl F@ar B g8
AR fog & feaeii gX 8 7

(1) 5 fRHr
(2) 6 fRHT
(3) 3 fRHl

(4) 7 fRmn
feu u Oy 9 H&faag 9= @&
TIT P

583:295::486:7

(1) 291 (2) 378

(3) 487 (4) 581

fTu U fgeai § @ fauH =
ST HifoTT -
(1) RTUX
(3) GEDA

(2) WUTQ
(4) ECBY

gfe A &1 37 +, B 1 31 x, C
S + X D & 7 — AFT S,

A I9A2B6D4C 2 &l AN s

1) 16
(3) 27

(2) 19

(4) 30

it 4x3=14,5x4=18,6x5=22
B, A 7x6 H HAF ST HioT -
(1) 20 (2) 26

(3) 30 (4) 42

P.T.O.
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B
Direction : (Question Nos. 75 to 77)

How many triangles are in the given
figure ?

75.

1) 10
3) 9

1) 10
@) 8

(3) 6
4) 5

2) 12
4) 5

76.

71.

1) 7
(3) 11

(2) 10
4 9

Direction : (Question Nos. 78 and 79)

How many squares are in the given

figure ?
78.
(1) 18 (2) 15
3) 25 (4) 16
NMMS-2022

(24)

fEsr : (987 Fem 75 ] 77)

& 2 ot H Pyl @ deEn Al
27
1) 10 @) 12
3) 9 4) 5
76. /\
1) 10
2 8
(3) 6
4) 5
Q7 (2) 10
3) 11 4) 9
feer : (9897 Eer 78 wd 79)
q o oompfa # oot @ den feae
27
78.

(1) 18
(3) 25

@) 15
4) 16
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79.
(1) 12 (2) 15
3) 20 (4) 25
80. If x means —, + means X, + means

+ and — means +, then find the
value of 175 -25+5+2x3+10:

(1) -13
(2) 160
(3) 240
(4) 2370

Direction : (Question Nos. 81 to 83)

In these questions, a number series is
given with one term missing. Choose the
correct alternative from the given ones
that will complete the series.

81. 4,13, 28, 49, 76, ?
(1) 99
@) 111
(3) 109

(4) 122

82. 117,96, 77, 60, ?, 32
(1) 40
(2) 49
(3) 50

(4) 45

NMMS-2022

(25)

79.
(1) 12 (2) 15
(3) 20 (4) 25

80. AT x =pr 31f —, + 1 T x, + Bl
37 + M — H AT + =T
S, ar 175 -25 5+ 2x%x 3+ 10
I HH S HioT -
(1) -13
(2) 160
(3) 240
(4) 2370

feer - (9977 Her 81 § 83)

3T UsHl H UH "= SEdr & T
5 uh 95 g« g1 Ru T faenedi
g qe fabey gHT SoSEer o9
AT & |

g
=

81. 4,13, 28, 49, 76, ?
(1) 99
@) 111
(3) 109

(4) 122

82. 117,96, 77, 60, ?, 32
(1) 40
(2) 49
(3) 50

(4) 45

P.T.O.
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B (26)
83. 17,20,58,171,7? 83. 7,20,58, 171, °
(1) 216 (1) 216
(2) 284 (2) 284
(3) 509 (3) 509
(4) 441 (4) 441
84. If4x2=3and 8x 4 =3, then find 84. I 4x2=3 X 8x4=3 B, @
the value of 21 x 7 : 21x7 & HME A HIfT :
(1) 4 2) 3 1) 4 2) 3
(3) 8 (4) 16 (3) 8 (4) 16
Direction : (Question Nos. 85 and 86) fesr : (9sT deEm 85 ud 86)
The figure (X) is folded to form a box. e (X) fesam a9 & fo@ Aer ™ B
Choose the box from given alternatives U U [Oehedi § | UEr Aeed (%EIT)
that is similar to the box formed. E\Jﬁ ST 991 U 8= & %Y 8l |
L7 L7
85. 0|+ 85. 0|+
e [AlX o [AIX
X) X)
F F
o [x]Y) @fol® o [x[2) @[]
pad . pS .
@ Y @ix|2 @ vyt @ | x|2
86. =F 86. =
S @ #|V S @ir|V
xg xg
X) X)
@ # @ #
@ {HY @ B (1) +HY @ ER
@ % @ <y
® (v|¥ @ € 3) v (4) e
NMMS-2022



Direction : (Question Nos. 87 to 90)

Each side of solid cube is 15 cm. The
opposite faces of this cube are painted
Red, Green and Yellow. After this the
cube is cut into small cubes whose each
side 1s 3 cm. Answer the following
questions on this basis.

87. How many such small cubes will
be obtained which have red and
green colour on only two faces ?

(1) 12 (2) 8
(3) 36 (4) 24

88. How many such small cubes will
be obtained which have yellow

colour on only one face ?
(1) 8 (2) 12

(3) 18 (4) 54
89. How many such small cubes will
be obtained which will not have
red, green and yellow colour on
any of the faces ?

(1) 125
2) 25
(3) 8

4) 27

90. How many such small cubes will
be obtained which will have red,
green and yellow colour on only

three faces ?

(1) 12 (2) 8
(3) 25 (4) 54
NMMS-2022
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fder : (w7 deEm 87 | 90)

87. UH fRa< BIC g9 Urq &8Fl %
Had &l Bk U¥ AT AR B

T e
(1) 12 2) 8
(3) 36 (4) 24

88. UY [haw BIC 9 Ut &M [+
Had UHh Haleh 9¢ didr 31 8 ?
(1) 8 (2) 12
(3) 18 (4) 54

89. TY fhaw BIC 9 UTq M1 [+
fdl off wasp 9T o, B8O S
dieT 1 7&T 8rFm ?
(1) 125
(2) 25
(3) 8
(4) 27

90. UY fhaw B g9 utd &8 e

Had oI Bl 9 A, 84 3K
qrT 37 B P

1) 12
(3) 25

2) 8
(4) 54

P.T.O.
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PART - II (T - II)
SCHOLASTIC APTITUDE TEST

Aferer arar gderor

Questions : 91 to 180

91.

92.

93.

94.

Which

important

of the following is an
component of soil
formation ?

(1) Parent Shell

(2) Flora

(3) Climate

(4) All of the above

Which of

method 1s used for purifying of

following chemical

water ?

(1) Fluorination

(2) Chlorination

(3) Bromination

(4) Filtration

Two plane mirrors are kept at the
following angles one by one. In

which case 1s the no. of images

formed maximum ?
(1) 60° (2) 30°
(3) 45° (4) 90°

Lahore Gate Improvement Scheme

was launched in :
(1) 1888 (2) 1886

(3) 1911 (4) 1936

NMMS-2022

91.

92.

93.

94.

Time : 12 Hours

1§ 9§ HE-4ar gar FEier w6
HeegUl g2k B 7

(1) S+6 AT

()ECEISISEIN]

(3) STeTey
(4) IUUFT Tl

= § 9 fea aEtes @it &
SYINT gl &l 8 B & [T
fopaT ST B °?

(1) RIS

(2) T

(3) SHMIT

(4) BT

3 gHAA &4V Hl UH-UH Heh
fFr=fafaa Hel 9¥ @ S © |

fra Rafg & 9 a ufafeai
F T STfeeRay Bt 8 7

(1) 60° (2) 30°
(3) 45° (4) 90°

ARR T AR AT g H T
oy :

(1) 1888 #
(3) 1911 H

(2) 1886 H
(4) 1936 ¥
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95.

96.

97.

98.

99.

5 26
If 2y+=—="——y,theny=:
Y 3 3 Yy Y

M1 @)

(4)

W =3 wlbo

6
3) 5

What steel was Tipu Sultan sword
made of ?

(1) Stainless Steel (2) Wootz
(3) Silver (4) Gold

The policy of merger was given by
which English man ?

(1) Warren Hastings

(2) Lord Dalhousie

(3) William Bentinck

(4) Lord Wellesley

It 1is difficult to walk on ice
because :

(1) pressure is high

(2) pressure is low

(3) friction is high

(4) friction is low

Here are the names of resources
and their types. Look at the
options and state which option is
not correct ?

(1) Coal — Non-renewable
resource

(2) Petroleum  — Non-renewable
resource

(3) Water — Non-renewable

resource

(4) Solar Energy Renewable

resource

NMMS-2022
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95.

96.

97.

98.

99.

B

RIS 2y+§=%—y, ar y H AM
R :

M1 @)

(4)

W3 w|r

6
3) 5

Ay gwaH #l dear e i
g Ty ?

(1) SFRIE €I (2) geot

(3) =<t (4) 9=

foea & g Fa i &1 39
g

(1) are 2R

(2) @S s

(3) faferaw sifden

(4) < I

I% U TAAT Hied & Fifh ¢

(1) =19 offers 8

(2) T HT B

(3) TYur aIferek 2

(4) ToT HT B

TET Al B AW g I9h ThK
far @ | faseal 1 T R
garsu o H-ar faea a8l 7&f
g7

(1) I - STAIRLONT Fare

(2) TSI - TR dareq
(38) oI - SFAIHONT dared

(4) QX oAl - FAdpong Gares

P.T.O.
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100.

101.

102.

103.

104.

The place where an Earthquake
originates is :

(1) Centre

(2) Epicenter

(3) Focus

(4) Apex

Why did Mahatma Gandhi visit
Champaran ?

(1) To see the plights of Indigo
planters in Champaran

(2) To see the progress of Indigo
plantation

(3) To see the managing system of
company

(4) To collect the revenue

Who among the following was
associated with the

Republican Association ?
(1) Subhash Chandra Bose
(2) Mahatma Gandhi

(3) Bhagat Singh

(4) Laxmi Sehgal

Hindustan

How many features are required
to construct a quadrilateral ?

(1) 4
(2) 5
(3) 6
4) 3
A square carrom board has a
perimeter of 320 cm. How much is
its side in cm ?
(1) 100

(3) 60

(2) 80
(4) 90

NMMS-2022
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100.

101.

102.

103.

104.

I8 T STl Y& UaT BT ©

(1) &=

(2) ATTH=
(3) ®IHH
(4) g

TeTeHT el SUR= I=T F= T 7

(1) IR H i SETH ATt
HI e 3@ & g

(2) Al SRS ARl &1 99T
@ $ fog

(3) HIAT H UFET YOSl @
% fog

(4) ST THA HA b [@Q

e 3 @ i Egee
Rufsctep TaNfues & Sfer ar ?

(1) gaw =iz a4
(2) HeTHT TER
(3) W a T&HB

(4) <T&HT A

el =IgYST &l AT & [T fehal
e (S &) STasas € 7
(1) 4

2 5

3) 6

4) 3

Th R HeH A HI GRAM
320 THI B IEH YN H HMY

9t | =7 8Fm ?
(1) 100 (2) 80
(3) 60 (4) 90
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105.

106.

107.

108.

109.

How many sepoys were dismissed
from service and sentenced to ten
years in jail on 9 May, 1857 ?

(1) 80 (2) 85
3) 90 4) 95

The fight for Purna Swaraj was
fought under the presidentship of :

(1) Mahatma Gandhi

(2) C. Rajagopalachari

(3) Sardar Vallabhbhai Patel
(4) Jawaharlal Nehru

Which of the following resource
has commercial value ?
(1) Clean environment

(2) Panoramic view
(3) Cotton clothes
(4) Pleasant weather

In a pie chart data is converted
into :

(1) Line

(2) Angle

(3) Circle

(4) Percentage

The animals that produce new
young ones are called :

(1) Viviparous

(2) Oviparous

(3) Both (1) & (2)

(4) None of these

NMMS-2022
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105.

106.

107.

108.

109.

B

9 U2, 1857 &I Thaw faureal =
Tar 9 F@ied T T oY &9
e & gorr &1 T 7

(1) 80 (2) 85
(3) 90 4) 95

fepehl SAeeran H Yol @RS 6
SEIEASEII o

(1) HETHT TTe

(2) 9I. TeFgEE

(3) GEX acIHHATS Jod

(4) STAEBIAT He@

(iR = M = R =22 M < £ 1 £ I |
foTT® g7 © °?

(1) =3 graEeT

(2) HEIRH 3™

(3) gl ae

(4) gera Jred

qE TG H B8 AThsi @ fhad
e 39 & °?

CYRSIES]

(2) =HroT

3) g

(4) gfasra

d JMaX S g9=d Ua] Hd &,
Fedrd & -

(1) g=a1 S+ 91

(2) 3f=T 39 g

(3) &1 (1) X (2)

(4) 39 ¥ HI3 Tl

P.T.O.
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110.

111.

112.

113.

114.

What is the additive identity of
rational number ?

(1) 0
@ 1
3 -1
(4) 2

The area of a rectangular field
whose length is twice its breath is
2450 m2. What will be its length in
meter ?

(1) 35
2) 70
(3) 45
(4) 90

Find the cube of (2 -0.3) :
(1) 7.73

(2) 4.913

(3) 4.713

(4) 7.713

40% of 50 students of a class are
good at Science.
students are not good at Science ?

(1) 20
2) 30
(3) 25
(4) 35

How many

The example of cylindrical shape
1s :

(1) Pipes

(2) Gas Cylinder
(3) Cold Drink Can
(4) All of the above

NMMS-2022
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110.

111.

112.

113.

114.

qREg &A1 & AFHS gedH
FMTE?
(1) 0
@2 1
3) -1
4) 2

Th TgYSRR T STEe g
e g, & aEwd
2450 T WY B | SHH TR HIEX
H T Brfr 7

1) 35

) 70

(3) 45

(4) 90

(2-0.3) T 99 FT X ?
(1) 7.73
(2) 4.913
(3) 4.713
(4) 7.713

50 BT %I TH F&T § 40 s
B faem & =8 B fhaw s
fosme 7 o= &7 2 ?

(1) 20

(2) 30

(3) 25

(4) 35

ATTRIT 3TIT T IIEOT B -

(1) 9rzq

2) T faqusx
(3) wice F&H A
(4) ITEFa Tl
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115.

116.

117.

118.

119.

The height of a cylinder whose
radius 1s 7 cm and total surface
area is 968 cm? is :

(1) 15cm
(2) 17 cm
3) 19cm
(4) 21 cm

Area of a square plot is 2401 m?.
Find the side of square plot :

(1) 49 m
(2) 48 m
(3) 59 m
(4) 39 m

If (—3)™"! x (-3)° = (=3)", then the
value of m is :
(1) 5
3 1

2 7
4) 3

If x and y are directly
proportional, then which of the
following is correct ?

(1) x+y=constant

(2) x—y =constant

(3) xy = constant

(4) x/y = constant

The scale of map is given as
1 : 300. Two cities are 4 km apart
on the map. The actual distance
between them 1is :

(1) 1000 km
(2) 1100 km
(3) 1200 km
(4) 1300 km

NMMS-2022
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115.

116.

117.

118.

119.

B

T JoRR o= %1 B g
AI%A 968 THIZ T AT IAH!
Broem 7 QW B, O SEE SEn
fepa=r BT ?

(1) 159

(2 179

(3) 19 9=

(4) 2134

THIT e Bl aAhA 2401 H?
g | WIe H YT 1 Brl 7

(1) 49 =i

(2) 48 =i

(3) 59 =i

(4) 39 =i

g (3™ x (=3)° =
T HIE BT ¢
1) 5
3 1

-3)7, a m

@) 7
4) 3

e x X y FAEIGURT €, O 395
g HiF-A1 FEl © 7

(1) x+y= Rk
Q) x-—y= s
(3) xy = s
4) x/y = Res

Ueh A & 99T 1 300 f&=r
T OB A EY HgERE WX 4
e w I S 9=
greiaes g Rea=r et ?

(1) 1000 fHT

(2) 1100 fHT

(3) 1200 fHT

(4) 1300 fHT

P.T.O.
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120.

121.

122.

123.

124.

Which of the following 1is
common factor of :

the

5xy, 3pqr and 40xyz
(1) 5 2) 0
(3) xy 4) 1

865000 is equal to :
(1) 8.65x 10°
(2) 8.65x 10°
(3) 8.65x 10°
(4) 8.65x 10*

By joining (-1, —1), (0, 0) and (3, 3)

represent :

(1) atrangle

(2) a curved line

(3) a straight line passing through
origin

(4) a straight line not passing
through origin

Where did the word Calico come
from ?

(1) Calicut
(2) Kolkata
(3) Karnataka
(4) Kandla

If (504 + P) is a perfect cube
number, whose cube root is P, then
value of P will be :

1) 6
@) 4
(3) 2
(4) 8
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120.

121.

122.

123.

124.

ffu @ usi § A UEETS =4
BN P

5xy, 3pqr 3T 40xyz

1) 5 @) 0

(3) xy (4 1

865000 =TEI B :
(1) 8.65x 10°
(2) 8.65x 10°
(3) 8.65 x 10°
(4) 8.65x 10*

(-1, -1), (0, 0) X (3, 3) T o=

q¥ UT< B8R ¢

(1) T FBrygst

(2) Wh ash @

(3) Th WA @ S oHA &g |
oIl B

(4) Uh X Y@ Siogo fdg |9
TE Yol &

Hicrepl 9= fpad Fepar 8 7

(1) FIAhe q
(2) HIAHAT QA
(3) HAEH &
(4) HisaT |

i (504 + P) Uk o9 HEAT B
S g=qa P g, a1 P & A9
BIGECTEE

(1) 6

(2) 4

(3) 2

(4) 8
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125.

126.

127.

128.

129.

Women and Men who carried
basket loads of iron—ore on their
heads were called :

(1) Wootz (2) Agaria
(3) Bandana (4) Cossaes

The British thought surveys were
important for :

(1) Writing History

(2) Effective Judgement

(3) Effective Administration
(4) All of the above

If 3x74 is a number divisible by 9,
then the least value of x 1s :

1) 1 2) 2
3 3 4) 4
Who said these "Education means
all round drawing out of the best

in child and man body, mind and
spirit" ?

(1) Swami Vivekanand

(2) Rabindranath Tagore

(3) Mahatma Gandhi

(4) Plato

Who allowed the British to trade
in a limited area in Bengal ?

(1) Jahangir

(2) Aurangzeb

(3) Bahadurshah Zafar

(4) Shahjahan
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125

126.

127.

128.

129.

B

g Afeemd iR gEY S
AE-3TT%h H YR X 9w ™
FT BT o, FedAd F -

(1) gt (2) ST

(3) S=TT (4) B

ST Hm Oea™ o1 6 |ger
ST B @

(1) sfe™ s & g

(2) 3= d¥E BEd ad & g
(3) °T=H dE ¥ MEF FH & g
(4) IUUFRT Tl

gfe =T 83x74, 99 9T g, @ X

B FATH HH BN ¢
M1 2) 2
3 3 4) 4

g e el fRreTr &1 o7l 91T
SR 99 & R, A SR SAAT
T ga T ainor O &
g7 0

(1) @i fgasHs

(2) Iee=ATT R

(3) waIeHT e

(4) <er

UST &l M H AT &x H
AR Bl IS fha- &1 7

(1) ST

(2) ST

(3) SETGRAE STHT

(4) smESTEl

P.T.O.

Downloaded from cclchapter.in



130.

131.

132.

133.

134.

The factor of 49P? — 36 are :
(1) (7P + 6)*

2) (TP —6)°

(3) (7P —6) (7P + 6)

(4) (6-"TP) (7P + 6)

Which is the highest law-making
body in our country ?

(1) High Court

(2) Supreme Court
(3) Parliament

(4) Sarpanch

Which is an organization that
arranges toilet facility in the cities
and towns ?

(1) Sulabh

(2) Bharat Vikas Parishad
(3) Muhalla Sudhar Samiti
(4) Private Company

Which of the following right aims
at making India a Secular State ?

(1) Right to Freedom of Religion
(2) Right to Equality

(3) Right to Education

(4) Right to Freedom

Which of the following industries
are owned and operated by
producers or suppliers of raw
materials ?

(1) Private Sector Industry
(2) Public Sector Industry
(3) Cooperative Industry
(4) Joint Sector Industry
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130.

131.

132.

133.

134.

49P% — 36 1 UEUS B :
(1) (7P + 6)?

2) (TP -6y’

(3) (7P —6) (7P + 6)

(4) (6-"TP) (7P + 6)

AR o9 H Hared HMA a9
Al He - 2 7

(1) S== g

(2) Far=" A

(3) da=

(4) aXq=

HE-Al deEr el AR sl A
Q=T giaer Iueiee FRl & 7

(1) gt

(2) 9T fIerd aRug
(3) Hiewl ga diHid
(4) =T pUAT

Frffad o & H-ar AR
T hl JHET I9GT 8 7

(1) enfHes w@a=ar &1 AR
(2) FHEAT BT ATHRT

(3) TreTT o1 ATHRIY

(4) TEA=CAT B ATYBR

M= ° 9 o SR 1 @i
g Haad Hed ' b 3k AT
gicieprl ARy foRar S 8 7

(1) Fo &= & I
(2) AESTE &= & IIART
(3) TEH I

(4) FIFR & T T
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135.

136.

137.

138.

139.

Which
number
Sabha ?
(1) Haryana
(3) Punjab

maximum

in Lok

state  has
of members

(2) Uttar Pradesh
(4) Bihar

Which of these countries is the
leading producer of coffee ?

(1) Brazil (2) Indonesia

(3) China (4) India

Which of the following is not a

suitable method of land

conservation ?

(1) Checks on overgrazing

(2) Deforestation

(3) Regulated use
pesticides

(4) Land reclamation

of

chemical

Who does file the FIR ?

(1) Police men

(2) Lawyer

(3) Judge

(4) Public Prosecutor

Which statement is true regarding

sparsely populated areas ?

(1) The regions where there 1is

cold, sparse

population is found.

Hilly areas

inhabited.

Equatorial regions

heavy rainfall, so there is less

population.

(4) All the above statements are
true.

extreme

(2) are sparsely

receive

3)
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135.

136.

137.

138.

139.

B

ARaT § 999 Al gew fha
T g E v

(1) sf=m™n (2) IAX U=

(3) ST (4) e

g9 9 hE-Ar A BB R
3O I«EH & 7

(1) STt (2) ESHIRET

(3) A (4) 9

=T # 9 He-ar g 9o &
T IUgeRT dlHl FET © 7

(1) STf=mReT 9¥ Ueh

(2) I

(3) TS AN B Ba
fafrafa SgaT

(4) 9 ITaR

Th. 1. . (FIR) &9 &
FXAT 8 7

(1) gicrd

(2) FHIA

(8) —ITTENST

(4) TR FHIA

fRel <@ gu &= % Hdg H

HI-ET FA FGF & °

(1) ™9 =<l § T o 8l
S B

(2) JaT & foRe 979 8¢ 2 |

(3) YHeXE Yasl H AU
gyt Bl B, gEfT ger
SHEET HH 2 |

(4) I9UEFT G FHIFT TA 2 |

P.T.O.
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140.

141.

142.

143.

Who presides over the Lok Sabha ?
(1) Prime Minister

(2) Speaker

(3) President

(4) Vice President

Match List—1 with List-2 :
List-2

List-1

State Location of

Atomic Power

Station
(I) Kalpakkam
(II) Kaiga
(¢) Karnataka (ITI) Narora
(d) Tamil Nadu (IV) Tarapur
(1) a-1v, b-III, c-II, d-I
(2) a-1, b-111, c-II, d-1IV
(3) a-I, b-11, c-I11, d-IV
(4) a-1v, b-III, c-I, d-II

Maharashtra
Uttar Pradesh

(a)
(b)

Which of the following factors
affect the location of industries ?

(1) Availability of raw material

(2) Proximity to market

(3) Availability of water

(4) All of the above

Where did the biggest gas tragedy
in the world ?

(1) Chennai

(2) Jaipur

(3) Bhopal

(4) Gujarat
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140.

141.

142.

143.

AHTAT BT STEHRIAT i BT & 7

(1) ge=HEAT
(2) €iRT
(3) rsgyfer
(4) SURTSZART
-1 H -2 9 gHled
HIFSTT
gE-1 gei-2
T QRHATI] FHSil
PE B IH
(a) HERTSE  |(I) ohoTIaRbH
(b) IAT UL |1 B
() HACH (I1D) ST
(d) dHEArg | AV) aRIgY

(1) a-1v, b-I11, c-1I, d-I
(2) a-I, b-I11, c-1I, d-1IV
(3) a-I, b-11, c-111, d-IV
(4) a-1v, b-I11, c-1, d-II

M= d 9 F-91 R ISR
i sTafRefa @ goifad HIar & °?
(1) F=a AT Pl ITTEIAT

(2) I &I Mehear

(8) I H/I IUT=EIAT

(4) IURT THI

fasg & 999 91 A9 TEE BBl
g 7

(1) =12

(2) STEAYR
(3) 9T

(4) TeTaq
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144.

145.

146.

147.

Article 21 of the Indian

Constitution guarantees :
(1) Right to Speech

(2) Right to Life

(3) Right to Freedom

(4) Right to Information

Which of these minerals is a non-
ferrous metallic mineral ?

(1) Iron Ore

(2) Manganese

(3) Chromite

(4) Copper

Which of the following is called
golden fiber ?

(1) Jute

(2) Cotton

(3) Silk

(4) Wheat

Which one of the following
statements is not correct regarding
the population pyramid ?

(1) Population pyramid is also

called age sex pyramid.

(2) Population pyramid gives us
an idea of the income level and
health conditions of people of

different age groups.

In countries with low birth
rates, the base of the
population pyramid is narrow.

The wide base of the
population pyramid indicates
high birth-rate.

3)

(4)
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144.

145.

146.

147.

B

AR gfga %1 Ag=ss 21
ME AT B

(1) HTYOT &1 AR

(2) ST =hT AR

(3) EA=ICAT T IR

(4) AT Bl AfERI

ES T IS B0 & B | MG [ S [ 1 =4
enfeaes @i ® 7

(1) =ie 3T9%h

(2) TS

(3) sHrHIEE

(4) o=

= § @ %9 gaeu W we
Srar & ?
(1) gea-d
(2) U™
(3) ™

4 g
SHEE UEs & 99y § N
¥ 9 h-a1 HUT el dg e ?

(1) sHaE faafas &6
s off wea ¥
(2) SHEE [uiHe 9 8 &=
AY o & AN H AT ®

WX g W@eed IAET & g
2T B |

(3 M STH ITX g @M H
SHEEr UUiEE #r SAER
Th BIAT B |

(4) JEE  ufEE & Aer
YR I=d STH-§L hl  aMdl
=

g o

P.T.O.
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148.

149.

150.

151.

152.

Where the
constitution mentioned ?

(1) The Preamble

(2) Fundamental Rights
(3) Directive Principle
(4) Fundamental Duties

are aims of the

the

Violence Act passed in India ?

In which year Domestic

(1) 2004
(2) 2005
(3) 2006
(4) 2007

Where 1is the
located in India ?

(1) Chandigarh
(2) Kolkata

(3) Mumbai
(4) Delhi

supreme court

The chemical substance rich in
nutrients are called :

(1) Fertilizer
(2) Weedicide
(3) Pesticides
(4) Herbicides

The most Reactive metal is :
(1) Copper

(2) Silver

(3) Calcium

(4) Sodium
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148.

149.

150.

151.

152.

dfaae & IR B geie waEl
fpam T ' 7

(1) g&aE=T §

(2) Aiferes SfEept &

(3) wifa-fdser Rasial &

(4) Aifees Herear o

aRd H fRE a¥ ;| BEr @
qrg fhar =T v

(1) 2004

(2) 2005

(3) 2006

(4) 2007

gRd H galed <Eed Fel Red
27

(1) IEre °

(2) kT H

(3) g=g |
(4) et o

qioeh el @ WY TR
qaref e B

(1) IEH

(2) @I

(3) ISR

(4) SRR

qaitees foransiia a1g 2 ¢
(1) =prax

(2) =it

(3) dfesrE

(4) QifsgH
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153.

154.

155.

156.

157.

Acid Rain mainly constitutes :

(1) Sodium Chloride

(2) Sulphur dioxide and Nitrogen
dioxide

(3) Hydrochloric Acid

(4) Carbon Tetrachloride

The soil formed by decayed organic
matter is called :

(1) Pesticide
(2) Fertilizer
(3) Humus
(4) Biocide

Which of following gas is used to
control fire ?

(1) NHs (Ammonia)

(2) H2 (Hydrogen)

(3) CO2 (Carbon Dioxide)
(4) F2 (Fluorine)

When a sperm having X-
chromosome fuses with the ovum,
the child born will be :

(1) Male
(2) Female
(3) Male as well as female twin

(4) It depends on the chance of
fusion

Which of the following is a natural
fiber ?

(1) Wool
(3) PVC

(2) Nylon
(4) Polythene
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153.

154.

155.

156.

157.

ARA aui & Y& =g ¢

(1) sy FES

(2) §ThT SRS
AR GISTH SISHTFARS

(3) BISZIRAINGG 3T

(4) FHET ETEANES

S 8O HEie gl H a9
arelt el ®I Her ST @

(1) HieAH

(2) IEH

(3) &HA

(4) STAEES

= & 9 9 9 &1 SuEm
3NT &I FEET w9 & g &
ST 8?7

(1) NH; (eTHi=m)

(2) Hy (e=geM™)

(3) CO: (FET STZATFAZS)

(4) Fo (FRA0H)

S X- el et ST &%

arer e S g, o UsT e arer

=T BT

(1) =X

(2) H&T

(3) X &R H1&T et

(4) g8 daI9T  H  GHEAT UX
e wear B

fFr=fafaa & @ @9 uF ugios
FEET & °
(1) >
(3) dreEt

aqAar

(2) A=A
(4) dierefi=

P.T.O.
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158.

159.

160.

161.

162.

Iron is galvanized by coating it
with :

(1) Chromium
(2) Sodium

(3) Magnesium
(4) Zinc

The clearing of forests is referred
to as:

(1) Reforestation
(2) Desertification
(3) Deforestation
(4) Sanitation

Burning coal in a closed room will
produce :

(1) NO2 (Nitrogen Dioxide)
(2) CO2 (Carbon Dioxide)
(3) CO (Carbon Monoxide)
(4) O2 (Oxygen)

Name the sphere that supports life
and where living organisms exist :

(1) Atmosphere
(2) Lithosphere
(3) Biosphere
(4) None of these

Which
AIDS ?

(1) A protozoa
(2) A bacteria
(3) A virus

(4) An algae

microorganism  causes
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158

159.

160.

161.

162.

AE B Aeaimor Rl 9
TET Y fHaT Sar B ?

(1) =pIfFEH
(2) |ifeaH
(3) B=hIfarEw
(4) 5%

gl I THES B HT AT B -

(1) TRt
(2) HEEIAHIOT
(3) @+l &I Fer2
(4) E=sdar

g% HHY H HAA B AAT I
FIAT B

(1) NO: (FTEgs SEHFES)
(2) COs (FET SEATFAZS)

(3) CO (R HAArSTFIES)

(4) Oy (SfeRAIST)

9 & FH A FAST S SiEd
T THEAT HIAr & SN T&r Siifad

SICEEISCE S
(1) argHsT
(2) TIHSA
(3) SilgHsA
(4) 379 | g TEl

HE-A1 gEASia USd H HIROT
FEar B 7

(1) Tk JTerSTra

(2) UH SFIRAT

(3) UH IrEd

(4) T AT
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163.

164.

165.

166.

167.

Refrigerating gases which harms
ozone layer :

(1) MFC
(2) CFC
(3) LPG
(4) DFC

The process of removing salt from
sea water 1s called :

(1) Calcination
(2) Desalination
(3) Evaporation

(4) Condensation

Chromosomes are found in :
(1) Nucleus

(2) Nucleolus

(3) Nucleoplast

(4) Vacuole

In humans, the development of
fertilized egg takes place in the :

(1) Ovary
(2) Oviduct
(3) Testis
(4) Uterus

The amount of Heat Energy

produced on complete combustion
of 1 kg of a fuel 1s called :

(1) Calorific Value
(2) Significant Value
(3) Latent Heat

(4) Internal Energy
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163.

164.

165.

166.

167.

B

gefifed A S STie 9Rd i
B Jgandl 8 :

(1) MFC

(2) CFC

3) LPG

(4) DFC

THET ST F 99T &l G HIA B
gfshar FHedr © -

(1) e

(2) AAAONHIOT
(3) aTSdIRTT
(4) Gg=11

TS T E
(1) =Tieyes o

©2) frraed o
(3) e H
(4) Rigaepr &
gl |, o S @ e
2T 8 ¢

(1) sfse™ #

(2) Egarfesit #

(3) guor H

(4) i H

fpel 1 fopetimme 29 &1 9ol e
P UX IO BF Il S
ol Sl el SEr B

(1) e A
(2) €k "7
(3) =T H1
(4) oAiAes FHeir

P.T.O.
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168.

169.

170.

171.

172.

The microorganism which contains
chlorophyll are :

(1) Virus

(2) Fungus

(3) Algae

(4) All of the above

A plastic which can not be
remouled again by heating is :

(1) Polyethene
(2) PVC

(3) Polystyrene
(4) Bakelite

The synthetic fiber that appears to
resemble wool is :

(1) PET
(2) Acrylon
(3) Rayon
(4) Nylon

Tissues combine to form :

(1) Nucleus

(2) Cells

(3) Organism

(4) Organs

After the sun, the next nearest
star to Earth is :

(1) Alpha Centauri

(2) Polestar

(3) Sirius

(4) Proxima Centauri
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171.

172.

qe geHsila STEH  Fiihd il
g

(1) am=EE

(2) HdH

(3) araT

(4) ITEFT Tl

Th WResh T SHSAT ah AH
77 o1 ST 9epat a8 B

(1) i
(2) 9r.dr.4.
(3) Uiz
(4) SbeTEe

P b ey REA g Eiivd
XA F/T AN B

(1) 9

(2) UfeheltT
(3) =
(4) ST

% BT 9 ©
(1) =1i%7eR

(2) RS

(3) St

(4) ST

g4 % 9e gl H ST
Mreheaw amT B -

(1) STTHT G

(2) ga ara

(3) |Ii=™

(4) difersr |-l
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173. A book of mass 20 g is placed on a
table. Find the thrust exerted by
the book on the table. (Take
acceleration due to gravity as
10 ms™)

(1) 0.2N (2 2N
(3) 200 N (4) 20N

174. The bumper and door handles of
motorcars are coated  with
chromium because :

(1) It does not easily get corroded
(2) It does not easily get scratched
(3) It tarnishes quickly

(4) It 1is cheap

Which one option is not a correct
cause ?

175. If the angle of incidence is 50°,
then calculate the angle between
the incident ray and the reflected
ray :

(1) 50°
(2) 130°
(3) 80°
(4) 100°

176. A bomb explodes on the moon.
How long will it take for the sound
to reach the Earth ?

(1) 10 Second

(2) 1000 Second

(3) 1day

(4) Sound will not be heard
NMMS-2022
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173.

174.

175.

176.

B

20 U EeIHM Wl Th JEIh
Wh Bl UX Y@M TN B AN WX
g BN @ET T g HI
HIT | (TEAT ©@ROT 10 ms™> &
g H )

(1) 0.2N @) 2N

(3) 200N (4) 20N
AePp & §9¢ AR @ B
T U HIHIH HI 9T IS Bl
2 it -

(1) T8 EFT 9 T T8t el 8
Q) TE T § @Al Hel S &
(3) I& STl giHa 8 SRl &

(4) I8 & ®

SWad H ¥ -4 faed 9@t
TR ?

e ofUad O 500 B,
amufaa fReer ud gREfed feeoer
% &= B BT B TOET B

(1) 50°
(2) 130°
(3) 80°
(4) 100°
g9 9¥ 99 %edl 21 @ i

gl q% ugew d fRar wHd
SRR

(1) 10 9T

(2) 1000 EFHTS

(3) 1fe=

(4) = gag el 2

P.T.O.
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177. Friction can not be reduced by : 177. 97 1 HH F&F AT ST Fehall -
(1) Making the surface smooth (1) 9de &l =T TR
(2) Making the surface rough (2) Gae @l GIE FA1RT
(3) Lubricating the surface (3) Fdel 94X ek IEhY
(4) Using ball bearing (4) T SAMET BN ITANT HLeh
178. What is rust ? 178. ST FT B 7
(1) Copper oxide (1) AT ATFAZS
(2) Zinc oxide (2) TSip STlFaES
(3) Sodium oxide (3) AifeTw SffeFArEs
(4) Iron oxide (4) AIH ATFAES
179. A whistle produces sound because : 179. il g Yar AT 8@ i -
(1) It stores air (1) I& BT Sl GIF Hl 8
(2) Air vibrate (2) BT HIT HT &
(3) Person produces vibration (3) =R Hu Yar BT B
(4) All of the above (4) TaRe A
180. Arrange the following planets in 180. Fr=faiaa Tl ohl 7\15([ % A
increasing order of time required to HAR Teh =TFHT g FH & fag
complete one revolvation around METH THT H ded HH H
the Sun : FARIT B
(1) Earth (1) Uranus (i) ge=it (11) ?ﬁ_"lﬂ
(ii1) Mars (iv) Jupiter (i11) HITA (iv) ge&qic
(1) 1,11, 11i, iv 1) 1,11, iii, iv
(2) 1,111, 1v, 11 (2) 1,111, 1v, 11
(3) 1iv, 111, 11, 1 (3) 1iv, iii, 11, 1
(4) 11, 1ii, 1, 1v (4) 11, 1ii, 1, iv
NMMS-2022
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6.

10.

11.

12.

13.

14.

15.

16.
17.

18.

usHl % IOX, IIX =k H it @ it
wwﬁ?ﬁgﬂhmaﬂwm%,
= g T R o

O e B o

AW B I ™ SOX G "HEr S, 9
IO A @ B A U 9 9 ©

© ® © @

gie U 9 el @l B WY 2d & Al AR
SAX IIT HIET ST |

B I
Sar 6

. X% HA U gRIE H 3E YA & fag & T

el SFTE 9Y &1 &1 |

.G IO Fad SAC UFH (OMR) WX & 3ffeed

FH | AIT I YD AR HL | IAX T
2g 29d % (F%e FIS) H gAnT Mt B

. g% 999 % fo @Ru w = foeeedl H @ S

fgpea & T AT 99% (OMR) X &ad TF &l
gd H YU e H Oid @R 99 F 9 0H
IR I Sfkd X B G IH ST A8 S
T 2 |

srwpefl gfema Y b 3@ IO u=eh O Hiel |
ST Qawwﬁémﬁrsmqwm
ARl O SgHHI® IO Uk MEiRd
W & Afaiead o= 9 [Rid |

gse QRIS Ud IO 9 B eAYaS TANT HY,
iR e o aRRaf § (Faw geT gRawr o
IAX WE B HHIG A fWear Hl R @l
BIghI) ga¢ g7 Grawr 8 3=y &l #arn
ST 1

gs gROH/SOY 9Eeh H [T T A
el Wl ade ¥ et 9= 7 o |

el St uwdem E/HH H WA HE B
AT fopdl U sl 1gd @i, gigda =
sEfIRgd RSl I i, ﬁa’{ e B,

s’%@;ﬁmwmﬁ%ﬁmwﬁﬂmﬁr
H A S AT I FIA H AGART S 2 |

ISRUSET-ARY M U U STell ofuAr
T (T o) famamd |

o= Adierh a1 e ® [@AT g @ faer
FIE Tt STIAT W T BIE |

SAFS(~1eh /EETATAT Uiehaleh I SUANT afoid 2 |

fopel Bla H ued gRAeHl AR SAX U5 H Fis
ART ST T |

e " BN R, Sl qdiem et /et
8lgd 9 Yd SR YN HE-UIAEh bl AT
Fﬁtr%ganzreﬁamﬁwaqﬁg%waﬁém
qhd T |

6.

10.

11.

12,

13.

14.

15.

16.
17.

18.

Answers to questions in answer sheet are to be
given by darkening complete circle using black ball
point pen as shown below :

O e O o

The answer will be treated wrong, if it is marked, as given

below :
v ® © @

If you fill more than one circle it will be treated as a
Wrong answer.

. Rough work should be done only in the space provided

in the Test Booklet for the same.

. The answers are to be recorded on the OMR Answer

Sheet only. Mark your responses carefully. No whitener
(white fluid) is allowed for changing answers.

. Out of the four alternatives for each question, only one

circle for the most appropriate answer is to be darkened
completely with Black Ball Point Pen on the OMR
Answer Sheet. The answer once marked is not allowed
to be changed.

The candidate should ensure that the Answer Sheet is
not folded. Do not make any stray mark on Answer
Sheet. Do not write your Roll No. anywhere else except
in the specified space in the Answer Sheet.

Handle the Test Booklet and Answer Sheet with care, as
under no circumstances (except for discrepancy in Test
Booklet and Answer Sheet Serial No.), another set of
Test Booklet will not be provided.

The candidate will write the correct Number as given in
the Test Booklet/Answer Sheet in the Attendance Sheet.

Candidate is not allowed to carry any textual material,
printed or written, bits of papers, pager, mobile phone,
electronic device or any other material except the Admit
Card inside the examination hall/room.

Each candidate must show on demand his/her Admit
Card (Roll No.) to the Invigilator.

No candidate, without special permission of the
Superintendent or Invigilator, should leave his/her seat.

Use of Electronic/Manual Calculator is prohibited.

No part of the Test Booklet and Answer Sheet shall be
detached under any circumstances.

On completion of the test, candidate must hand over the
Answer Sheet to the Invigilator in the Room/Hall. The
candidate is allowed to take away this Test Booklet with
them.
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NMMS - 2022
SET:C

gehoie I U
3TouHo3TRo HHH
CRETIET <8:|3|%| ﬁ) : Booklet Serial No. &
Roll No. (In Figures) O. M. R. Serial No.
AT (r=al H)
Roll No. (In Words)
qOeT &HF Bl A -
Name of Examination Centre
Tegelt T A et B TEER -

Name of Candidate Signature of the Candidate

59 T97-giaesr 4 geal @l a&qr 48 g7l F TdEr 180 aTT

No. of Pages in this Question Booklet No. of Questions Time

3 hours

et P SEATEIT /Signature of the Invigilator :

oreeeff @) 10 e &1 G597 g gRasr gT 89 RN # ge7, g9 gEae 7 Ry ¢ gef & diRaa 797 9% #77 a9 SRT 977 P e
Rar a1 af gev-97 gwae F go F diRGT T T 89 & @ g = ordfers @ [Fa5T FWH G9F 9 JHAT Jad & | GO G
&I % geErg FE FTar @hHR TE AT T §7 10 Fret # sifaR#d, gel # Iuv @7 7 sifkd a7 % R Q3 392 # gw Rar s

STRIFRNET % forg Fder
1. IR =% (OMR) 39 999 YRR & 3= &l

INSTRUCTIONS FOR THE CANDIDATES :

1. The OMR Answer Sheet is inside this Test Booklet.

2| S SRl U9 YRAeRT Fie @ el S, o
IAX U R Y A A had Fwi i @R
U9 9 faEyer «% |

. 9eT W rEi 3§28 & ud usd g F 180 UsT
2| Uk UT TH b B B FIF FURHE BT
T&T &1

.30 U T {qEROT Sifehd Hid Ud IO U WX
M9 & % [T A il S @ige U9
TR &Y | T UeA-gRGHT H ITART FHA oA
TAY U Bl WX H AEYEl aXd | §@d JeF
gieer @< garT T8 1 S

. T8 o gRfea & & & gs9 gRaew wHiw oA
ST 95E HHG UH B &1 TR FE F= B a@r
Al gAY gA-gRAHE AR I I=E A &
for et @1 g ST AT |

. g8 gdem @ 9 7 8 -
ART-1 : NieH AT geor
AFT-I1 : e qrgar qh&er (9. 91 F ¥, 180)

(.17 9. 90)

When you are directed to open the Test Booklet, take out
the Answer Sheet and fill the particulars carefully with

black ball point pen only.

. The test is of three hours duration and consists of

180 questions. Each question carries one mark. There is no
negative marking.

. Use Black Ball Point Pen only for writing particulars on

this page/marking responses in the Answer Sheet. The
candidate should remain careful in handling the question
paper and in marking the answers on the answer sheet.

Another booklet set will not be given.

. Also ensure that your Test Booklet Serial No. and

Answer Sheet Serial No. are the same. In case of
discrepancy, the candidate should immediately report the
matter to the Invigilator for replacement of both the Test
Booklet and the Answer Sheet.

. This Test has two Parts :

Part-1 : Mental Ability Test (MAT) (Q.1t0 Q. 90)

Part-II : Scholastic Aptitude Test (SAT) (Q. 91 to Q. 180)

W.-ggﬁw%wﬁﬁv%sﬁﬁé‘sﬁ#
21

Note : Read other remaining instructions given on the

last page of this Booklet.
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PART - I (|- 1)
MENTAL ABILITY TEST

s AIar geroT

Questions : 1 to 90

Direction : (Question Nos. 1 and 2)
In a certain code language

(a) ‘rim tim bo’ means ‘Sun is Hot'.

(b) ‘sim jar tim’ means ‘Moon is Cool’
(¢) 9ar bo lim’ means ‘Sun and Moon’.

1. In that language which word is
written for ‘and’ ?
(1) tim (2) lim
(3) sim (4) jar

2. In that language which word
written for ‘cool’ ?

(1) lim (2) jar
(3) tim (4) sim

3. If the word ‘EIGH’ can be written
as ‘EMOT’, then how can the word
‘AEKL’ be written in that code ?
(1) AELM (2) AESX
(3) AISX (4) AIXS

Direction : (Question Nos. 4 and 5)
Which of the four answer figures can be
formed from the pieces (X) given below ?

o, |AU
o g 4
X)
(1) (2)
(3) (4)
NMMS-2022

Time : 12 Hours

feer : (Fe dEm 1 o 2)

T HiREd e A H

(a) ‘rim tim bo’ T 378 ‘Sun is Hot’ &
(b) ‘sim jar tim’ &7 37¢f ‘Moon is Cool’ &
(© Yarbolim’ & 77 ‘Sun and Moon’ &

1. 39 997 § S =5 ‘and’ & [T

o = B
(1) tim (2) lim
(3) sim (4) jar
2. I AT H S = ‘cool’ b @
o = B
(1) lim (2) jar
(3) tim (4) sim

3. I ‘EIGH’ == &I ‘EMOT foram
ST 2, ar ‘AEKL &1 391 shis |
fopa g forar Sr dahar B 7

(1) AELM (2) AESX
(3) AISX (4) AIXS
fesr : (I ST 4 W 5

®l A fRu U ogwSi (X) ﬁ AT ST
qepar B 7
. | AU
a Vi
(X)
(1) (2
(3) (4)
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If the word ‘MUMBAI' can be
written as ‘NWPFFQO’, then how
can the word ‘DELHI’ be written
in that code ?

(1) EFMIL
(2) EGOLN
(3) CDKGH
(4) EGOMN

(4)

=\

(]

(1) @ (2) @
3) @ (4) @

. i ‘MUMBAT <5== &l ‘NWPFFO’

forar Sar &, 91 ‘DELHI &l &1
Eg_f T 9 e /Ear Sodehdn
(1) EFMIL
(2) EGOLN
(3) CDKGH
(4) EGOMN

Direction : (Question Nos. 7 to 9)

There are given six logical Diagrams (a,
b, ¢, d, e and f). Select one which best
illustrates the relationship among three
classes in each of the following question.

0®C
@0 b @

7. Husband, Wife, Family :

fdsr : (I d&r 7 9/ 9)

B: b @9 == (a, b, ¢, d, e 3N f)
few o ¥ efoRag # 9 @ usH
7 d9 am & d 9" =0A arar
49 g |

0®¢C
@0 b @

7. 9id, 9, 9RAY

(1) b (1) b

@) f @) f

(3) a (3) a

(4) e 4) e
NMMS-2022
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8. Authors, Women, Techers :
(1) b (2) c
3) d 4) e

9. Mothers, Women, Children :
1 f (2) a
3) b 4) c

10. If the word “DOCTOR” can be
written as FRGVRYV, then how can
the word “HEALTH” be written in
that code ?
(1) IFBMUI
(2) JHEMWM
(3) IFBNUI
(4) JHENWL

11. If the word ‘DOG’ can be written
as 13, then how can the word
‘MAT’ be written in that code ?
(1) 17 (2) 34
3) 24 (4) 26

12. Rahul is 15th from the left in a
row of 38 boys. What will be his
position from the right ?
(1) 23rd
(2) 22nd
(3) 24th
(4) 25th

NMMS-2022

(5)

8. W, Higww, farers :

(1) b @) c

3) d 4) e

9. HEY, AR, =3 :

10.

11.

12.

(1 f 2) a

3) b 4) c

Ifc “DOCTOR” g1 &I FRGVRV
foar sar B, @ “HEALTH” <Rt
Hl Hie H fp9 UHR fEr S
Tehar & °?

(1) IFBMUI
(2) JHEMWM
(3) IFBNUI
(4) JHENWL

g ‘DOG’ 15 1 13 for@r Srar
g, @1 ‘MAT = @1 @i # 5
UehIX foram ST Tehat 8 7

(1) 17 (2) 34

(3) 24 (4) 26

38 eehi hl digkd H g 9 q
158 TM 9 2| ITHT I oA}
o T T AT 7

(1) 23dt

(2) 22&T

(3) 24at

(4) 25aT

P.T.O.
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13. If the word ‘MOUSE’ can be
written as “ONWRG”, then how
can the word ‘LIGHT  be written
in that code ?

(1) MGHFU  (2) JGEFR
(3) JJEIR (4) NHIGV

14. How many times does Zero appear
in the numbers from 1 to 1000 ?
(1) 102 (2) 122
(3) 192 (4) 112
Direction : (Question Nos. 15 to 19)

Read the following information and
answer the questions given below.

1. P$Q means P is mother of Q.

2. P@Q means P is father of Q.

3. P#Q means P is husband of Q.
4. P&Q means P is daughter of Q.

15. How is A related to C according to
A@B#C ?
(1) Father
(2) Grand Father
(3) Father-in-law
(4) Son-in-law
16. How is C related to A according to
A$B&C ?
(1) Wife
(2) Daughter
(3) Mother
(4) Husband

NMMS-2022

(6)

13.

14.

IREEE

gl ‘MOUSE’ == sl “ONWRG”
forar Strar 2, @ ‘LIGHT =t s4r
He ° F9 yspr frar 1 gadar
g7

(1) MGHFU  (2) JGEFR

(3) JJEIR (4) NHIGV

1 ¥ 1000 9% @ @A H 0
foha=l ST STar B °

(1) 102 (2) 122
(3) 192 (4) 112
(ueT e 15 § 19)

fr=fafaa 9 9@ ok e fRu
gedl & IaX 3|

1. P$Q kT <1ef 8 P, Q & AT T

2. P@Qr 7 B P,Q & fuar g1

3. PHQ@T 31f B P,Q B ufa 21

4. P&QI A B P, Q F IS B |

15.

16.

A@B#C &% TaR A &1 C | &
T B 7

(1) far
(2) &TaT

(3) |gY
(4) ==

A$B&C & AFER C &1 A 9§ &4
g B 7

(1) gt

2) 9

(3) #T

(4) afe
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17. How is A related to C according to
A#B$C ?

(1) Husband
(2) Father
(3) Son

(4) Wife

18. How is C related to A according to

A&B#C?

(1) Mother
(2) Daughter
(3) Wife

(4) Husband

19. How is A related to C according to

A@B$C ?

(1) Grand Father

(2) Husband

(3) Maternal Grand Father
(4) Father

Direction : (Question Nos. 20 to 24)
Read the following information and
answer the questions given below.

All six members of a family P, Q, R, S, T
and U are traveling together. S 1is
daughter of P. U is brother of Q. Q 1s
daughter of R. But R is not the mother of
Q. P and R are a married couple.

20. Who is U’s mother ?
1) S 2 P
3 R 4) T
NMMS-2022

(7)

C
17. A#B$C & AR A &1 C 9 &
T B 7
(1) af
(2) Toa
(3) e
(4) o

18. A&BH#C & AFER C &1 A 9§ 40

T B 7
(1) =
(2) =&
(3) Tl
(4) 9idq

19. A@B$C & AR A & C q &0

g B 7
(1) arar
(2) afa
(3) =T
(4) Toar

fesr - (w7 dEm 20 | 24)
frfafad STl 9@ 3k A f'g
MM YAl B IAL & |

UF gaR & 99 8: 9599 P, Q, R, S,
T X U Uk 917 I & @ 818, P
F AT 21U, Q & 92 21 Q R =l
I B ARRT R, Q F et 21 P
3T R us faarfed swer 21

20. U & | shi9 & 7
1) S 2 P
3) R 4 T

-

g
=

P.T.O.
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21. How is T related to S ?
(1) Uncle
(2) Father
(3) Maternal Uncle
(4) Brother
22. How many children does P have ?
(1)1 (2) 2
(3) 4 4) 3
23. How many male members are
there in the family ?
11 (2) 4
(3) 2 4) 3
24. How is S related to U ?
(1) Sister
(2) Mother

(3) Sister-in-law
(4) Daughter

Directions : (Question Nos. 25 to 28)

In each of the following figures number
are written according to some patterns.
One number is missing. Find the
missing that replace the
question mark (?).

12 15 13 18 7 7

Y Yy

20 26 7

number

(1) 21
) 13
(3) 9
4) 19

NMMS-2022

(8)

21. T &1 S 9 =7 Gy & 7
(1) ==
(2) fOar
(3) "HM™ET
(4) w8
22. P& fpaq =0 € 7
(1) 1 2) 2
3) 4 4) 3
23. qRaR H fha gy el € 7
(1) 1 2) 4
(3) 2 4) 3
24, STETUYF 1 daler & ?
(1) &=
(2) |t
(3) «Tl
(4) 91
feer : (997 dem 25 § 28)

d & 8 U STl H weh MiREd
HA AR HB dEn e ¥
TH 9 U A g9 B ga g
A ® S U B (7) B o' W
SUged Bl |

12 15 13 18 7 ?
25. \( Y \(
20 26 7

(1) 21
(2 13
3) 9
4) 19
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217. 2 7 8 3 4
4 1 2 5 2 1

(1) 464
(2) 232
(3) 494

(4) 133

28. 218
21757
216 27

913

1) 5
2) 14
(3) 125

(4) 25

NMMS-2022

27.

28.

(1) 464
(2) 232
(3) 494

(4) 133

218

2162?

913

(1) 5
2) 14
(3) 125

4) 25
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Directions : (Question Nos. 29 to 32)

Read the following information and
answer the questions given below.

There are five person in a group A, B, C,
D and E. The group has one doctor, one
teacher and one author. A and D are
unmarried students. E is a man married
to one of the group member. B is brother
of A and is neither doctor nor author. C
1s not a doctor.

29. Who is author ?
1 A
3) C

(2 B
(4) E

30. Who is teacher ?

(1) B
@ C
3 E
4 D

31. Who is doctor ?

1) C
2 B
3) D
4) E

32. Who is wife of E ?

(1) D

2 C

3) B

4) A

NMMS-2022

(10)

fder - (we d@eEm 29 | 32)

fefeRad S99 ek A R
T YAl & IAT G |

ks 998 d 5 &R A, B, C, D 3R E
g1 @98 H UH SRy, UH [ IR
Th T@H 21 A AR D oifdaea s=
€1 E TF g9 8 S 99 & deai d
q Uk G fgaifeqa 81 B, A &1 9% ©
AR T @ ShHer 8 T & w@hl C
EieFeY T T
AGH Hi 2 7
(1) A
3) C
faretes &I 2 7
(1) B
@ C
3) E
(4) D
SiFe B & 7
(1) C
(2 B
(3) D
(4) E

E &I 9l i 8 ?

(1) D

29.
(2 B
4) E

30.

31.

32.

@ C
3) B

4) A
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33.

34.

35.

36.

A clock has 6 : 47, so what does
the time of the clock appear when
you look in the mirror ?

(1) 7:13
(2) 6:13
(3) 5:13
(4) 8:13

If the English alphabet is written
in reverse orders, which will be
the 8th letter to the right of the
12th letter from the left ?

1) G @) T

3 F 4) 1

If the seventh day of a month
comes three days before Saturday,
then which day will be the 17th
day of that month ?

(1) Sunday (2) Saturday
(3) Friday (4) Wednesday

terms of an alphabet
series are given with one term
missing as shown by (?). Choose
the missing terms out of the given
alternatives.

Various

DEF, HIJ, MNO, ?
(1) RST
(2) STU
(3) TUV
4) SRQ

NMMS-2022

(11)

33.

34.

35.

36.

C
T 981 H 6 FolehY 47
g, @ sdor § e W
Y F97 Udid BT 8 7
(1) 7:13
(2) 6:13
(3) 5:13
(4) 8:13
g fdS @ guiHer B Idc
HH H forEar s, a9t | 129

3B & adl SX &4t oTalY
HIT-ET BN 7

1) G

e U
eI

@ T
3) F

gt fedt A w1 Gaar R’RE
v & d9 &9 9sd ofr B,
@ IT HIE FH GFedl & HIA-AT
are B P

(1) e
(3) EHAT
I e & & 9w Ry
W E EH 8wk 9 R ©
& ueq e (?) | i &
2| Ry u fewedt § 9 R o=
BISECAISI

DEF, HIJ, MNO, ?

(1) RST

(2) STU

(3) TUV

(49) SRQ

4) T

(2) <THER
(4) g¥ar

P.T.O.
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Direction : (Question Nos. 37 and 38)

Select a proper group of letters from the
given alternative.

37.

38.

39.

40.

_a_b_abaa_bab_abb
(1) abbaa
(2) babba
(3) ababb
(4) babaa

qrp_q_ppqr_p_rpp
(1) qrqq
(2) rapq
(3) prpq
(4) rrpq

What is the angle between the two
hands at 7 : 30 in the Clock ?

(1) 45°
(3) 15°

(2) 60°
(4) 30°
A man walked 40 meters towards
North, took a left turn and walked
20 meters. He again took a left
turn and walked 40 meters. How

far and in which direction is he
from the starting point ?

(1) 20 meters East
(2) 20 meters South
(3) 20 meters West
(4) 100 meters South

NMMS-2022

(12)

feer - (989 EEar 37 ud 38)
U U foepeal § 9 STe T UH TRl
e U SeE Raa @& o0 gid 6
ST 9 |
37. _a_b_abaa_bab_abb
(1) abbaa
(2) babba
(3) ababb
(4) babaa
38. qrp_q_ppqr_p_rpp
(1) qrqq
(2) rgpq
(3) prpq
(4) rrpq
39. g1 § 7 otk 30 H9e 9T M0
Al & g e @It @ o
R P
(1) 45° (2) 60°
(3) 15° (4) 30°
40. UH HfRT IO AT #W STX 40

(1) 20 HrexX g4

(2) 20 HiexX aferor
(3) 20 Hiex 4fs=H
(4) 100 HieX aferor
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Direction : (Question Nos. 41 to 44)

In each of the following questions the
first words have a common
relationship. Choose one word out of the
given four alternatives, which will
replace the question mark (?), having
same relationship with the third, the
pairs are given as following.

two

41. Reading : Knowledge : : Work : ?
(1) Engagement
(2) Employment
(3) Experience
(4) Experiment

42. Paw : Cat:: Hoof : ?

(1) Lion
(2) Elephant
(3) Lamb
(4) Horse

43. White : Peace:: Red : ?
(1) Rose

(2) Hatred

(3) Violence

(4) Cleanliness

44. South : North-West : : East : ?
(1) South-East

(2) South-West

(3) North

(4) West

NMMS-2022

(13)

fEer - (997 HEr 41 § 44)
Feflfaa g@s 999 # Ued a ==
fopdl 7 6l a3 9 Uwh-gal 9 gefad
| Ru T ax el ¥ @ uw o
== g S g fre (7) & =
gy 37 9%l & R JEaX == 9 g9l
T 9 B | SIS 39 YR ’U 2 |

41. 9SAT : S : ¢ HMH @ 7
(1) &me
(2) VST
(3) AFHA
(4) =T

42, OoT : faeelt 2o g s ?

(1) A
(2) =t
(3) 9%
(4) =T
e : QNfe ¢ : AT ;7P
1) I
(2) gom
(3) &ar
(4) W=dr
44. =PRYOT @ ITR-GR=H ;o gd ¢ 7
(1) =feror-gd
(2) sferor-ui=H
(3) I
(4) 4f=E™

43.

P.T.O.
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45. Wednesday being Republic day
was holiday. The tenth day of the
next month  being Basant
Panchami was holiday. What day
was on 10th ?

(1) Wednesday
(2) Tuesday
(3) Friday

(4) Thursday

Direction : (Question Nos. 46 to 49)

In each of the following questions, 3
question figures are given as A,B,C and
four answer figures are given as 1,2,3
and 4. Select the figure from the answer
figures that will continue the series

given in the question figure.

46. Question Figures

T

A B c D

[m] [m]
. 0

Answer Figures

o P e T
a

o [T T
NMMS-2022
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45. gEEX H UG feqd @ gl
g1 ST Hem 104 R =9
el &l gedl et 10 e
HiA-ar faq o ?

(1) ggar
(2) HITEX
(3) YA
(4) T&IR

fesr @ (997 dEar 46 F 49)
Fefeead g 99 H 3 UsH
agfEt AB,C & &9 H oY IR 3%
sTpfeat 1,2,3 ofX 4 & &9 § & T
21 IAT SApREl H oI9S @
T AT ST 99 ARl | & R
SJEAT ol SR TE |

46. TS oTpfert
E] AV I;]Do - 2
l o]
B c D

IAX ST

o P e T
o T [T
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47. Question Figures 47, g9 -
Lax |2 A
i ? =P
AX o ' v N ?
A B c D A o s
Answer Figures SR AT
& @) 0 (1) @)
A A A
®3) A (4) o (3) A (@)
[m| A 0
48. Question Figures 48. U ITpiAT

A 4T A 14,

A B C D A B

Answer Figures SR SApfEt

o |V oA M @
® | @Y ® |

NMMS-2022
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C
49. Question Figures

!A:; \
O
B8

&
0

0

A G D

Answer Figures

(1) @)

e
$:0

G

(3) w 4) N

Direction : (Question Nos. 50 and 51)

In the following questions, choose a
figure amongst the four alternatives
which when placed in question mark (?)
space of figure (X) would complete the
pattern.

50.
(X)
M @
HENN
3 4
3) @ K
51.
?
(X)
o ¢y o
3) )
NMMS-2022

49. Us< oTpfrat
Ay aYaa
w9 IS
S SRR

- O
VAVILAVEC

fesr : (Js9 deEmm 50 wE 51)
FrfaRaa gedt & o) Ot & 9 o
Sl g+, B 5" STpla (X) & 997
fore () & TWH WX @1 STl Yed
g0 Bl ST |

50.
(X)
M @
HEAN
®) @ K
51.
‘?
(X)
o ¥l ©
®) )
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Direction : (Question Nos. 52 and 53)

In the following questions, from amongst
the figures marked 1, 2, 3 and 4 choose
the figure which satisfies the same
condition of placement of the dot(s) as in
figure (X).

52. Q<

o
o AN
(4)
53. .
(X)
(1) K " @ (}}>
3) 6\ (4) é/—\;
NMMS-2022

(17)

s ¢ (I d@=T 52 T 53)

ﬁﬂﬁ'@ﬁqﬁﬁﬁ,ml2
4F q 98 i g, S
SHl Ryl @ dgse HIr
i X)H B

52. Q<

3 AR
feig ST ol
FIAT & a6

o 75
(3) V
@
53. .
(X)
M K " @ (:)>
AN
@ AN @ é/—\;
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Direction : (Question Nos. 54 and 55)
Select the mirror image of the given

(18)

fesr : (9s deEAm 54 wd 55)
& M HEar /gl (X) @ sger =

number/figure (X). ?{ﬁm |
5. 24169 5. 24169
(X) (X)
1) 96142 1) 96142
2 Shroe @2 Shrae
3 eorbhds 3 earps
4 9@MMNS 4 0er S
55. 55.
(X) (X)
R R e

Direction : (Question Nos. 56 and 57)

Study the following number sequence
and answer the questions given below.

63745921873569437142769317

fesr : (9s deEEm 56 Td 57)
Frefiaa dear STIshT &1 oTeaas HY
S = AU T gsHl & IR |
63745921873569437142769317

56. How many prime number are in

56. QU T STPRH H fehasil STHH

the sequence which are g ® e i sl U 99

immediately preceded by an even e B Al @{FT e H TH

number but immediately followed fouy der 2 °

by an odd number ?

(1) 5 (2) 13 (1) 5 (2) 13

(3) 4 4) 7 (3) 4 4) 7
NMMS-2022
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57. How many ‘3’ number are in the
sequence which are immediately
preceded by an even number but
immediately followed by an odd
number ?

1) 4
@) 2
3) 3

4) 1

Direction : (Question Nos. 58 and 59)
The given figure (x) is followed by four
figures 1, 2, 3, and 4 such that (x) is
embedded in one of them. Trace out the
correct alternatives.

58. : l
(X)
(1) 2
(3) (4) Eg
NMMS-2022

(19)

Cc

57. Ru T Sgpd H Read ‘30 E,
e diop UBd W @ GEN ©
dfeh A de H Th fqud g
g7

(1) 4

@) 2

(3) 3

4 1
fesr : (9s deEEm 58 wd 59)
feam g3 U BE (x) =) REN 1, 2, 8,
AR 4 F § uF FH IR 2 | Sk (%)
= 9 fRel § Mifed 21 Sugs fased
Hl TE= Y |
58. : l

(X)
o)) 2)
3) (4) Eg
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59.

(1)

@)

B
A4
o 88
=

(4)

60. Kailash walks 3 kms to east and
turns south and walks 4 kms.
Again turn west and walks 6 kms.
How far he from the starting
point ?

(1) 5kms
(2) 6 kms
(3) 3 kms

(4) 7kms

NMMS-2022
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59.

60.

1)

—
o
o [

o 3 TR gd HI AR T @
ST &y & 3T ggar & SR 4
fprl =reram B 1 g ufdEs @ oiR
JeHy 6 fHAl F@ar g g8
ARMNF &g | fpasi gX 8 7

I

(1) 5 fRHr
(2) 6 frmr
(3) 3 fRHT

(4) 7 fRmr
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61.

62.

63.

64.

Select the related number from
the given relation :

583:295::486:7
(1) 291
(2) 378
(3) 487
(4) 581

Find the odd word from the given
alternatives :

(1) RTUX
) WUTQ
(3) GEDA
(4) ECBY

If A means +, B means x, C means

+and D means — , then the value
of 9A2B6D4C2is:

(1) 16
(3) 27

(2) 19
(4) 30

If4x3=14,5x4=18,6 x5 =22,
then find the value of 7 x 6 :

1) 20 2) 26

(3) 30 (4) 42

Direction : (Question Nos. 65 to 67)

How many triangles are in the given

figure ?
65.
(1) 10 (2) 12
3) 9 4) 5
NMMS-2022
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61.

62.

63.

64.

s -
TS ARl H BIgSl @ d@Emr el

?

&
g

65.

C

Ru o d@dy 9 Ge&faa |9 wr
T B

583:295::486:7

(1) 291

(2) 378

(3) 487

(4) 581

Ru @ fopedi § 4 FuH o=
ST ShIfSTY

(1) RTUX

(2) WUTQ

(3) GEDA

(4) ECBY

e A & 37 +, B 1 31 x, C H
3 + X D & 1 — T oI,
AW9A2B6D4C 2 % HW T
IfSTT. -
(1) 16
(3) 27

(2) 19
(4) 30

e 4x3=14,5x4=18,6x5=22
2, A 7x6 N A ST HIOT -

(1) 20 (2) 26
(3) 30 (4) 42
(J9T dear 65 9 67)

(1) 10
3) 9

2) 12
) 5

P.T.O.
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C (22)

66. /\

66. /\
(1) 10 (1) 10
(2) 8 2) 8
(3) 6 3) 6
4) 5 (4) 5
67. 67. ; ;
1 7 1 7
(2) 10 (2) 10
3 11 (3) 11
4) 9 (4) 9
Direction : (Question Nos. 68 and 69) o : (I G 68 TH 69)

How many squares are in the given VRIS STl #H g & g feaen
e

figure ?

68. 68.
(1) 18 2) 15 (1) 18 @) 15
(3) 25 4) 16 (3) 25 4) 16
69. 69.
(1) 12 @) 15 (1) 12 @) 15
(3) 20 4) 25 (3) 20 (4) 25
NMMS-2022
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70. If x means —, + means X, + means

+ and — means +, then find the
value of 175 -25+5+2x3+10:

1) -13
(2) 160
(3) 240
(4) 2370

Direction : (Question Nos. 71 to 73)

In these questions, a number series is
given with one term missing. Choose the
correct alternative from the given ones
that will complete the series.

71. 4,13, 28, 49, 76, ?
(1) 99
@) 111
(3) 109

(4) 122

72. 117, 96, 77, 60, ? , 32
(1) 40
(2) 49
(3) 50

(4) 45

73. 7,20, 58, 171, ?
(1) 216
(2) 284
(3) 509

(4) 441

74. If4x 2 =3 and 8 x 4 = 3, then find

the value of 21 x 7 :
(1) 4 2 3
3) 8 (4) 16

NMMS-2022

(23)

C

70. T x /1 ST — + FT T x, + H
el + SR — 1 ared HHT
S, ar 1756 —-25 =5+ 2x 3+ 10
FT HE ST BT -

(1) -13
(2) 160
(3) 240
(4) 2370

fasr ¢ (w7 d@Em 71 | 73)
= Ul § uh gE e &
5 ok 9' g« g1 Ru T faesedi

q ge faseg gHT S w1 g3
Sl & |

2
=

71. 4,13, 28, 49, 76, ?
(1) 99
@) 111
(3) 109

4) 122

72. 117, 96, 77, 60, ? , 32
(1) 40
(2) 49
(3) 50

(4) 45

73. 7,20, 58, 171, ?
(1) 216
(2) 284
(3) 509

(4) 441

g 4x2=3 X 8x4=3 8, a
21x7 o AN A HifoQ -

(1) 4 2) 3

(3) 8 (4) 16

74.

P.T.O.
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Direction : (Question Nos. 75 and 76)

The figure (X) is folded to form a box.
Choose the box from given alternatives
that is similar to the box formed.

75. a +7/
o | A%
X)
+
O | x| @ (o2
¥ .
@ Y @ x|z
76. %*‘
sl@l#|v
E
X)
@ #
o [HY @ [B?
@ P
® |v|P @ @

Direction : (Question Nos. 77 to 80)
Each side of solid cube is 15 cm. The
opposite faces of this cube are painted
Red, Green and Yellow. After this the
cube is cut into small cubes whose each
side is 3 cm. Answer the following
questions on this basis.

77. How many such small cubes will
be obtained which have red and
green colour on only two faces ?

(1) 12 @) 8
(3) 36 (4) 24
NMMS-2022

(24)

fesr : (Js9 dEm 75 ud 76)

e (X) f=r sAm &% T Her T g
R T faedi & | Uar fOeea (fe=m)
A S gAY W fes % FHEY |

75. 0 +7
« |AIX
X)
+
O [x]) @ [g]A
¥ .
® vt @ x 8
76. S
$|@l#|v
xS
X)
@ #
o | +HY @ xE°2
@ T
@ v|P @ ﬂ@

UF S ° H TAH Yol 15 G B
=9 g9 & [gUdd %ol I I A,
B R 9 [T | T AR B TEH
e 29 3 @HI Yo dlcl " Thsi |

Al @ I dIfoTT |

77. U A< BIC 99 Ut 8/ s
Had & HaHh UT AT AR B

[T 8r ?
1) 12 @) 8
(3) 36 (4) 24
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78. How many such small cubes will
be obtained which have yellow
colour on only one face ?

(1) 8 (2) 12
(3) 18 (4) 54

79. How many such small cubes will

be obtained which will not have

red, green and yellow colour on
any of the faces ?

(1) 125 (2) 25
3) 8 (4) 27
80. How many such small cubes will
be obtained which will have red,
green and yellow colour on only
three faces ?
(1) 12 2) 8
3) 25 (4) 54

Direction : (Question Nos. 81 and 82)

In the following number series find the
number which is wrong according to the
series.

81. 7,17, 11, 15, 15, 13, 19, 9, 23
1) 9 @) 11
(3) 23 4) 15
82. 8, 4,6, 15, 52
1) 4 (2) 52
(3) 15 4) 8

Direction : (Question Nos. 83 and 84)
The three different position of a dice are
given below. Select the suitable answer
of the following question.

+
< | @

*

7 #

@
# E

NMMS-2022
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C

78. UH fhaw BIC 99 U< el o
Had Th Haleh UX gier 37 8 7

(1) 8 (2) 12
(3) 18 (4) 54

79. UH fhad BIC 99 9T 8 e
fpdl ot B X @9, B8O o)
dieT 1 7&F e ?
(1) 125 2) 25
(3) 8 (4) 27

80. TY fha< BIC 9 U &M [ieeh
Had A el U¥ A, 84 31X
dieT BT 8F 7
(1) 12 2) 8
(3) 25 (4) 54

feer : (999 EEar 81 ud 82)
qE A TR dem gEer §ode g
ST B S AT & ATIR A E |

81. 7,17, 11, 15,15, 13,19, 9, 23
1) 9 2 11
(3) 23 4) 15
82. 84,86, 15,52
(1) 4 (2) 52
3) 15 4) 8
eer : (999 Eer 83 wd 84)

TF qrEl i A S-S Rafa A=
& M ) FAfREd 9|l % S9gEd
IO T T B |

+

@
# 3

< | @

P.T.O.

Downloaded from cclchapter.in



C

83. What is the symbol on the opposite
surface of ¥ ?

1 3
3 @

@) +
(4) x

84. What is the symbol on the opposite

surface of § ?

1 X (2) x

3 + (4) #

Direction : (Question Nos. 85 to 87)

In the following questions there are
statements followed by conclusions.
Choose the conclusion(s) which must
logically  follow from the
statements.

given

(1) If only conclusion I follows.
(2) If only conclusion II follows.

(3) If neither conclusion I and II follows.
(4) If both conclusion I and II follows.

85. Statements :
All Apples are Mangoes.
Some Mangoes are Guava.
Conclusions :
I Some Guava are Apples.

II Some Guava are Mangoes.

86. Statements :

Some buses are vans.

Some vans are motorcycles.
Conclusions :
I Some vans are buses.

II Some motorcycles are vans.

NMMS-2022

(26)

83. ¥ & faudig Tdes WX -1 ==

g7
1) $ (2) +
®3) @ 4) x
84. g?ﬁﬁﬁwwaﬁﬂ—wﬁ%
1R (2) x
@) + 4) #
st : (I dEAr 85 | 87)

Frfaad gsal H, &9 % de FeRd
g | Frpy &1 = ® S RT Mg el
q difebs BT A FATALOT Y |

(1) g Haa F=py 1 AFAXOT &I 2 |
(2) aE Faa MRy 11 SAFEOT HIT © |
@) g 7 @ =y I R F & 11

HATHTOT HAT 2 |
(4) afs Frepd 1 X I 91 ATERT
FXA 2 |
85. =HY :
4T d9 T 2 |
BB AW IHEE € |
frpy
I HB o™Ee 49 2|
II {5 T\ EE T 2 |

86. HYT :
FHe T4 99 2 |
BB I HIETHEG 2 |
ey -
I 3B a9 99 21
II % Hexdsthd o9 € |
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87. Statements :
Some dogs are cats.
No cats are rats.
Conclusions :
I Some cats are dogs.
IT Some rats are dogs.

Direction : (Question Nos. 88 to 90)
The answers to the following questions
are based on the diagram given below.
Where the circle represents students
studying Mathematics, the triangle
represents students studying Science
and the square represents students
studying Geography.

88. Number of students who study
Mathematics and Science but not

Geography :
1) 7 2) 5
(3) 4 (4) 6
89. Number of students who study
Mathematics, Science and
Geography :
(1) 5 (2) 6
3 7 (4 4
90. Number of students who study
only Mathematics :
(1) 3 (2) 4
(3) 6 4) 7
NMMS-2022

(27)

87. /Y :
FB Fl fafeedr 2
®g et Fer 7 B
e -
I %5 el & )
I B I FI ¢ |

feer = (9977 Eer 88 | 90)
=feaa ussi & IAX A
MR WX e €, Sier
g ard BEN, FrYs fgase ge

gfat~ferea sar 2

88. 39 BMEI & GEAT, S O X
s ded € A i @l

Ted
(1) 7 @) 5
(3) 4 4) 6
89. 39 BEI & HE, S OM,
e IR 9 Jed ©
1) 5 2) 6
(3) 7 4) 4
90. 39 BEI ol G&T, S dhad IO
Ued ©
(1) 3 (2) 4
3) 6 4) 7

P.T.O.
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PART - II (T - II)
SCHOLASTIC APTITUDE TEST

Aferer arar gderor

Questions : 91 to 180

91.

92.

93.

94.

The animals that produce new
young ones are called :

(1) Viviparous

(2) Oviparous

(3) Both (1) & (2)

(4) None of these

5 26
If 2y+—="——y,theny=:
Yy 37 3 Yy Yy

M1 2)

6
3) 5 (4)
Why did Mahatma Gandhi visit
Champaran ?
(1) To see the plights of Indigo
planters in Champaran
(2) To see the progress of Indigo
plantation
(3) To see the managing system of
company

To collect the revenue

(4)

Who among the following was
associated with the
Republican Association ?

(1) Subhash Chandra Bose
(2) Mahatma Gandhi

(3) Bhagat Singh

(4) Laxmi Sehgal

Hindustan

NMMS-2022

91.

92.

93.

94.

Time : 12 Hours

I SMEX ST F= UEl R ©,
Fedrd & :

(1) d=a1 S99 91

(2) =T 3 g

(3) @ (1) X (2)

(4) TH q Fg Tl

RIEY 2y+§=%—y, Ay B HAMA
B -

M1 2)

(4)

W~ w|ro

6
3) =

HEHT el =URE =T #=&f T ?

(1) 99T § i 9GRS |IeTeh
H oL 3@ & g

(2) Al SRS ARl &1 99T
3@ & fou

(3) HIAT H UFET YOSl @
% fog

(4) TSTET THA HIA B [T

Feffad 3 @ i EgEe
Rufscter TaNfues & Sfer ar ?

(1) g9y =iz <19
(2) HeTHT e
(3) wa &

(4) T T
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95.

96.

97.

98.

99.

100.

How many features are required
to construct a quadrilateral ?

(1) 4 (2) 5

3) 6 4) 3

A square carrom board has a
perimeter of 320 cm. How much is
its side in cm ?
(1) 100

(3) 60

(2) 80
4) 90

Which of the following resource
has commercial value ?
(1) Clean environment

(2) Panoramic view
(3) Cotton clothes
(4) Pleasant weather

The policy of merger was given by
which English man ?

(1) Warren Hastings
(2) Lord Dalhousie
(3) William Bentinck
(4) Lord Wellesley

The fight for Purna Swaraj was
fought under the presidentship of :
(1) Mahatma Gandhi

(2) C. Rajagopalachari

(3) Sardar Vallabhbhai Patel
(4) Jawaharlal Nehru

It 1is difficult to walk on ice
because :

(1) pressure is high

(2) pressure is low

(3) friction is high

(4) friction is low

NMMS-2022
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95.

96.

97.

98.

99.

100.

C

el =IgYsT o o & o feRae
e (S &) STasas € 7

1 4 2 5

3) 6 4) 3

TH FMHR HH S H URANY
320 THI B IEH G H A

aar § = e ?

(1) 100 (2) 80

(3) 60 (4) 90

= "7 9 e darEM @
o g7 © °?

(1) =5 FETeT

(2) HEIRH 3™

(3) gl o

(4) gea Jred

giwa%:ﬁﬁrﬁmaﬁﬁaﬁé—vr
?

(1) IR+ 2RE™
(2) o€ s=I
(3) faferow €ifdss
(4) @S AT

fopeanl  eTemerar |
SEIERSE I N
(1) w&TeHT e

(2) €. JTSFEgEATET

(3) OER acIHHATS Jod
(4) SR Aew

% U TAAT Hied & Fifh ¢

Qi RS 6

(1) =19 offers 8
(2) T FT B
(3) TYur cIferek B
(4) 9997 %9 B

P.T.O.
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101. In a pie chart data is converted
into :
(1) Line
(2) Angle
(3) Circle
(4) Percentage
102. Here are the names of resources
and their types. Look at the
options and state which option is
not correct ?
(1) Coal — Non-renewable
resource
(2) Petroleum  — Non-renewable
resource
(3) Water — Non-renewable
resource
(4) Solar Energy — Renewable
resource
103. If the angle of incidence is 50°,
then calculate the angle between
the incident ray and the reflected
ray :
(1) 50°
(2) 130°
(3) 80°
(4) 100°
104. Which of following chemical
method i1s used for purifying of
water ?
(1) Fluorination
(2) Chlorination
(3) Bromination
(4) Filtration
NMMS-2022

(30)

101.

102.

103.

104.

qE =re H BH ofiksl &I fhaH
gET ad & °?

(1) g

(2) 9T

(3) g

(4) yfdsra

TET GEEEl & A g 39 bR
feu @ | a1 T o)
gaey & HE-ar Oeey a8 &
g7

(1) I - STHAIRLONT Fare

(2) TSI - STHARLOTT dareq

(8) oI ~ TR0 9ares

(4) QT FHoTl — AR ong Gare

g ofUad &HOT 50° B,
Tufaa fRYer wd gyEfad et
% &I ®H HIOT Bl TIET B :

(1) 50°
(2) 130°
(3) 80°
(4) 100°

= H§ 9 ea aEtes @i &
SUIRT Tl g B b [
T Sar & °?

ORSINEEE

(2) FAAH

(3) SHMH

(4) BT
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105.

106.

107.

108.

109.

What is the additive identity of
rational number ?

(1) 0

2 1

3) -1

(4) 2

What steel was Tipu Sultan sword
made of ?

(1) Stainless Steel (2) Wootz

(3) Silver (4) Gold

Lahore Gate Improvement Scheme
was launched in :

(1) 1888
(2) 1886
(3) 1911
(4) 1936

The place where an Earthquake
originates is :

(1) Centre

(2) Epicenter

(3) Focus
(4) Apex
Which of the following is an
important component of soil

formation ?

(1) Parent Shell
(2) Flora

(3) Climate

(4) All of the above

NMMS-2022
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105

106.

107.

108.

109.

C

. URHT "@Em wl AT ged
M e 7

(1) 0

@ 1

3 -1

(4) 2

Y g H deEr e &
q gl 7

(1) SERIE €I (2) g2t

(3) =i (4) ==

AR T guR Al P& H TS
ot -

(1) 1888 ¥

(2) 1886 H

(3) 1911 ¥

(4) 1936

a8 T el ¥ UaT Bl 8

1) &=

(2) AfE=

(3) ®IhHd

(4) fariferg

1 & | @9-ar gar FEier &
He@yol g2 § 7

(1) 59 AA

(2) arEaferSTTe

(3) STteryg

(4) SUET gl

P.T.O.
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110. How many sepoys were dismissed
from service and sentenced to ten
years in jail on 9 May, 1857 ?

(1) 80 (2) 85
3) 90 (4) 95

111. Where did the word Calico come

from ?
(1) Calicut
(2) Kolkata
(3) Karnataka
(4) Kandla

112. If (504 + P) is a perfect cube
number, whose cube root is P, then
value of P will be :

(1) 6
(2) 4
3) 2
4) 8

113. Women and Men who carried
basket loads of iron—ore on their
heads were called :

(1) Wootz (2) Agaria
(3) Bandana (4) Cossaes

114. The British thought surveys were

important for :

(1) Writing History

(2) Effective Judgement

(3) Effective Administration

(4) All of the above
NMMS-2022
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110.

111.

112.

113.

114.

9 U2, 1857 &I Thaw faureal =
Tar 9 F@ied T T oY &9
e & gorr &1 T 7

(1) 80 (2) 85
(3) 90 4) 95

Hicrepl == fpad Fepar 8 7

(1) Fefhe q

(2) HIAHEAT A

(3) FATEH A

(4) wHisaT A

e B
P &1 AMF

el

e (504 + P) U%h
g, ar

fSraer a7 qa P g,
S &Y -

(1) 6

(2) 4

3) 2

4) 8

g HAfeemd iR gEY S
de-oT%h &1 9 fax
X A U, Hedd I -

(1) gt (2) ST
(3) g (4) P

TS @ faara e 6 gdefor
=g Bl 8

(1) sferg foreq & g

(2) A= TRE BEA o & AU
(3) T TE U AwEA B & g
(4) SURT Gl
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115.

116.

117.

118.

119.

If 3x74 is a number divisible by 9,
then the least value of x is :

1 1 ©2) 2
3 3 4) 4

Who said these "Education means
all round drawing out of the best
in child and man body, mind and
spirit" ?

(1) Swami Vivekanand

(2) Rabindranath Tagore

(3) Mahatma Gandhi

(4) Plato

Who allowed the British to trade
in a limited area in Bengal ?

(1) Jahangir

(2) Aurangzeb

(3) Bahadurshah Zafar
(4) Shahjahan

The factor of 49P% — 36 are :
(1) (7P + 6)*

(2) (TP -6)°

(3) (7P —6) (7P + 6)

(4) (6-T7P) (7P + 6)

The area of a rectangular field
whose length is twice its breath is
2450 m2. What will be its length in
meter ?

(1) 35
(2) 70
(3) 45
4) 90
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119.

C

gfe ge=ar 8x74, 99 9T &, ol x

B IATH HH BN ¢
1) 1 2) 2
(3) 3 4) 4

I s el fRrerm @1 o1 a1k
SR HgS & R, A SR SACAT
ORSICIRCEEIRES

(2) e MY

(3) HerET e

(4) <t

SIS & S H A & o
IR &I So(eld he- & 7

(1) STErRiT

(2) ST

(3) TBIGISME STHT

(4) SMESTET

49P% — 36 T UEUS B :
(1) (7P +6)?

2) (TP -6y’

(3) (7P —6) (7P + 6)

(4) (6—TP) (7P + 6)

Th TFgYRR T fSTEe g
dreE  H g, W A
2450 = WY B | SHH TS HieX
o Fr Brh 7

(1) 35

(2) 70

(3) 45

4) 90

P.T.O.
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120.

121.

122.

123.

124.

Find the cube of (2 -0.3) :
(1) 7.73

(2) 4.913

(3) 4.713

(4) 7.713

40% of 50 students of a class are
good at Science.
students are not good at Science ?

(1) 20
2) 30
(3) 25
(4) 35

How many

The example of cylindrical shape
is :

(1) Pipes

(2) Gas Cylinder
(3) Cold Drink Can
(4) All of the above

The height of a cylinder whose
radius 1s 7 cm and total surface
area is 968 cm? is :

(1) 15cm
(2) 17cm
3) 19cm
(4) 21 cm

Area of a square plot is 2401 m?.
Find the side of square plot :

(1) 49 m
(2) 48 m
3) 59 m
(4) 39 m
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120.

121.

122.

123.

124.

(2-0.3) T 99 FT X °?
(1) 7.73
(2) 4.913
(3) 4.713
(4) 7.713

50 BT %l TH T H 40 s
B faem & o= B fham s
fosm § o= 7878 7

(1) 20

(2) 30

(3) 25

(4) 35

ATTTRIT STIT T BT B -

(1) qrz9

2) T faqusx
(3) wice F&H A
(4) ITaFd Tl

Teh IR S &1 g
B 968 THIZ T qAT IAMI
Brogr 7 & B, O SEH e
=it 2rft ?

(1) 15 9=t

(2) 17 I+

(3) 19 I+t

(4) 21 9+

BT e Bl AABA 2401 =2
g | e &H ST T BT ?

(1) 49 =

(2) 48 =i

(3) 59 #Hi

(4) 39 #H
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125.

126.

127.

128.

129.

If (—3)™"! x (-3)° = (=3)", then the
value of m is :

(1) 5

2) 7

3 1

4) 3

If x and y are directly
proportional, then which of the
following is correct ?

(1) x+y=constant
(2) x—y = constant
(3) xy = constant
(4) x/y = constant

The scale of map is given as 1 :
300. Two cities are 4 km apart on
the map. The actual distance
between them 1is :

(1) 1000 km
(2) 1100 km
(3) 1200 km
(4) 1300 km

Which of the following is the
common factor of :

5xy, 3pqr and 40xyz
1) 5 2) 0
(3) xy 4) 1

865000 is equal to :
(1) 8.65x 10°
(2) 8.65x 10?
(3) 8.65x 10°
(4) 8.65 x 10*
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C

g (-3)™" x (=3)° = (-3)7, @ m
T HE BN :

(1) 5

2) 7

3 1

4) 3

e x AR y FATGURT 8, aI =9
q a1 9Er B 7

(1) x+y= Rk

Q) x-y= s

(3) xy = R

4) x/y = ¥e®

Ueh HMEEE & 99T 1: 300 f&=r
T OB & Y HEREE U 4
feRer w2l 3k S
gt g feha=l BrEf ?

(1) 1000 FRHT

(2) 1100 fHHT

(3) 1200 fHT

(4) 1300 FRHT

Ru Q0 q&f § 9@ eHEcS #=
N 7

5xy, 3pqr 3NY 40xyz
Q) 5 2) 0
(3) xy 4) 1
865000 &RTEX & :
(1) 8.65x 10°

(2) 8.65x 10?

(3) 8.65x 10°
(4) 8.65x 10*

P.T.O.
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130.

131.

132.

133.

By joining (-1, —1), (0, 0) and (3, 3)

represent :

(1) atrangle

(2) a curved line

(3) a straight line passing through
origin

(4) a straight line not passing
through origin

the

Violence Act passed in India ?

In which year Domestic

(1) 2004
(3) 2006

(2) 2005
(4) 2007

Which
number
Sabha ?

(1) Haryana

(2) Uttar Pradesh
(3) Punjab

(4) Bihar

Match List—1 with List—2 :
List-1

has
of members

maximum

in Lok

state

List-2

State Location of

Atomic Power

Station
(I) Kalpakkam
(II) Kaiga
(¢) Karnataka (IIT) Narora
(d) Tamil Nadu (IV) Tarapur
(1) a-1v, b-III, c-II, d-I
(2) a-1, b-111, c-II, d-1IV
(3) a-I, b-11, c-I11, d-IV
(4) a-1v, b-III, c-I, d-II

(a) Maharashtra

(b)

Uttar Pradesh
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130.

131.

132.

133.

(-1, =1), (0, 0) STIX (3, 3) &I HAM

U UT<l B8R :

(1) o s

(2) TH q=h @

(3) Th WA @ S HA &g |
TRl B

(4) TH WA @ S oA &g |
SEIN LG

ARG H fRE a¥ ;| BEr @
qrg fhar =T v
(1) 2004
(3) 2006

ARaT § 999 it ge fha
T T

(2) 2005
(4) 2007

(1) srREm™n
(2) ITAX U=
(3) goITe
(4) 'R
-1 & -2 " gAled
FHifoTa -
gei-1 -2
T QRHATI] FHSll
P& B T
(a) HEISE (D HAIFRH
(b) IAX UILT |(AD) B
() HACH 11D T
(d) dHEArg | AV) dRIgY

(1) a-1v, b-I11, c-1I, d-I
(2) a-I, b-I11, c-1I, d-1IV
(3) a-I, b-11, c-111, d-IV
(4) a-1v, b-I11, c-1, d-II
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134.

135.

136.

137.

Which of the following factors
affect the location of industries ?

(1) Availability of raw material
(2) Proximity to market

(3) Availability of water

(4) All of the above

Where did the biggest gas tragedy
in the world ?

(1) Chennai
(2) Jaipur
(3) Bhopal
(4) Gujarat

Article 21 of the
Constitution guarantees :

(1) Right to Speech

(2) Right to Life

(3) Right to Freedom

(4) Right to Information

Indian

Which of the following
statements is not correct regarding
the population pyramid ?

one

(1) Population pyramid is also

called age sex pyramid.

(2) Population pyramid gives us
an idea of the income level and
health conditions of people of

different age groups.

In countries with low birth
rates, the base of the
population pyramid is narrow.
The wide base of the

population pyramid indicates
high birth-rate.

3)

(4)
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C

M= # 9 HE-91 ®RE IR
% AARATT I AT Har & ?

(1) = A Bl IuTeEIdr
(2) SIS &1 fehedr
(8) ST I IUTEIT

(4) IUUFT Tl

fasg & 999 9t A9 TEE BBl
gs ?

(1) a2

(2) STAgX

(3) AT

(4) Israd

AR digarT w1 eTgEsE 21
TS AT B

(1) 49T k1 AR

(2) STa &1 ATAHR

(3) Wa=dl &I IHT

(4) gIAT H1 AfER

SHaEr fUuis & ddy § =
¥ q H9-91 e 9el Jg e ?

(1) SEE [OUis &l A1y
i 41 #=d 2 |

(2) swEE fRifte | &9 fafr=
AY o & AN H AT ®

WX g W AT & Oy
2T B |

(8 A S TX g e« H
SHEEr  UUiEE #r SAER
Th BT B |

(4) JEE  ufEe & =Jer
MY I=F SF9-&¢ Bl QAT
2

feiTT

P.T.O.
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C

138.

139.

140.

141.

142.

Which of the following is not a
method of land
conservation ?

suitable

(1) Checks on overgrazing
(2) Deforestation

(3) Regulated use
pesticides

of

chemical

(4) Land reclamation

Which of the following is called
golden fiber ?
(1) Jute
(3) Silk

(2) Cotton
(4) Wheat

Who does file the FIR ?

(1) Police men

(2) Lawyer

(3) Judge

(4) Public Prosecutor

Where are the aims of the
constitution mentioned ?

(1) The Preamble

(2) Fundamental Rights

(3) Directive Principle

(4) Fundamental Duties

Which statement is true regarding

sparsely populated areas ?

(1) The regions where there is

extreme cold, sparse

population is found.

Hilly areas

inhabited.

Equatorial regions receive

heavy rainfall, so there is less

population.

(4) All the above statements are
true.

2) are sparsely

3)
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141.

142.

e & | - g e &
Th IUGHd TR TET & 7

(1) STf=meT 9¥ Uk

(2) T

(3) TS FIeT=ThT Ba
faf =i SgaET

(4) I TR

M= 7 & fhd gaew I FEl
SITar B 7

(1) Jead (2) U

(8) =M (4) g

T, . oM. (FIR) &9 &
FIAT B ?

(1) g

(2) THIA

(3) =ATITERST

(4) R FHIA

dfaae & IR B geiE HaEl
fpam T ' ?

(1) g&amE=T §

(2) Aifers srferept &

(3) Hif-frdses fasial ®

(4) M wdeat |

forer =9 gl & dag H

HT-91 HIT GF & °?

(1) 59 uesit # Ao T2 el
2, F@r o SuEer uE

STt 2 |
(2) JaiT & foRe 979 8¢ 2 |
(3) qHeREE g3 H  oTfs
gyt el T, sdY gef

THEET Y 2 |
(4) IUFT G FAH T 2 |
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143.

144.

145.

146.

147.

Which of the following right aims
at making India a Secular State ?
(1) Right to Freedom of Religion
(2) Right to Equality

(3) Right to Education

(4) Right to Freedom

Which is an organization that
arranges toilet facility in the cities
and towns ?

(1) Sulabh

(2) Bharat Vikas Parishad
(3) Muhalla Sudhar Samiti
(4) Private Company

Where 1is the
located in India ?

(1) Chandigarh
(2) Kolkata

(3) Mumbai
(4) Delhi

supreme court

Which of these countries is the
leading producer of coffee ?

(1) Brazil
(2) Indonesia
(3) China
(4) India

Which of the following industries
are owned and operated by
producers or suppliers of raw
materials ?

(1) Private Sector Industry
(2) Public Sector Industry
(3) Cooperative Industry
(4) Joint Sector Industry
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C

fFr=fafag § 9 f-ar SR
I Bl gHLUET ST 8 7

(1) enfier wa=rar &1 AR
(2) FHMAT &I S(UHR

(3) feremm =B1 AR

(4) @Wa=dl Bl SR

HE-A dEr el AR sl A
QIr=reTd giaer Iueiel Hqal 8 7

(1) g4

(2) 9T fIerd aRug
(3) HigwT gaX o
(4) TS U=l

gRd H galed Ead Fel Red
27

(1) IEre §

(2) HraehIar H

(3) gr=g |
(4) et o

g9 9 Hie-4ar 29
3O I«EH & 7

(1) SISt

(2) gSHRET

(3) ==

(4) |9XT

M= d 9 o SR 1 @i
q G Hed "I & SdEs Al
EREISURCCIRER IS S -

BBl T

(1) ™=t &= & IgArT
(2) QSR & & I
(3) BRI I

(4) TIFT & F ITAT

P.T.O.
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148.

149.

150.

151.

152.

Who presides over the Lok Sabha ?
(1) Prime Minister

(2) Speaker

(3) President

(4) Vice President

Which is the highest law-making
body in our country ?

(1) High Court

(2) Supreme Court
(3) Parliament

(4) Sarpanch

Which of these minerals is a non-
ferrous metallic mineral ?

(1) Iron Ore
(2) Manganese
(3) Chromite
(4) Copper

A plastic which can not be
remouled again by heating is :

(1) Polyethene

(2) PVC

(3) Polystyrene

(4) Bakelite

Which of following gas is used to
control fire ?

(1) NHs (Ammonia)

(2) H2 (Hydrogen)

(3) CO2 (Carbon Dioxide)
(4) F2 (Fluorine)
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152.

BT I STRIAT BT HIAT & 7
(1) ge=HEAT

(2) EBT

(3) rsgyfer

(4) IUSEYIC

AR o9 H Hared HMA a9
ol TR A B 7

(1) == =T

(2) gar=g <A

(3) HHE=

(4) |a=

ES IS B0 o | MG [ i B [ 1 =4
enfeaes @iveT & 7

(1) e 3T9%h

(2) BT

(3) HHERT

(4) oi=T

Th WResh T SHSAT a9
F&T foha1 ST 9ehal g8 © -

(1) dfeien=

(2) di.ar..

(3) Uiz

(4) THaTST

155 Raa = M= B =7 1 £ M=) A 1
T & FERE w1 & e e
ST 8?7

(1) NHs (eTHit=m)

2) H: (e/EgioH)

(3) CO: (FET SZATFAZS)
(4) Fo (FA0H)
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153. The bumper and door handles of
motorcars are coated  with
chromium because :

(1) It does not easily get corroded
(2) It does not easily get scratched
(3) It tarnishes quickly

(4) It is cheap

Which one option is not a correct
cause ?

154. A whistle produces sound because :
(1) It stores air
(2) Air vibrate
(3) Person produces vibration
(4) All of the above

155. Refrigerating gases which harms
ozone layer :

(1) MFC (2) CFC
3) LPG (4) DFC

156. The process of removing salt from
sea water is called :
(1) Calcination
(2) Desalination
(3) Evaporation
(4) Condensation

157. The amount of Heat Energy
produced on complete combustion
of 1 kg of a fuel 1s called :

(1) Calorific Value

(2) Significant Value

(3) Latent Heat

(4) Internal Energy
NMMS-2022
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C

Hevh & 97 X @ &
Ted U¥ HIHIH H 9Xd TS Bl
2 it -

(1) g& STEFT 9 @O J8! erll 8
(2) FE TE™I ¥ @ el e B
(3) TE STl gie B Sl ©

(4) g & B

SWad H ¥ -4 faed 9@t
TR ?

(1) g8 =41 & 999 HCT 8

(2) BAT HIT HLA B

(3) AfFT I YT HLT &

(4) IURT THI

geiifad I S T 9xd &
g ggam © -

(1) MFC

(2) CFC
(3) LPG

THET ST d 99T &l G HIA B
gfehaT el © ¢

(1) e

(2) AAAONHIOT

(3) aTSdIRTT

(4) G911

fpel 1 fopetiome 29 &1 9ol a8
FH TR IO B Il S
il &I HeET Sl 8

(1) e 7=
(2) 9l 9=
(3) T FSAT
(4) STARE Holl

(4) DFC

P.T.O.
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158.

159.

160.

161.

A bomb explodes on the moon.
How long will it take for the sound
to reach the Earth ?

(1) 10 Second

(2) 1000 Second

(3) 1day

(4) Sound will not be heard

Two plane mirrors are kept at the
following angles one by one. In
which case i1s the no. of images

formed maximum ?
(1) 60°
(2) 30°
(3) 45°
(4) 90°

Iron 1is
with :
(1) Chromium
(2) Sodium

galvanized by coating it

(3) Magnesium
(4) Zinc

After the sun, the next nearest
star to Earth is :

(1) Alpha Centauri
(2) Polestar
(3) Sirius

(4) Proxima Centauri
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g9 9¥ 99 %edl 21 @ i
gedl T ggad H feaer @w e
T ?

(1) 10 EF°s

(2) 1000 EFHvE

(3) 1=

(4) = gag el 2

3 gHAd IYON I TH-Uh b
frrfeRad Ion 9x 3@ ST 2
fpa Rafg § s ar ufafesat
FI der Afgmay g 8 7

(1) 60°

(2) 30°

(3) 45°

(4) 90°

SIEINC B (G SRR A R C2rc o MR RS |
TET T fhar SEr B ?

(1) =pIfFEH

(2) HitsTH

(3) H=iifarEm

(4) tSies

g4 % 9e gl H ST
fMeheay arT ' -

(1) TTHI T

(2) ga ara

(3) Hirad

(4) diferRgHT |
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162.

163.

164.

165.

166.

Arrange the following planets in
increasing order of time required to
complete one revolvation around
the Sun :

(1) Earth
(111) Mars

(1) 1,11, 111, 1v

(1) Uranus

(iv) Jupiter

(@) i, iii, iv, ii
(3) iv, i, ii, i

(4) 11,111, 1, 1v

Acid Rain mainly constitutes :

(1) Sodium Chloride

(2) Sulphur dioxide and Nitrogen
dioxide

(3) Hydrochloric Acid

(4) Carbon Tetrachloride

The most Reactive metal is :
(1) Copper

(2) Silver

(3) Calcium

(4) Sodium

The synthetic fiber that appears to
resemble wool is :

(1) PET
(2) Acrylon
(3) Rayon
(4) Nylon

Friction can not be reduced by :
(1) Making the surface smooth
(2) Making the surface rough
(3) Lubricating the surface

(4) Using ball bearing
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166.

1) i, i, iii, iv
(@) i, iii, iv, ii
(3) iv, iii, ii, i

(4) ii, iii, i, iv

A aui & Y& =g ¢
(1) |feaq FaRES

(2) ITHT SEATFAES
SIS SEATFAES

(3) eSS 3T+

(4) T STEANSS

qaites Rl a1g 8 -
(1) Ex

(2) =<t

(3) biesaH

(4) aifsaw

ST & Hedl e o dwifivd
I FH AW B

(1) 9e
HRUESIE]
(3) ==
(4) ST

gYOT I HH FET AT ST Gehell -

(1) 98 &I ™A1 a9

(2) TTe & GREX FEHT

(3) Adel 9X Bk MEhY

(4) S FATET BT IYART Hh
P.T.O.

aqAar

Downloaded from cclchapter.in



167.

168.

169.

170.

171.

What is rust ?
(1) Copper oxide
(2) Zinc oxide
(3) Sodium oxide
(4) Iron oxide

Burning coal in a closed room will
produce :

(1) NO2 (Nitrogen Dioxide)
(2) CO2 (Carbon Dioxide)
(3) CO (Carbon Monoxide)
(4) O2 (Oxygen)

The chemical substance rich in
nutrients are called :

(1) Fertilizer
(2) Weedicide
(3) Pesticides
(4) Herbicides

A book of mass 20 g is placed on a
table. Find the thrust exerted by
the book on the table. (Take
acceleration due to gravity as
10 ms™)

(1) 0.2N
(3) 200 N

@) 2N
(4) 20N

Name the sphere that supports life
and where living organisms exist :

(1) Atmosphere
(2) Lithosphere
(3) Biosphere
(4) None of these
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169.
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171.

ST T B 7

(1) U SRS
(2) TSI SfieraEs
(3) |ifsgH ATFAZS
(4) A ATFAES

g% HAX H HIAA B SAAd Iod—
HIAT & -

(1) NO: (FTEgisH SEHFES)
(2) CO: (FET SEATFARZS)

(3) CO (FEA HAASTFIES)

(4) O (SATFdSH)

queh  dell @ WY 9w
qaref FHeEdrd @

(1) IaH

(2) TXEAATIRN

(3) HieAITH

(4) TR

20 UM ZHHM & Teh &I i
TWh Bl UX Y@M T B OAS WX
g% SR Al T 9 S
HIT | (TEAET @O 10 ms™? &
g H )
(1) 0.2N
(3) 200N

2 2N
(4) 20N

SS9 &F H AW FART S Siad
T FHAT HIAT 8 X TeT Siifad

SICES CHCE
(1) agHsd
(2) TITHSA
(3) SigHsd
(4) 379 | g TEl
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172.

173.

174.

175.

176.

Which
AIDS ?

(1) A protozoa
(2) A bacteria
(3) A virus

(4) An algae

microorganism  causes

In humans, the development of
fertilized egg takes place in the :

(1) Ovary
(2) Oviduct
(3) Testis
(4) Uterus

When a sperm having X-
chromosome fuses with the ovum,
the child born will be :

(1) Male
(2) Female
(3) Male as well as female twin

(4) It depends on the chance of
fusion

The soil formed by decayed organic
matter is called :

(1) Pesticide

(2) Fertilizer

(3) Humus

(4) Biocide

Chromosomes are found in :
(1) Nucleus

(2) Nucleolus

(3) Nucleoplast

(4) Vacuole

NMMS-2022

(45)

172.

173.

174.

175.

176.

C

HF-IT GeHSid Ugd W HROT
T B 7

(1) TH WSS

(2) TH SEFIRAT

(3) TH I

(4) TH arT

gl |, o e @ e
2T © ¢

(1) s H

(2) FETarte-r |

(3) gueT H

(4) T H

S X- el e S &%

arer B S g, o UsT e are

=T BRT ¢

(1) =X

(2) AT

(3) X 3R HIET At

(4) I8 HaI9 H  GHEEAT 9X
19X ear B

9e g¢ FHEH gErEi & o =
et el ®I FHeT S 8
(1) HieAH

(2) IETH

(3) &HH

(4) FEAEES
TS T E

(1) =1k o

2) e o

(3) iR H

(4) Ricraer &

P.T.O.
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177.

178.

179.

180.

The clearing of forests is referred

toas:

(1) Reforestation
(2) Desertification
(3) Deforestation

(4) Sanitation

Tissues combine to form :
(1) Nucleus

(2) Cells

(3) Organism

(4) Organs

Which of the following is a natural
fiber ?

(1) Wool

(2) Nylon

(3) PVC

(4) Polythene

The microorganism which contains

chlorophyll are :
(1) Virus

(2) Fungus

(3) Algae

(4) All of the above

(46)

177.

178.

179.

180.

gl Tl THE B HET ST 8 -

(1) a=irepToT
(2) HEEIATHIOT
(3) @l T Ferd
(4) Teresdr

S HARY a9 ©
(1) AR

(2) HITERIT

(3) si=g

(4) i

fFrfaieaa & @ @9 us ugRias
HIEER © 7

(1) S

(2) A=

(3) drerEn

(4) dfeire=

qe geHsila STEH  FAiihd il

(1) =™
(2) FHah
(3) ar
(4) IURTRT |l

NMMS-2022
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6.

10.

11.

12.

13.

14.

15.

16.
17.

18.

usHl % IOX, IIX =k H it @ it
wwﬁ?ﬁgﬂhmaﬂwm%,
= g T R o

O e B o

AW B I ™ SOX G "HEr S, 9
IO A @ B A U 9 9 ©

© ® © @

gie U 9 el @l B WY 2d & Al AR
SAX IIT HIET ST |

B I
Sar 6

. X% HA U gRIE H 3E YA & fag & T

el SFTE 9Y &1 &1 |

.G IO Fad SAC UFH (OMR) WX & 3ffeed

FH | AIT I YD AR HL | IAX T
2g 29d % (F%e FIS) H gAnT Mt B

. g% 999 % fo @Ru w = foeeedl H @ S

fgpea & T AT 99% (OMR) X &ad TF &l
gd H YU e H Oid @R 99 F 9 0H
IR I Sfkd X B G IH ST A8 S
T 2 |

srwpefl gfema Y b 3@ IO u=eh O Hiel |
ST Qawwﬁémﬁrsmqwm
ARl O SgHHI® IO Uk MEiRd
W & Afaiead o= 9 [Rid |

gse QRIS Ud IO 9 B eAYaS TANT HY,
iR e o aRRaf § (Faw geT gRawr o
IAX WE B HHIG A fWear Hl R @l
BIghI) ga¢ g7 Grawr 8 3=y &l #arn
ST 1

gs gROH/SOY 9Eeh H [T T A
el Wl ade ¥ et 9= 7 o |

el St uwdem E/HH H WA HE B
AT fopdl U sl 1gd @i, gigda =
sEfIRgd RSl I i, ﬁa’{ e B,

s’%@;ﬁmwmﬁ%ﬁmwﬁﬂmﬁr
H A S AT I FIA H AGART S 2 |

ISRUSET-ARY M U U STell ofuAr
T (T o) famamd |

o= Adierh a1 e ® [@AT g @ faer
FIE Tt STIAT W T BIE |

SAFS(~1eh /EETATAT Uiehaleh I SUANT afoid 2 |

fopel Bla H ued gRAeHl AR SAX U5 H Fis
ART ST T |

e " BN R, Sl qdiem et /et
8lgd 9 Yd SR YN HE-UIAEh bl AT
Fﬁtr%ganzreﬁamﬁwaqﬁg%waﬁém
qhd T |

6.

10.

11.

12,

13.

14.

15.

16.
17.

18.

Answers to questions in answer sheet are to be
given by darkening complete circle using black ball
point pen as shown below :

O e O o

The answer will be treated wrong, if it is marked, as given

below :
v ® © @

If you fill more than one circle it will be treated as a
Wrong answer.

. Rough work should be done only in the space provided

in the Test Booklet for the same.

. The answers are to be recorded on the OMR Answer

Sheet only. Mark your responses carefully. No whitener
(white fluid) is allowed for changing answers.

. Out of the four alternatives for each question, only one

circle for the most appropriate answer is to be darkened
completely with Black Ball Point Pen on the OMR
Answer Sheet. The answer once marked is not allowed
to be changed.

The candidate should ensure that the Answer Sheet is
not folded. Do not make any stray mark on Answer
Sheet. Do not write your Roll No. anywhere else except
in the specified space in the Answer Sheet.

Handle the Test Booklet and Answer Sheet with care, as
under no circumstances (except for discrepancy in Test
Booklet and Answer Sheet Serial No.), another set of
Test Booklet will not be provided.

The candidate will write the correct Number as given in
the Test Booklet/Answer Sheet in the Attendance Sheet.

Candidate is not allowed to carry any textual material,
printed or written, bits of papers, pager, mobile phone,
electronic device or any other material except the Admit
Card inside the examination hall/room.

Each candidate must show on demand his/her Admit
Card (Roll No.) to the Invigilator.

No candidate, without special permission of the
Superintendent or Invigilator, should leave his/her seat.

Use of Electronic/Manual Calculator is prohibited.

No part of the Test Booklet and Answer Sheet shall be
detached under any circumstances.

On completion of the test, candidate must hand over the
Answer Sheet to the Invigilator in the Room/Hall. The
candidate is allowed to take away this Test Booklet with
them.
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SET:D

gehoie I U
3TouHo3TRo HHH
CRETIET <8:|3|%| ﬁ) : Booklet Serial No. &
Roll No. (In Figures) O. M. R. Serial No.
AT (r=al H)
Roll No. (In Words)
qOeT &HF Bl A -
Name of Examination Centre
Tegelt T A et B TEER -

Name of Candidate Signature of the Candidate

59 T97-giaesr 4 geal @l a&qr 48 g7l F TdEr 180 aTT

No. of Pages in this Question Booklet No. of Questions Time

3 hours

et P SEATEIT /Signature of the Invigilator :

oreeeff @) 10 e &1 G597 g gRasr gT 89 RN # ge7, g9 gEae 7 Ry ¢ gef & diRaa 797 9% #77 a9 SRT 977 P e
Rar a1 af gev-97 gwae F go F diRGT T T 89 & @ g = ordfers @ [Fa5T FWH G9F 9 JHAT Jad & | GO G
&I % geErg FE FTar @hHR TE AT T §7 10 Fret # sifaR#d, gel # Iuv @7 7 sifkd a7 % R Q3 392 # gw Rar s

STRIFRNET % forg Fder
1. IR =% (OMR) 39 999 YRR & 3= &l

INSTRUCTIONS FOR THE CANDIDATES :

1. The OMR Answer Sheet is inside this Test Booklet.

2| S SRl U9 YRAeRT Fie @ el S, o
IAX U R Y A A had Fwi i @R
U9 9 faEyer «% |

. 9eT W rEi 3§28 & ud usd g F 180 UsT
2| Uk UT TH b B B FIF FURHE BT
T&T &1

.30 U T {qEROT Sifehd Hid Ud IO U WX
M9 & % [T A il S @ige U9
TR &Y | T UeA-gRGHT H ITART FHA oA
TAY U Bl WX H AEYEl aXd | §@d JeF
gieer @< garT T8 1 S

. T8 o gRfea & & & gs9 gRaew wHiw oA
ST 95E HHG UH B &1 TR FE F= B a@r
Al gAY gA-gRAHE AR I I=E A &
for et @1 g ST AT |

. g8 gdem @ 9 7 8 -
ART-1 : NieH AT geor
AFT-I1 : e qrgar qh&er (9. 91 F ¥, 180)

(.17 9. 90)

When you are directed to open the Test Booklet, take out
the Answer Sheet and fill the particulars carefully with

black ball point pen only.

. The test is of three hours duration and consists of

180 questions. Each question carries one mark. There is no
negative marking.

. Use Black Ball Point Pen only for writing particulars on

this page/marking responses in the Answer Sheet. The
candidate should remain careful in handling the question
paper and in marking the answers on the answer sheet.

Another booklet set will not be given.

. Also ensure that your Test Booklet Serial No. and

Answer Sheet Serial No. are the same. In case of
discrepancy, the candidate should immediately report the
matter to the Invigilator for replacement of both the Test
Booklet and the Answer Sheet.

. This Test has two Parts :

Part-1 : Mental Ability Test (MAT) (Q.1t0 Q. 90)

Part-II : Scholastic Aptitude Test (SAT) (Q. 91 to Q. 180)

W.-ggﬁw%wﬁﬁv%sﬁﬁé‘sﬁ#
21

Note : Read other remaining instructions given on the

last page of this Booklet.
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(3)

PART - I (|- 1)
MENTAL ABILITY TEST

ifser AvIar ghemr

Questions : 1 to 90

1. If the word ‘DOG’ can be written
as 13, then how can the word
‘MAT be written in that code ?

(1) 17 (2) 34
3) 24 (4) 26

2. Rahul i1s 15th from the left in a
row of 38 boys. What will be his
position from the right ?

(1) 23rd (2) 22nd
(3) 24th (4) 25th

3. If the word ‘MOUSE can be
written as “ONWRG”, then how
can the word ‘LIGHT  be written
in that code ?

(1) MGHFU  (2) JGEFR
(3) JJEIR (4) NHIGV

4. How many times does Zero appear
in the numbers from 1 to 1000 ?

(1) 102 (2) 122
(3) 192 (4) 112

Direction : (Question Nos. 5 to 9)

Read the following information and
answer the questions given below.

1. P$Q means P is mother of Q.

2. P@Q means P is father of Q.

3. P#Q means P is husband of Q.
4. P&Q means P is daughter of Q.

NMMS-2022

1.

IREEE

Time : 12 Hours

g ‘DOG’ =% &/ 13 for@Er siarn
g, @1 ‘MAT = @1 @i # 5
UehY forar o1 @ehar & °?

(1) 17 (2) 34

(3) 24 (4) 26

38 Tgwhi &l Ui H Vg 919
158 T 9T 2| IR ST SR
o T T BN 7

(1) 23at (2) 22t

(3) 24art (4) 25aT

gl ‘MOUSE’ s1== s “ONWRG”
forar Siar 2, & ‘LIGHT =0 =&
Hs H p9 Usr r@ar Sr dwdn
g7

(1) MGHFU  (2) JGEFR

(3) JJEIR (4) NHIGV

1 ¥ 1000 d& = @&l 7 0
foha=l ST STar B °

(1) 102 (2) 122
(3) 192 4) 112

(UsT &&= 5 § 9)

frefafad ST 9@ 3k A= R
usHil &% IAY & |

1. P$Qahr <1ef 8 P, Q & AT T |

2. P@Q@ 1T B P,Q & fuar ¥

3. PHQ@® 1 B P,Q & Wi 2 |

4. P&Q I A B P,Q &I I 2 |

P.T.O.
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. How is A related to C according to

A@B#C ?

(1) Father

(2) Grand Father
(3) Father-in-law

(4) Son-in-law

. How is C related to A according to

A$B&C ?

(1) Wife

(2) Daughter
(3) Mother
(4) Husband

. How is A related to C according to

A#B$C ?

(1) Husband
(2) Father
(3) Son

(4) Wife

. How is C related to A according to

A&B#C ?

(1) Mother
(2) Daughter
(3) Wife

(4) Husband

. How is A related to C according to

A@B$C ?

(1) Grand Father

(2) Husband

(3) Maternal Grand Father
(4) Father

NMMS-2022

(4)

. A@B#C & AR A & C & =41

T B 7
(1) far
(2) @raT

(3) T
(4) ™=

. A$B&C &% @R C &1 A & =41

T B 7
(1) ot
(2) =&
(3) =
(4) 9fa

. A#BS$C & SIE A &1 C & =40

T B 7
(1) 9fa
(2) Toar
(3) STer
(4) 9ot

. A&BH#C & AR C &1 A & =41

e B 7
(1) =
2)
(3) Tt
(4) dfcT

. A@B$C & T7ER A H C & =0

g B 7
(1) et
(2) @i
(3) ATAT
(4) foer
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Direction : (Question Nos. 10 to 14)
Read the following
answer the questions given below.

All six members of a family P, Q, R, S, T
and U are traveling together. S 1is
daughter of P. U is brother of Q. Q 1s
daughter of R. But R is not the mother of
Q. P and R are a married couple.

information and

10. Who is U’s mother ?
1) s
2) P
3) R
4) T
11. How is T related to S ?
(1) Uncle
(2) Father
(3) Maternal Uncle
(4) Brother
12. How many children does P have ?
(1) 1 (2) 2
3) 4 4) 3
13. How many male members are
there in the family ?
(1) 1 (2) 4
(3) 2 4) 3
14. How is S related to U ?
(1) Sister
(2) Mother
(3) Sister-in-law
(4) Daughter
NMMS-2022

(5)

fEer - (997 EEm 10 § 14)
frefafad 9 98 R S
MM YAl B IAL & |

U gfREar & 99 B 959 P,
T SR U U a1 Im=0 &Y
FIA B U, Q F AR
I B AT R, Q F
3T R us faaifed swer 21

U &I |7 &9 8 7
(1) S
2 P
3 R
4 T

¥

g
=

10.

T H ST & daer 2 ?
(1) ==
(2) foer
(3) HAM™T

(4 wig

P& fpaq = 8 7
1 1 @) 2
(3) 4 4) 3

aRErR H fhod gEy 959 € 7

11.

12.

13.

1 1
3) 2

(2) 4
4) 3
SH UG 7 ey & ?
(1) ==

(2) =t

(8) «THAT

(4) a1

14.

P.T.O.
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Directions : (Question Nos. 15 to 18)
In each of the following figures number
are written according to some patterns.
One number is missing. Find the
missing number that replace the
question mark (?).

12 15 13 18 7 ?
15. Y Y Y
20 26 7

(1) 21 (2) 13
3 9 (4) 19
XS RS
(1) 9 @) 2
(3) 18 4) 7

7. 2 27 8 T s 3 9 4

ot

b 2 s 2 b
(1) 464 (2) 232
(3) 494 (4) 133

8

18. 2
2 [7X7)
216 27

913
1) 5 (2) 14
(3) 125 (4) 25
NMMS-2022

(6)

fésr @ (97 Eear 15 9§ 18)
= & T gas etefa # ww MiEd
FH AJER HB FEd e T
TH 9 U de g9 2 W a@en
AT H S U e (7)) & WM W
SUgEd &l |
12 15 13 18 7 ?
15. Y Y Y
20 26 7
(1) 21 (2) 13
3 9 (4) 19
1 9 @) 2
(3) 18 4) 7
7. 2 27 & T 5 3 9 4
* * Eiﬁ
AN A A
(1) 464 (2) 232
(3) 494 (4) 133
18. 2.8

2162?

913

1) 5 2) 14

(3) 125 (4) 25
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Directions : (Question Nos. 19 to 22)

Read the following information and

answer the questions given below.

There are five person in a group A, B, C,
D and E. The group has one doctor, one
teacher and one author. A and D are
unmarried students. E is a man married
to one of the group member. B is brother
of A and is neither doctor nor author. C
1s not a doctor.

19. Who is author ?
1 A
3) C

©) B
4) E

20. Who is teacher ?

(1) B
@) C
3) E
4 D

21. Who is doctor ?
1) C
(2) B
3 D

) E

22. Who is wife of E ?
(1) D
@ C
3) B
4 A

NMMS-2022

(7)

st ¢ (I d@Er 19 | 22)

frefeRad S99 el A R
T gAT B IALC 2 |

ks 998 d 5 &R A, B, C, D 3R E
g1 @9 H UH ShRY, UH [ IR
Th d@®h 21 A X D offgarea s=
I E UF 59 & ST wYE B d=et #
J up Q fqaifed 21 B, A &1 92 2
X I @ SFeT & F & q@h!l C
EfFex T8t 2|
AEH BT B 7
1) A
3) C
farerr I B ?
(1) B
2) C
3) E
4) D
EfFeT T 8 7
(1) C
@) B
(3) D
4) E

E & 911 &9 8 7
(1) D
@ C
() B
4) A

19.
@) B
4) E

20.

21.

22.

P.T.O.
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23. A clock has 6 : 47, so what does
the time of the clock appear when
you look in the mirror ?

(1) 7:13
(2) 6:13
38) 5:13
(4) 8:13

24. If the English alphabet is written
in reverse orders, which will be
the 8th letter to the right of the
12th letter from the left ?

1) G @) T
3) F 4 1

25. If the seventh day of a month
comes three days before Saturday,
then which day will be the 17th
day of that month ?

(1) Sunday
(2) Saturday
(3) Friday

(4) Wednesday

26. Various terms of an alphabet
series are given with one term
missing as shown by (?). Choose
the missing terms out of the given
alternatives.

DEF, HIJ, MNO, ?

(1) RST

(2) STU

(3) TUV

(4) SRQ
NMMS-2022

(8)

23.

24.

25.

26.

T 981 H 6 FolehY 47
g, ar sdor § I W
T FT Ui sidr 8 7
(1) 7:13
(2) 6:13
(3) 5:13
(4) 8:13
I SIUSH & guEEr B I
9 H forEar s, ar 9 |9 1249

3BT &  adl SX 84T oTalY
HIET-ET BN 7

1) G
) F

e 3u
BTG

2 T
(4) 1

gt fedt A & Gaar R’RE
JvER § a9 &9 gsd ofEr B,
@ IT HIE FH GIedl & HA-A0
qe B8R ?

(1) Ea

(2) SIFER

(3) SIHATX

(4) g9aX

IO T &® gg
T ¥ AEH 9 s us Rew
~a g e (?) @ e
2 RRu o gt # @ e
ST IfeTT |

DEF, HIJ, MNO, ?

(1) RST

(2) STU

(3) TUV

(4) SRQ

18 wd
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Direction : (Question Nos. 27 and 28) ISECIEE (E[-‘Ff H&r 27 T 28)
Select a proper group of letters from the fGu T Opeal § | ST &1 UH el
given alternative. e gHu S Raa &= &0 gid 6
ST E b |
27. _a_b_abaa_bab_abb 27. _a_b_abaa_bab_abb
(1) abbaa (1) abbaa
(2) babba (2) babba
(3) ababb (3) ababb
(4) babaa (4) babaa
28. qrp_q_ppqr_p_rpp 28. qrp_q_ppqr_p_rpp
(1) qraq (1) qraq
(2) rapq (2) rapq
(3) prpq (3) prpq
(4) rrpq (4) rrpq
29. What is the angle between the two 29. 1 H 7 oY 30 e WX I
hands at 7 : 30 in the Clock ? Al & g e =3t @ o
2T 7
(1) 45° (2) 60° (1) 45° (2) 60°
(3) 15° (4) 30° (3) 15° (4) 30°
30. A man walked 40 meters towards 30. T Ffk IO &A1 & ST 40
North, took a left turn and walked Hex d&% oIdl, d8 o qer T
20 meters. He again took a left 20 HeX @1 I8 9 EIe] qs1
turn and walked 40 meters. How X 40 #HEX IAT| 9IRS e
far and in which direction i1s he g g fha-r EN X fpg fem #
from the starting point ? BN 7
(1) 20 meters East (1) 20 #HIeX ‘{cf
(2) 20 meters South (2) 20 Hiex IeyoT
(3) 20 meters West (3) 20 HiexX 9f=gH
(4) 100 meters South (4) 100 HieX aferor
NMMS-2022 P.T.O.
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Direction : (Question Nos. 31 to 34)

In each of the following questions the
first words have a common
relationship. Choose one word out of the
given four alternatives, which will
replace the question mark (?), having
same relationship with the third, the
pairs are given as following.

two

31. Reading : Knowledge : : Work : ?
(1) Engagement
(2) Employment
(3) Experience

(4) Experiment

32. Paw: Cat:: Hoof : ?
(1) Lion

(2) Elephant

(3) Lamb

(4) Horse

33. White : Peace:: Red : ?

(1) Rose

(2) Hatred

(3) Violence
(4) Cleanliness

34. South : North-West : : East : ?
(1) South-East

(2) South-West

(3) North

(4) West

NMMS-2022

(10)

fEer = (997 FEr 31 4§ 34)

=feRaa g% 999 H U8d & R
el 7 Rl dXe 9 Usm-gEl 9
21 Ru T Ir fawedt # 9 uH
= g S garEw Bree (7) &
gy 37 9l & R JE == 9
T 9 8| SIS 39 UhK [’ E |

[l

:

854

31. 9&AT : S : : HIH : 7
(1) &

(2) VST

(3) STgHAT

(4) I=mT

USTT - foreat o
(1)

(2) e

3) 9

(4) =T

qha : Shfd : o
(1) I

(2) gom

(3) Ear

(4) T@=dr
aferor : SOR-ufREm s gg ;7
(1) =feror-gd

(2) Eferor-uie=H

(3) I

(4) qfg=H

32.

33.

34.
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35. Wednesday being Republic day
was holiday. The tenth day of the
next month  being Basant
Panchami was holiday. What day

was on 10th ?
(1) Wednesday
(2) Tuesday
(3) Friday

(4) Thursday

Direction : (Question Nos. 36 to 39)

In each of the following questions, 3
question figures are given as A,B,C and
four answer figures are given as 1,2,3
and 4. Select the figure from the answer
figures that will continue the series

given in the question figure.
36. Question Figures

T

A B c D

[m] [m]
. 0

Answer Figures

o P e T
a

o [T T
NMMS-2022

(11)

D

35. g @ OGS fRaw @ gl
ATl ol ®EH 104 f&e a6
GEHT @ gedl &l 10 dE
Hie-a1 fast er ?

(1) g
(2) HITTEX
(3) IhIX
(4) T&IX

fesr : (997 dEr 36 § 39)
FfeRed u@% g9 # 3 UsH
atpfaat AB,C & &9 H SR I 3IX
sTpfaat 1,2,3 ofX 4 & &9 § &1 T
21 IAT oTEiEl H A IF SATHIA B
T HISTQ ST Ue SATpfcal # & =
=fg@l HI S TEA |

36. g7 STt
E] AV I;]Do - 2
l o]
B c D

IAX SRl

o P e T
o T [T
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37. Question Figures

A
a A

o ?
5X 0

A B c D

Answer Figures

(1) Ox A (2) A

(3) (m] (4) A

38. Question Figures

A AT 7

A B C D

Answer Figures

o |V oA
Y

3) (4)

4,

39. Question Figures

@

Answer Figures

(1)

0 (9

3)

NMMS-2022

S 890

37. U STpiEm
[m} Jay
O ?
AX 0O
A B c D
IAX AR

38.

39.

O P @ z

A a
GRS @ | X
g STt
A4 1= | 2
I ﬂ'IEEi?ITITA i C D

o |V oA
® |5 @ Y

g STt

SHRC

IX SATRIET
o B,
S S
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Direction : (Question Nos. 40 and 41)
In the following questions, choose a
figure amongst the four alternatives
which when placed in question mark (?)

space of figure (X) would complete the

pattern.
40.
(X)
(1) 2
HEAN
3) 4 N
41.
?
(X)
o ¢y ®
3) 4

Direction : (Question Nos. 42 and 43)
In the following questions, from amongst
the figures marked 1, 2, 3 and 4 choose
the figures which satisfies the same
condition of placement of the dot(s) as in
figure (X).

NMMS-2022

feer : (Je deEm 40 o 41)
=l gsa1 # 9 fOehedl § |9 T
Sl I+, 58 o9 STl (X) & 997
e () & N W W Ae ar ged
9T BT S |

40.
(X)
M @)
HEAN
®) @ K
41.
?
(X)
o ¥l ©
®) @

fasr : (Us deEmm 42 ud 43)
frfafeaa ge=t &, el 1, 2, 3 9lR
49 9 98 Al g, ol f&ig e
SHl Refq 1 dgse war & o9 6
gl X)H B
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D
42. g?K

(X)

m(z

\)

N

()

3) (4)

43. .

(X)

" @

() K ;)/>
SR

/

3) N @

Direction : (Question Nos. 44 and 45)

Select the mirror image of the given

number/figure (X).

44. 24169

(X)
(1) 96142
@ Shroe

3 eorbhds
(4 €K hrS

NMMS-2022

(14)

" @

(X)

@(Z

\)

N

@)

3) (4)

43. .

(X)

" @

(1) K ;)/>

AN
N

3) N @

fesr : (Us dEm 44 wd 45)
& I @/ (X) & S99 B
g |

44. 24169

(X)

1 96142
2 Shlroe
@3 eards
(4 3€rIMS
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45.

(1) @)

(3) (4)

Direction : (Question Nos. 46 and 47)
Study the following number sequence

and answer the questions given below.

63745921873569437142769317

46. How many prime number are in
the sequence which are
immediately preceded by an even
number but immediately followed

by an odd number ?
1) 5 2) 13
(3) 4 4) 7

47. How many ‘3’ number are in the
sequence which are immediately
preceded by an even number but

immediately followed by an odd

number ?

(1) 4 2 2

3) 3 4 1
NMMS-2022

(15)

45.

e -

(X)

(1) @)

(3) (4)

(I e 46 T 47)

Frefaiad S STEhH &l STIT i
AR =9 Ru U gt & I T
63745921873569437142769317

46.

47.

fRU T STpd H bl STy
e B dfeT RO 9 H U
e den g ?

(1) 5 (2) 13
(3) 4 4) 7
ffm @ o gpd d o 3 E,
% 3% Ued UH 99 & @

dfeh T e H Uh fquH g
g 7

1) 4 ©2) 2
(3) 3 4) 1
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Direction : (Question Nos. 48 and 49)
The given figure (x) 1s followed by four
figures 1, 2, 3, and 4 such that (x) is
embedded in one of them. Trace out the
correct alternatives.

48. N

(X

(1) (2)

(3) (4) Eg

49.

(1)

@)

3)

b | <0

(4)

NMMS-2022

fdsr : (Fs1 Eear 48 wd 49)
feam g3 U o =R e (x) 1, 2, 8,
AR 4 H | uH H 9RO 21 6 (x)
T A pd | MiRd 81 Suged faened
Hl TE= Y |
48. i ’
(X)
o)) 2)
3) 4) Eg
49.
\/ﬁ/\/
X)
© |[2A
—1
o &
o N7
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50. Kailash walks 3 kms to east and
turns south and walks 4 kms.
Again turn west and walks 6 kms.
How far he from the starting
point ?

(1) 5kms
(2) 6 kms
(3) 3 kms
(4) 7 kms

51. Select the related number from
the given relation :
583:295::486:7?

(1) 291 (2) 378
(3) 487 (4) 581

52. Find the odd word from the given
alternatives :
(1) RTUX
(2) WUTQ
(3) GEDA
(4) ECBY

53. If A means +, B means x, C means
+and D means —, then the value of
9A2B6D4C2is:

(1) 16 2) 19
3) 27 (4) 30

54. If4x3=14,5x4=18,6x5=22,
then find the value of 7 x 6 :
(1) 20 (2) 26
3) 30 (4) 42

NMMS-2022

(17)

50.

51.

52.

53.

54.

D

Harer 3 FRHl ga H SR Fe ©
A SR & IR gsar & 3R 4
fopHl =rTar B 1 g ufREm @ SR
JSHL 6 Bl T © T8
AR fofg & feaeit gx 8 7

(1) 5 fpHr
(2) 6 fpHT
(3) 3 fepHl
(4) 7B

ffu 7o day @ Hdfg der w
T BX -

583:295::486:7?

1) 291 (2) 378

(3) 487 (4) 581

Ru @ fapedi § & FuH 9=
ST HifoTT -

(1) RTUX

@) WUTQ

(3) GEDA

(4) ECBY

e A &1 37 +, B 1 31 x, C H
3l + IR D 1 3 — HET S,
AW9A2B6D4C 2 % AW T
P
(1) 16
(3) 27

(2) 19

(4) 30

g 4x3=14,5x4=18,6x5=22
2, A 7x6 H A ST HIOT -
(1) 20 (2) 26

(3) 30 (4) 42

P.T.O.
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D
Direction : (Question Nos. 55 to 57)

How many triangles are in the given
figure ?

55.
1) 10 2) 12
3) 9 4) 5
56. /\
1) 10 @2) 8
(3) 6 4) 5
57.
1) 7 2) 10
3) 11 4) 9

Direction : (Question Nos. 58 and 59)

How many squares are in the given

figure ?
58.
1) 18 @) 15
3) 25 (4) 16
NMMS-2022

(18)

ol

@ (U HE& 55 q 57)
TE ARl H OBIYgS W Eer fohdel

?

N

W 4p

(1) 10 2) 12

3) 9 4) 5
56. /\

1) 10 2) 8

3) 6 4) 5
57.

1) 7 2) 10

3) 11 4) 9
feer - (9897 EEr 58 wd 59)

& TS el H oawmi @ w@er fhasn
g7

58.

(1) 18
3) 25

(2) 15
(4) 16
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59.
(1) 12 (2) 15
3) 20 (4) 25
60. If x means —, + means X, + means

+ and — means +, then find the
valueof 175 -25+5+2x3+10:

(1) -13
(2) 160
(3) 240
(4) 2370

Direction : (Question Nos. 61 to 63)

In these questions, a number series is
given with one term missing. Choose the
correct alternative from the given ones

that will complete the series.

61. 4,13, 28, 49, 76, ?
(1) 99
@) 111
(3) 109

(4) 122

62. 117,96, 77, 60, ? , 32
(1) 40
(2) 49
(3) 50

(4) 45

NMMS-2022

(19)

59.
(1) 12 2 15
(3) 20 (4) 25

60. IT x @1 37 —, + & T x, + F
FF + X - H AT + HET
SE, @ 175 - 25 + 5+ 2x 3 + 10
BT HIE ST HISIY
(1) -13
(2) 160
(3) 240
(4) 2370

fEer = (997 EEr 61 § 63)

= "edl H uH @& ofeen & R ©
e ok q' g 2| Ry et |
9 gg fabed geT SoSEem Hg
Ll B |

61. 4,13, 28,49, 76,?
(1) 99
@) 111
(3) 109

4) 122

62. 117,96, 77, 60, ? , 32
(1) 40
2) 49
(3) 50

(4) 45

P.T.O.
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63. 7,20,58,171,?
(1) 216
(2) 284
(3) 509
(4) 441

64. If4x2=3and 8 x4 =3, then find
the value of 21 x 7 :

1) 4
@) 3
(3) 8
4) 16

Direction : (Question Nos. 65 and 66)

The figure (X) is folded to form a box.
Choose the box from given alternatives
that is similar to the box formed.

65. g +7//
o |A] %
(X)

x| @ (o8

S -
@ vt @|x[8
66. Et
S|l@|# |V
E
(X)
@ #
o |y @ B
@ &Y
@ |v|¥ @ s|®
NMMS-2022

(20)

63.

64.

e -

7,20, 58, 171, ?
(1) 216
(2) 284
(3) 509
(4) 441

afd 4x2=3 3T 8x4=3 8, a@r
21x7 @1 HE A HISQ -
(1) 4

2) 3

(3) 8

(4) 16

(J97 d&A1 65 Td 66)

ffE X) fesm a9 & @ Aer @ @
U o famedi & | Uar Teea (fe=m)
A SN FEE Y fEs & FHEy B |

65.

66.

;:1+7/
s |AX

W [x]) @ [g®

X .
@ vt @ x[2
=+
S|l@ # |V
E
X)

o | [HY @ B

I

®
-+

@ v 4 |3
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Direction : (Question Nos. 67 to 70)

Each side of solid cube is 15 cm. The
opposite faces of this cube are painted
Red, Green and Yellow. After this the
cube is cut into small cubes whose each
side is 3 cm. Answer the following

questions on this basis.

67. How many such small cubes will
be obtained which have red and

green colour on only two faces ?
1) 12 (2) 8
(3) 36 (4) 24

68. How many such small cubes will
be obtained which have yellow
colour on only one face ?

1) 8 2) 12
(3) 18 (4) 54

69. How many such small cubes will
be obtained which will not have
red, green and yellow colour on
any of the faces ?

(1) 125 (2) 25
3) 8 4) 27

70. How many such small cubes will
be obtained which will have red,
green and yellow colour on only
three faces ?

1) 12 @) 8
(3) 25 (4) 54
NMMS-2022

fEer = (987 FEm 67 | 70)

T S "9 H TG o 15 FHl T
=9 59 & [aUdd wash gl hl A,
B SR UM [ ¥ T SEr 21 36H
e 39 3 AHI Yol oIl "R Thsi |
FHE ST 21 TH AR X Frefarad
SECTICRT S L S Ll

67. U9 fRa< BIC ¥4 urq 8 9%
Had & Bk U¥ AT AR B

[T e ?
1) 12 @) 8
(3) 36 4) 24

68. UH fpae 8I¢ o9 Ut el s
Had UHh Haleh I¢ UiAT 31 &1 7

1) 8 2) 12
(3) 18 (4) 54

69. TY [hay B 99 U 81 [ieeh
fpdl i wasp 9¥ e, B SR

dieT 1 7&T erFm ?
(1) 125 (2) 25
(3) 8 (4) 27

70. UH fRa< 8l 99 Ut Bl s
Had O ek 9T A, 84 31T
dier BT 8rm 7

(1) 12 (2) 8
3) 25 (4) 54
P.T.O.
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Direction : (Question Nos. 71 and 72)

In the following number series find the
number which is wrong according to the

series.

71. 7,17, 11, 15, 15, 13, 19, 9, 23
1) 9
@) 11
(3) 23
@) 15

72. 8,4, 6, 15, 52
(1) 4
2) 52
(3) 15
4) 8

Direction : (Question Nos. 73 and 74)

The three different position of a dice are
given below. Select the suitable answer

of the following question.

+ @ %

73. What is the symbol on the opposite
surface of T ?

1) 3
(2) +
) @
4) x

NMMS-2022

e - (989 HE 71w 72)
= A TR dem gEer §ode g
ST B S AT & ATIR A E |

71. 7,17, 11, 15, 15, 13, 19, 9, 23
1) 9
@) 11
(3) 23
@) 15

72. 8,4, 86, 15, 52
(1) 4
2) 52
(3) 15
4) 8

fdsr - (we dem 73 o 74)

TF grEl Sl diF SAA-STaT Rafa A=
& M 2 FEfRad 9|l & S9gEd
IAX B AT R |

+ @ %

73. ¥ & faudg ade X H=-a1 ==
27

1 3
2 +
3 @

(4) x
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74. What is the symbol on the opposite
surface of § ?

1) X
@) x
(3 +
(4) #

Direction : (Question Nos. 75 to 77)

In the following questions there are
statements followed by conclusions.
Choose the conclusion(s) which must
logically follow from the given
statements.

(1) If only conclusion I follows.
(2) If only conclusion II follows.

(3) If neither conclusion I and II follows.
(4) If both conclusion I and II follows.

75. Statements :
All Apples are Mangoes.
Some Mangoes are Guava.
Conclusions:
I Some Guava are Apples.

II Some Guava are Mangoes.

76. Statements :
Some buses are vans.
Some vans are motorcycles.
Conclusions :
I Some vans are buses.

II Some motorcycles are vans.

NMMS-2022

D

74. $ % AUd9 Gds ¥ HH-91 T
27

1) 2
(2) x
(3 +
(4) #

st (I d@Er 75 |/ 77)

Frfaiad gedl H, HE & " ey
2| Fr=pd &1 9w &Y S fRw q el
q dliches &9 & HAFAIOT AL |

(1) g Haad F=py 1 FAFAXOT AT 2 |
(2) aE Faa F=py 11 ATEOT FHIT © |
@) afle 7 @ el I iR 9 &1 11

HATHTOT HIAT 2 |
(4) I F=pd 1 X I S SAFEROT
FXA 2 |
75. HYT :
gl a9 7H 2 |
BB AW FHAEE € |
e -
I B oHEe a9 B
II B THES TH 2 |

76. FHET :
FHe T4 99 2 |
|/E I HETHEG 2 |
frepe -
I 3B a9 99 21
II % Hedsthd o9 ¢ |
P.T.O.
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77. Statements :
Some dogs are cats.
No cats are rats.
Conclusions:
I Some cats are dogs.
II Some rats are dogs.

Direction : (Question Nos. 78 to 80)
The answers to the following questions
are based on the diagram given below.
Where the circle represents students
studying Mathematics, the triangle
represents students studying Science
and the square represents students
studying Geography.

78. Number of students who study
Mathematics and Science but not
Geography :

(1) 7
(2) 5
(3) 4
(4) 6

79. Number of students who study

Mathematics, Science
Geography :

(1) 5

(2) 6

3) 7

4) 4

and

NMMS-2022

(24)

77. YA :
FB FHl fafeedr 2
®g et Fer 72 B
ey -
I %5 el & 2|
II B I FI ¢ |

feer = (9877 Hear 78 § 80)
=feaa ussi & IAX A
MR WX 3T €, Sier
Jed ard BEN, FrYs fOase ge

gfatfere war 2

79.

Downloaded from cclchapter.in



80. Number of students who study

only Mathematics :
(1) 3 (2) 4
3) 6 4) 7

Direction : (Question Nos. 81 and 82)
In a certain code language

(a) ‘rim tim bo’ means ‘Sun is Hot'.

(b) ‘sim jar tim’ means ‘Moon is Cool’

(¢) 9ar bo lim’ means ‘Sun and Moon’.

81. In that language which word is

written for ‘and’ ?
(1) tim
(2) lim
(3) sim
(4) jar

82. In that language which word

written for ‘cool’ ?
(1) lim (2) jar

(3) tim (4) sim

83. If the word ‘EIGH’ can be written

as ‘EMOT’, then how can the word
‘AEKL’ be written in that code ?

(1) AELM (2) AESX
(3) AISX (4) AIXS

Direction : (Question Nos. 84 and 85)
Which of the four answer figures can be

formed from the pieces (X) given below ?

NMMS-2022

(25)

D

80. I BEI ol G&AT, S dhad IO

9ed ©
1) 3 ©2) 4
3) 6 4) 7

fdsr @ (U9 GEr 81 uy 82)

Teh figE e A |

(a) ‘rim tim bo’ T 3T ‘Sun is Hot’ &
(b) ‘sim jar tim’ &7 377 ‘Moon is Cool’ &
(© Yarbolim’ &I 727 ‘Sun and Moon’ &

81. 3T 9T ¥ S == ‘and’ & foT

forar T3 B
(1) tim
(2) lim
(3) sim
(4) jar
82. IH HMNT H S =¥ ‘cool’ & faIQ
for@r ™= ' o
(1) lim (2) jar
(3) tim (4) sim
83. it ‘EIGH’ == %I ‘EMOT f&en
ST 2, a1 ‘AEKL &7 =1 #ie §
e wepX forar S depar B 7
(1) AELM (2) AESX
(3) AISX (4) AIXS
fdsr - (we dem 84 o 85)

TR IAT STEAT H H HiA-Al AT
H A RU U THST (X) @ IR S
qeHal © 7

P.T.O.
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se. AU
N g 4
(X)
(1) 2)
(3) (4)
85. - V
)

(X}

o g 9
@ | @ |

86. If the word ‘MUMBAI" can be
written as ‘NWPFFOQO’, then how
can the word ‘DELHI’ be written
in that code ?

(1) EFMIL (2) EGOLN
(3) CDKGH (4) EGOMN

Direction : (Question Nos. 87 to 89)

There are given six logical Diagrams (a,
b, ¢, d, e and f). Select one which best
illustrates the relationship among three

classes in each of the following question.

R
@ @ @

NMMS-2022

(26)

sa. AU
N g 4
(X)
(1) (2
3 4)
85. - V
)

(1) @ 2) @
3) @ (4) @

86. I ‘MUMBATI 1= s ‘NWPFFO’
forer ST @, @ DELHT <l =&
He H fFa e forar S gehdar
e

(1) EFMIL (2) EGOLN
(3) CDKGH  (4) EGOMN

fesr : (9s dear 87 § 89)

B: b @9 == (a, b, ¢, d, e 3T f)
o o | Freefefaa ¥ @ g% usH
¥ d9 e & & 99y 0 arar
4 g |

© &7
Do © @
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87.

88.

89.

90.

Husband, Wife, Family :
1) b
2) f
3) a

4) e

Authors, Women, Techers :
1) b
2) c
3) d

4) e

Mothers, Women, Children :
1) f
(2) a
3) b
4) c
If the word “DOCTOR”
written as FRGVRYV, then how can

the word “HEALTH” be written in
that code ?

can be

(1) IFBMUI
(2) JHEMWM
(3) IFBNUI
(4) JHENWL

NMMS-2022

(27)

87.

88.

89.

90.

qfdl, 9l, 9REr :
1) b
@) f
®3) a

4) e

e, Afea, faremE ¢
(1) b
@) c
3 d

4) e

qan, Afewd, a=
) f
@) a
3) b

4) c

% “DOCTOR” == & FRGVRV
forar ST 8, @ “HEALTH” Y
4l FIs H O Uer fomEr S
el & 7

(1) IFBMUI

(2) JHEMWM

(3) IFBNUI

(4 JHENWL

P.T.O.
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PART - II (T - II)
SCHOLASTIC APTITUDE TEST

AféTp erF AT greroT
Questions : 91 to 180 Time : 12 Hours
91. Why did Mahatma Gandhi visit 91. HETHT T SURE I1=1 F+f g ?
Champaran ? (1) 99T § i 9GRS |IeTeh
(1) To see the plights of Indigo I @Sﬂ 3Eq & g
planters in Champaran (2) I 9FTE "ifeTRl & U
(2) To see the progress of Indigo 3@ % fag
plantation (3) HIAT H UEEH UM @A
(3) To see the managing system of % g
company
(4) To collect the revenue (4) TS THA B b g
92. If the angle of incidence is 50°, 92. JiE SMIIA  HOT 50° T, o
then calculate the angle between Aafad BReT ud uRERid [her
the incident ray and the reflected % S & HIOT HI T BT -
ray :
(1) 50° (1) 50°
(2) 130° (2) 130°
(3) 80° (3) 80°
(4) 100° (4) 100°
93. If2y+§=%—y,theny=: 93. Tl 2y+g=%—y, ar y o AW
BT -
M1 1 1
2 2
2) = ol
2) 3 2) .
6 6
3) — 2
(3 = (3 -
7 7
4) — 2
4 3 (4) 5
NMMS-2022
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9.

95.

96.

97.

98.

Here are the names of resources
Look at the
options and state which option is
not correct ?

(1) Coal -

and their types.

Non-renewable
resource

(2) Petroleum  — Non-renewable

resource
(3) Water — Non-renewable

resource

(4) Solar Energy — Renewable

resource

The policy of merger was given by
which English man ?

(1) Warren Hastings
(2) Lord Dalhousie
(3) William Bentinck
(4) Lord Wellesley

What is the additive identity of
rational number ?

(1) 0 2 1

3) -1 (4) 2

The fight for Purna Swaraj was
fought under the presidentship of :
(1) Mahatma Gandhi

(2) C. Rajagopalachari

(3) Sardar Vallabhbhai Patel

(4) Jawaharlal Nehru

The place where an Earthquake
originates is :
(1) Centre
(3) Focus

(2) Epicenter
(4) Apex

NMMS-2022

(29)

94.

95.

96.

97.

98.

D

TET GEEEl & A g 3% UhR
feu @ | fopeal 1 T oI}
gaey & HE-ar Oeey a8 &7
g7

(1) BT - STHAARLCNT daree

(2) UEIeTEH - STHARLCNT daree

(3) oI ~ TR0 9ares

(4) A o0l - TAdpong Gares

e = g fFa s & =9
g7

(1) are 2heg

(2) @S s

(3) faferaw sifden

(4) @ JAT

AT @ &A1 &1 AFHE gade
FTE?

(1) 0 2 1

3) -1 4) 2

fopeent Sfemerdl H Ul WS H
SEIEASEII

(1) HeTeHT e

(2) €. TSFIAEERT

(3) OER TN dod

(4) STAEI T A%

I8 M SEl g% Y&l e ©

1) &= (2) sTferbe=
(3) ®Ihd (4) BRifEg
P.T.O.
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99.

100.

101.

102.

103.

104.

Who among the following was
associated with the Hindustan
Republican Association ?

(1) Subhash Chandra Bose

(2) Mahatma Gandhi

(3) Bhagat Singh

(4) Laxmi Sehgal

A square carrom board has a

perimeter of 320 cm. How much is
its side in cm ?

(1) 100
(3) 60

(2) 80
(4) 90

What steel was Tipu Sultan sword
made of ?

(1) Stainless Steel (2) Wootz
(3) Silver (4) Gold

Which of the following is an
important component of
formation ?

(1) Parent Shell

(2) Flora

(3) Climate

(4) All of the above

soil

Which of the following resource
has commercial value ?
(1) Clean environment

(2) Panoramic view
(3) Cotton clothes
(4) Pleasant weather

How many features are required
to construct a quadrilateral ?

1) 4 (2) 5
3) 6 4) 3

NMMS-2022

(30)

99.

100.

101.

102.

103.

104.

Feffad 5 | i EgEe
Rufssrep Tafdues & Sper o ?

(1) g9y =iz <19
(2) HeTHT e
(3) wa &

(4) T T

T TR BT e &HI iE
320 T B IHH G H HMY

a1 | =1 8 ?
(1) 100 (2) 80
(3) 60 (4) 90

Y g™ H deer e &
q o et ?

(1) SR T (@) gest
(3) =T (4) &=

=1 # 9§ HI-dr gar FEier w6
Heegul g2 © 7

(1) 996 AA
(2) TSI

(3) STeTary,
(4) IUUEFT Tt

M J§ 9 R dEEE @
afoTfsTes JoF & °

(1) =8 IramEeT

(2) H9RH ™

(3) T ae=

(4) gera=r drEq

el SIgYST &l AT & [T el
frdans (Rl @) oTasT®h & 7

(1) 4 2) 5

(3) 6 4) 3
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105.

106.

107.

108.

109.

In a pie chart data is converted
into :

(1) Line

(2) Angle

(3) Circle

(4) Percentage

It is difficult to walk on ice
because :

(1) pressure is high

(2) pressure is low

(3) friction is high

(4) friction is low

The animals that produce new
young ones are called :

(1) Viviparous

(2) Oviparous

(3) Both (1) & (2)

(4) None of these

Lahore Gate Improvement Scheme
was launched in :

(1) 1888 (2) 1886
(3) 1911 (4) 1936
How many sepoys were dismissed

from service and sentenced to ten
years in jail on 9 May, 1857 ?

(1) 80 (2) 85
3) 90 (4) 95
NMMS-2022
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105.

106.

107.

108.

109.

D
g = ¥ 'Y SRSl #l had
Jed I B 7
(1) <mE=
(2) =T
(3 Id
(4) gicrT

I% 9¥ Il Hicd 8 =ik :

(1) =19 s 2
(2) 9 FH B
(3) =91 3ifers B

(4) g9 HA B

I SMeEX ST §= Ual Hd ©,
FeAld & :

(1) S=ar STa4 dId

(2) =T 34

(3) ST (1) <X (2)

(4) =9 9§ HIZ &

RN fe gar A E # T
o :

(1) 1888 #
(3) 1911 #

(2) 1886 H
(4) 1936 #
9 Hg, 1857 &I fohaw fqureai i

Tar 9 F@ied AT T X &9
e & g &1 T 7

(1) 80 (2) 85
(3) 90 (4) 95

P.T.O.
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110.

111.

112.

113.

114.

Which of following chemical

method i1s used for purifying of
water ?

(1) Fluorination
(2) Chlorination
(3) Bromination
(4) Filtration

The British thought surveys were
important for :

(1) Writing History

(2) Effective Judgement

(3) Effective Administration
(4) All of the above

If 3x74 is a number divisible by 9,
then the least value of x is :

1 1 @) 2
(3) 3 (4) 4

Who said these "Education means
all round drawing out of the best
in child and man body, mind and
spirit" ?

(1) Swami Vivekanand

(2) Rabindranath Tagore

(3) Mahatma Gandhi

(4) Plato

Who allowed the British to trade
in a limited area in Bengal ?

(1) Jahangir

(2) Aurangzeb

(3) Bahadurshah Zafar
(4) Shahjahan
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114.

= J 9 hg vamf=e & @
SUINT gl Bl = B B [T
fopar STar 8 °

(1) wAAA
P EESIEGER
(3) SN
(4) BEAT

IS w1 faama o % Gderor
SECTUIRCI -

(1) sfte™ Jes & [™iig

(2) 3= dE BEd a4 & g
(3) °T=H dE ¥ MEA FH & g
(4) IUFT Tl

fe =T 3x74, 99 9T B, a1 x

BT FATH HH BN ¢
1) 1 2) 2
®3) 3 (4) 4

I fpaer et Cfare @1 ot aw
SR Hg & R, A SR SAAT
(1) @i fTasHs

(2) == R

(3) waIeHT e

(4) <t

ST H e # Odifba &= o
IR &l AT b= & 7

(1) STErRiT

Q) "

(3) IBIGISME STHT

(4) SMESTEr
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115.

116.

117.

118.

119.

The factor of 49P% — 36 are :
(1) (7P + 6)*

(2) (TP -6)

3) (TP —6) (7P + 6)

(4) (6-17P) (7P + 6)

The area of a rectangular field
whose length is twice its breath is
2450 m2. What will be its length in
meter ?

(1) 35
2) 70
(3) 45
(4) 90

Find the cube of (2 -0.3) :
(1) 7.73

(2) 4.913

(3) 4.713

(4) 7.713

40% of 50 students of a class are
good at Science.
students are not good at Science ?

(1) 20
2) 30
(3) 25
(4) 35

How many

The example of cylindrical shape
1s :

(1) Pipes

(2) Gas Cylinder
(3) Cold Drink Can
(4) All of the above
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115.

116.

117.
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119.

49P* — 36 H OGS BIT :
(1) (7P +6)°

2) (TP -6y’

(3) (7P —6) (TP + 6)

(4) (6—TP) (TP + 6)

Th TgYSRR T STEe g
IS g, W AEHA
2450 I W B | SHH TR HIEX
H T Brl 7

1) 35

) 70

(3) 45

4) 90

(2-0.3) T I FT X ?
(1) 7.73
(2) 4.913
(3) 4.713
(4) 7.713

50 BT %I TH T § 40 g
B faeme & =8 B fham Bs&
fosme 7 o= &7 2 ?

(1) 20

(2) 30

(3) 25

(4) 35

ATTTRIT STIT T ISET B -

(1) qrzq

2) T faqusx
(3) wice E&H A
(4) ITaEFa Tl

P.T.O.
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120.

121.

122.

123.

124.

The height of a cylinder whose
radius 1s 7 cm and total surface
area is 968 cm? is :

(1) 15cm
(2) 17 cm
3) 19cm
(4) 21 cm

Area of a square plot is 2401 m?.
Find the side of square plot :

(1) 49 m
(2) 48 m
(3) 59 m
(4) 39 m

If (—3)™"! x (-3)° = (-=3)", then the
value of m is :
(1) 5
3 1

2 7
4) 3

If x and y are directly
proportional, then which of the
following is correct ?

(1) x+y=constant

(2) x—y =constant

(3) xy = constant

(4) x/y = constant

The scale of map 1s given as
1 : 300. Two cities are 4 km apart
on the map. The actual distance
between them is :

(1) 1000 km
(2) 1100 km
(3) 1200 km
(4) 1300 km
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120.

121.

122.

123.

124.

T JoAhR o= &1 A g
AIhA 968 THIZ T AT IAM!
Broem 7 W B, O SEE SER
fepa=r B8R ?

(1) 159

(2 1794

(3) 19 9=

(4) 2139

THIT e B a=AhA 2401 H?
g | |Ie H JSI T BR 7

(1) 49 =i

(2) 48 =i

(3) 59 =i

(4) 39 =i

g (3™ x (=3)° =
T HIE BT ¢
1 5
3 1

-3)7, T m

2) 7
4) 3

e x X y FHEURT €, O 395
g HiA-A1 FEl © 7

(1) x+y= Rk
Q) x—-y= s
(3) xy = s
4) x/y = Rels

Teh HHEE & 99T 1 300 f&=m
T O® & Y HEREE WX 4
il g0 W 21 I ad
arediaeh gl feha=t BF 7

(1) 1000 fRHT

(2) 1100 FRHT

(3) 1200 FRHT

(4) 1300 fRHT
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125.

126.

127.

128.

129.

Which of the following is the

common factor of :

5xy, 3pqr and 40xyz
(1) 5 2) 0
(3) xy (4) 1

865000 is equal to :
(1) 8.65x 10°
(2) 8.65x 10?
(3) 8.65x 10°
(4) 8.65x 10*

By joining (-1, —1), (0, 0) and (3, 3)

represent :

(1) atrangle

(2) a curved line

(3) a straight line passing through
origin

(4) a straight line not passing
through origin

Where did the word Calico come
from ?

(1) Calicut

(2) Kolkata

(3) Karnataka

(4) Kandla

If (504 + P) is a perfect cube
number, whose cube root is P, then
value of P will be :

(1) 6
2) 4
(3) 2
(4) 8
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126.
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128.

129.

D
feu @ g&f H @ [UEETe ;1
BT 7
5xy, 3pqr 37X 40xyz
1 5 2) 0
3) xy 4) 1

865000 X=X B :
(1) 8.65x 10°
(2) 8.65x 10?
(3) 8.65x 10°
(4) 8.65x 10*

(-1, —1), (0, 0) ST (3, 3) = o™

U 9Tl B8R :

(1) T s

(2) TH Ik 3@

(3) Th WA @ S HgA &g |
ol B

(4) TH WA @ S oA &g |
SEEN LG

HicTepl 9= fhad Mepar 8 7

(1) FHlhe |
(2) HIAHMCAT q
(8) HAlEH &
(4) HisaT 4

afs (504 + P) TP ©9 TET B
S g7 qa P g, a1 P &1 A9
BIGECTEE

(1) 6

(2) 4

(3) 2

(4) 8

P.T.O.
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130.

131.

132.

133.

Women and Men who carried
basket loads of iron—ore on their
heads were called :

(1) Wootz (2) Agaria
(3) Bandana (4) Cossaes

Match List—1 with List-2 :
List-2

List-1

State Location of

Atomic Power

Station
(I) Kalpakkam
(II) Kaiga
(ITT) Narora
(IV) Tarapur

Maharashtra
Uttar Pradesh

(2)
(b)
(¢) Karnataka

(d) Tamil Nadu
(1) a-1v, b-I11, c-II, d-I
(2) a-1, b-111, c-II, d-1V
(3) a-I, b-11, c-I11, d-IV
(4) a-1v, b-111, c-1, d-1I

Which of the following right aims
at making India a Secular State ?

(1) Right to Freedom of Religion
(2) Right to Equality

(3) Right to Education

(4) Right to Freedom

Which
number
Sabha ?

(1) Haryana

(2) Uttar Pradesh
(3) Punjab

(4) Bihar

has
of members

maximum

in Lok

state
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130.

131.

132.

133.

g HAfewmd iR gEY S
AE-3TT%h H IR X 9w @
X T, Hedad F ¢

(1) g (2) TR
(3) SIS (4) A
-1 & -2 " gAled
FIFSTY
gE-1 e-2
T QRHATI] FHSil
PE BT T
(a) HellSg (I) HTIFhH
(b) IAT UL |1 B
(c) e (I11) ST
(d) dHEArg | AV) dRIgY

(1) a-1v, b-I11, ¢-I1, d-I
(2) a-I, b-I11, c-I1, d-IV
(3) a-I, b-11, c-111, d-IV
(4) a-1v, b-111, c-1, d-1I

Frfafaa & 9 f9-a1 feer
T &H gHAAE F9Er 8 7

(1) efHes Ta—=dar Hl 3THT
(2) FHMCT BT HATBR

(3) Trem =pr AR

(4) EET=CAT BT TR

ARaT § 999 Al ge R
T e Y

(1) =R
(2) AT U=
(8) GsIa

(4) B
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134.

135.

136.

137.

Which statement is true regarding
sparsely populated areas ?

(1) The regions where there 1is
cold,
population is found.

Hilly areas
inhabited.

Equatorial

extreme sparse

(2) are

sparsely

receive

3) regions
heavy rainfall, so there is less
population.

(4) All the above statements are

true.

Which of the following is not a
method of land
conservation ?

suitable

(1) Checks on overgrazing
(2) Deforestation

(3) Regulated wuse
pesticides

of chemical

(4) Land reclamation

Where 1is the
located in India ?

(1) Chandigarh
(2) Kolkata

(3) Mumbai
(4) Delhi

supreme court

Which of the following is called
golden fiber ?

(1) Jute
(2) Cotton
(3) Silk
(4) Wheat
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137.

D

R @9 gu &= &% dHdg H

HT-9T FH FGF & °

(1) ©F Ussi # AAF T Bl
ST 2

(2) YT & foReT 979 U 2 |

(3) YHeET Yasl H AU
gyt By B, gEfT ger
SHEET B 2 |

(4) IgUET G FHIFT TH 2 |

=T & 9 SA-a1 g dRETOT @

Th I Tk TET B 7

(1) STf=meT 9T Uk

(2)

(3) TS BAESINEI Ea)
faf =i SgaT

(4) I TR

A § gated <A@ Fel Red
g7

(1) =g |

(2) HITHET H

(3) g2 o
(4) e H

M= § @ %9 gaeu W we
ST © 7
(1) gea=
(2) U™
(3) 9™

() T

P.T.O.
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138.

139.

140.

141.

142.

Who presides over the Lok Sabha ?
(1) Prime Minister

(2) Speaker

(3) President

(4) Vice President

Which
affect the location of industries ?

of the following factors

(1) Availability of raw material
(2) Proximity to market

(3) Availability of water

(4) All of the above

Article 21 of the

Constitution guarantees :
(1) Right to Speech

(2) Right to Life

(3) Right to Freedom

(4) Right to Information

Indian

Which of these countries is the
leading producer of coffee ?

(1) Brazil

(2) Indonesia

(3) China

(4) India

Which is the highest law-making
body in our country ?

(1) High Court

(2) Supreme Court
(3) Parliament

(4) Sarpanch
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138.

139.

140.

141.

142.

SEHETAT &I STHETAT I Al & 7
(1) ge=HEA

(2) EpT

(3) gt

(4) IUTSEYCT

M= d 9 SF-91 BRe IEAr
% AARATT I TATEaT HIT B 7

(1) H= AT Pl IqAAT
(2) S &l fehedr

(8) ST HI SUTEIT

(4) ITaFd ol

AR Giae %1 ofg=se 21
MIET AT 8 -

(1) ATYOT kT ATHRT

(2) Sa @ ATTBR

(3) I H AR

(4) GIAT Bl AfER

A " HE-ET IA BB BT
IO IEEH & 7

(1) sISi

(2) St

(3) ==

(4) ARd

BAR o9 H gdied HFA O9 M
qelt TEJT BT B ?

(1) I=g <

(2) Tal=" IEEd

(3) 9z

(4) IO
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143.

144.

145.

146.

Which of the following
statements is not correct regarding
the population pyramid ?

one

(1) Population pyramid is also

called age sex pyramid.

(2) Population pyramid gives us
an idea of the income level and
health conditions of people of

different age groups.

In countries with low birth
rates, the of the
population pyramid is narrow.

The of the
population pyramid indicates
high birth-rate.

3)

base

wide base

(4)

Where did the biggest gas tragedy
in the world ?

(1) Chennai
(2) Jaipur
(3) Bhopal
(4) Gujarat

Where the
constitution mentioned ?

(1) The Preamble

(2) Fundamental Rights
(3) Directive Principle
(4) Fundamental Duties

are aims of the

Who does file the FIR ?

(1) Police men

(2) Lawyer

(3) Judge

(4) Public Prosecutor
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143.

144.

145.

146.

D

SHaE fUafis & 99y § =
¥ F H9-91 HUT TGEl J&@ e ?

(1) SHaer adE &6
fafe off w=a 21

(2) STEET [quiHe | 8H A=
AY & H ANl B AT B
WY g W ST & Oy
T 2 |

(3) ® S IX T a=n H
ST [UHE #r STEr
GhYT BIT B |

(4) JEE  fgufEe & =Ser
MY I=F S9-a¥ I aSMdT
=4

fasg =1 g99 I 9 AT Hal
ER

(1) =2

(2) STAYR

(3) 9T

(4) ToTaq

dfaeae & IR B goiE HaEl
fpar T 8 °?

(1) w&qmE=T H

(2) Wi ARl |

(3) fa-frdsrr fasial &

(4) M wdeat |

T, oM. MR. (FIR) &9 &St
FIAT & 7

(1) g

(2) FHIA

(3) =TTATERST

(4) TR Fhid

g e

P.T.O.
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147.

148.

149.

150.

151.

In which year the Domestic
Violence Act passed in India ?
(1) 2004 (2) 2005

(3) 2006 (4) 2007

Which of the following industries
are owned and operated by
producers or suppliers of raw
materials ?

(1) Private Sector Industry

(2) Public Sector Industry

(3) Cooperative Industry

(4) Joint Sector Industry

Which of these minerals is a non-
ferrous metallic mineral ?

(1) Iron Ore
(2) Manganese
(3) Chromite
(4) Copper

Which is an organization that
arranges toilet facility in the cities
and towns ?

(1) Sulabh

(2) Bharat Vikas Parishad

(3) Muhalla Sudhar Samiti

(4) Private Company

The bumper and door handles of
motorcars coated  with

chromium because :

are

(1) It does not easily get corroded
(2) It does not easily get scratched
(3) It tarnishes quickly

(4) It is cheap

Which one option is not a correct
cause ?
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aRd H fRE ad ;o B @
g fear & ?
(1) 2004
(3) 2006

M= d 9 e S H1 @i
J 9T hed "I 3dIEd AT
EEZEUECIRURERI IS | ST

(2) 2005
(4) 2007

(1) st &= & I
(2) AEST &5 & ISART
(3) TEHRI I

(4) FFFR & T T

T q BE-Er @Ee et
e @it ® 7

(1) e TTEh

(2) BT

(3) IR

CYRSIEI

P-T1 G e X el H
QT Giger IUAey HAAA & 7

(1) g4

(2) 9RT fIerd aRug
(3) Hiewl ga diHid
(4) ST 9T

AelhpX & §9¢ AR @ &
Ted U¥ HIHIH H 9T =TS B
2 it -

(1) T8 EFT 9 T T8t Bl 8
Q) T ST ¥ @ T8 S ©
(3) T STl g B SR 8

(4) I8 9&m @

ST H  Hi-ar faeed g@l
TR ?
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152.

153.

154.

155.

156.

Acid Rain mainly constitutes :

(1) Sodium Chloride

(2) Sulphur dioxide and Nitrogen
dioxide

(3) Hydrochloric Acid

(4) Carbon Tetrachloride

Which of following gas is used to
control fire ?

(1) NHs (Ammonia)

(2) Hz2 (Hydrogen)

(3) COgz (Carbon Dioxide)
(4) F2 (Fluorine)

The microorganism which containg
chlorophyll are :

(1) Virus

(2) Fungus

(3) Algae

(4) All of the above

A bomb explodes on the moon.
How long will it take for the sound
to reach the Earth ?

(1) 10 Second

(2) 1000 Second

(3) 1day

(4) Sound will not be heard

The synthetic fiber that appears to
resemble wool is :

(1) PET
(2) Acrylon
(3) Rayon
(4) Nylon
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ST guT & J&d 9dsh -

(1) aifeaH FRES

(2) ITHY aé’m
ARGl SISHTFIIRS

(3) BISZIRAINGD 3T

(4) FHET ETEANES

(aha S-S N 1< I < B 0 G A= 2 | L
AT H FEET F B e fEa
SITaT B 7

(1) NHs (oTHIf=m)

(2) Hp (eT8gIoM)

(3) CO:z (HreT STEATFAES)

(4) F2 (oRA0H)

ge geHsilg STaH  aiiitha  Bldl
o

(1) aEE

(2) Fa®H

(3) araT

(4) ITaFa Tl

SE2II

d9% WX 99 Hedl 21 & Hl
gedl T dgad H fear gwd
R ?

(1) 10 9T

(2) 1000 TFvE

3 11

(4) et gg =E &

ST & 9 RE g difivd
I PN AW B

(1) 9e
RUESIE]
(3) A
VRS IESIE]

P.T.O.
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157.

158.

159.

160.

161.

Two plane mirrors are kept at the
following angles one by one. In
which case 1s the no. of images
formed maximum ?

(1) 60° (2) 30°
(3) 45° (4) 90°

Burning coal in a closed room will
produce :

(1) NO2 (Nitrogen Dioxide)
(2) CO2 (Carbon Dioxide)
(3) CO (Carbon Monoxide)
(4) Oz (Oxygen)

Arrange the following planets in
increasing order of time required to
complete one revolvation around
the Sun :

(1) Earth
(111) Mars

(1) 1, 11,111, 1v

(1) Uranus

(iv) Jupiter

(2) 1,11, 1v, 11
(3) 1v, 111,11, 1

(4) 11,111, 1, 1v

The process of removing salt from
sea water is called :

(1) Calcination

(2) Desalination

(3) Evaporation

(4) Condensation

Friction can not be reduced by :
(1) Making the surface smooth
(2) Making the surface rough
(3) Lubricating the surface

(4) Using ball bearing
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161.

A U IUON B TH-THh FHh
fFrafaRad o oX T@r S @)
g Rafg & g9 a ufafesar
F G AHaH Bl 8 7

(1) 60° (2) 30°

(3) 45° (4) 90°

¥ HAX H HIAA B ST Iq—
FHIAT & -
(1) NO; (AT3gIS SEIFTES)
(2) COz (FreT STEATFAES)
(3) CO (FrET HAAISFARES)
(4) Oy (3TFdISH)
AN TH FFhe U HH B
MEh T & dad  hH
AR HY

(11) Zﬁ_"lﬂ

(i) get
(1v) Eg%?tlﬁr

(iii) HeTat

1) i, i, iii, iv

foe
=

(@) i, iii, iv, ii
(3) iv, iii, ii, i

(4) ii, iii, i, iv

TSl ST & AU B G B B
gfehaT el © ¢

(1) M=

(2) FAGONHIOT

(3) aTSdIRTOT

(4) g9+

gYYT T HH 7T [BAT ST Fehall :
(1) |dg hr =—HAT TR
(2) 98 Hl GREY TR

(38) |dsl 9¥ EEHh TR
(4) T FATET BT ITART Hh
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162.

163.

164.

165.

166.

Name the sphere that supports life
and where living organisms exist :

(1) Atmosphere
(2) Lithosphere
(3) Biosphere
(4) None of these

Which of the following is a natural
fiber ?

(1) Wool

(2) Nylon

(3) PVC

(4) Polythene

Refrigerating gases which harms
ozone layer :

(1) MFC
(2) CFC
(3) LPG
(4) DFC

After the sun, the next nearest
star to Earth is :

(1) Alpha Centauri
(2) Polestar
(3) Sirius

(4) Proxima Centauri

Iron is galvanized by coating it
with :

(1) Chromium

(2) Sodium

(3) Magnesium

(4) Zinc
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D

ST &F FH AW FAST S SiEd
T THT HIAr 2 SN ST&r Siifad

SICEIS CRCE
(1) argHsA
(2) ¥HSA
(3) SiaHsd
(4) =9 T Hig TEl

fFr=fafaa & @ 9 uF Tgios
HEEAT B 7

(1)

(2) A=

(3) draret

(4) dteliel=

gefifed A S Sfoie 9xd &t
B Jganil 8 :

(1) MFC

(2) CFC

(3) LPG

(4) DFC

gd & d& gl w Sl
Mreheaw amT B -
(1) STTRT |
(2) ga ara
(3) |Ii=™|
(4) HtfeRTHT S
SIEINC B (G SRz R B2 o MR RS |
IT H AT SaT B 7
(1) =HfEEe
(2) Aifszw
(3) FITIEH
(4) S
P.T.O.

Downloaded from cclchapter.in



167.

168.

169.

170.

171.

which
remouled again by heating is :

(1) Polyethene
2) PVC

(3) Polystyrene
(4) Bakelite

A plastic can not be

What is rust ?
(1) Copper oxide
(2) Zinc oxide
(3) Sodium oxide
(4) Iron oxide

A book of mass 20 g is placed on a
table. Find the thrust exerted by
the book on the table. (Take
acceleration due to gravity as
10 ms™)

(1) 0.2N

2 2N

(3) 200 N

(4) 20N

The most Reactive metal is :
(1) Copper

(2) Silver

(3) Calcium

(4) Sodium

the development of
fertilized egg takes place in the :

(1) Ovary
(2) Oviduct
(3) Testis
(4) Uterus

In humans,

NMMS-2022
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167.

168.

169.

170.

171.

Th WReeh T SHSAT ahy AH
F&T foha1 ST 9ehal g8 ® -

(1) dieiei=
(2) 9r.gr.4.
(3) dfeliee=zd=
(4) SheTEe

ST T R ?

(1) U TS
(2) TSI ITieraEs
(3) AifeaH ffaEs

(4) AEE ATFAES

20 UM ZHHM & Teh &I i
Tk Bl UX @1 T B OAS WX
g&h BN @ET T g HI
HIT | (P& ©@ROT 10 ms™> &
g H )
(1) 0.2N
@) 2N
(3) 200 N
(4) 20 N

qaites Rl a1g 8 ¢
(1) Ex

(2) =<t

(3) Hfcsmw

(4) afsTw

gl |, o e @ e
2T B

(1) Sz H

(2) TEeenfei #

(3) gueT H

(4) T H
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172.

173.

174.

175.

176.

Chromosomes are found in :
(1) Nucleus

(2) Nucleolus

(3) Nucleoplast

(4) Vacuole

When a
chromosome fuses with the ovum,
the child born will be :

(1) Male
(2) Female
(3) Male as well as female twin

(4) It depends on the chance of
fusion

sperm  having X-

The soil formed by decayed organic
matter is called :

(1) Pesticide
(2) Fertilizer
(3) Humus
(4) Biocide

The clearing of forests is referred
to as:

(1) Reforestation
(2) Desertification
(3) Deforestation
(4) Sanitation

Tissues combine to form :
(1) Nucleus

(2) Cells

(3) Organism

(4) Organs

NMMS-2022
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172.

173.

174.

175.

176.

TR T E
(1) =¥ |
©2) frraed o

(3) = H
(4) Rfergepr &

S XS ard SR €9 &%

ey e Sa &, ar YT e g

=1 BT

(1) =X

(2) #\1=T

(3) X 3R HIET Seat

(4) g8 HagT H  GHAEAT U
X Fxar B

e BT HEME® T&It q I
Irell Heel &l Hel Sl & -

(1) HieA1=h

(2) IEH

(3) &HH

(4) TAEES

gl I THE B HET ST 8 -

(1) a=IeRToT
(2) HEEIAHIOT
(3) @l = Herg
(4) =T

Ak Ry 9 8
(1) ¥R

(2) IR

(3) S

(4) ST

P.T.O.
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D (46)

177. Which  microorganism  causes 177. HI-9T ﬁai:ﬁﬁ?[ Tgd Bl BT
AIDS ? T 8 7
(1) A protozoa (1) T HesisT
(2) A bacteria (2) TH JFARAT
(3) A virus (3) TH g
(4) An algae (4) Tk AT

178. The chemical substance rich in 178. 99k Il 9 EEC IR ED
nutrients are called : Tl el © -
(1) Fertilizer (1) IdH
(2) Weedicide (2) TXIAATRN
(3) Pesticides (3) HIcTwH
(4) Herbicides (4) BT

179. The amount of Heat Energy 179. o6&l 1 fpelium™ ge &1 goi &8+
produced on complete combustion A IR IO Bl TR SHI
of 1 kg of a fuel is called : SOl I el e © ¢
(1) Calorific Value (1) e A
(2) Significant Value (2) @R "7
(3) Latent Heat (3) T SHoAT
(4) Internal Energy (4) STAR® Hoti

180. A whistle produces sound because : 180. HIEr =i Jar HIAT & FIfP -
(1) It stores air (1) I &a1 & a9 HIl 8
(2) Air vibrate (2) =T PIT HLT &
(3) Person produces vibration (3) =aferd 9 YaT T B
(4) All of the above (4) IUFRT Tl

NMMS-2022
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6.

10.

11.

12.

13.

14.

15.

16.
17.

18.

usHl % IOX, IIX =k H it @ it
wwﬁ?ﬁgﬂhmaﬂwm%,
= g T R o

O e B o

AW B I ™ SOX G "HEr S, 9
IO A @ B A U 9 9 ©

© ® © @

gie U 9 el @l B WY 2d & Al AR
SAX IIT HIET ST |

B I
Sar 6

. X% HA U gRIE H 3E YA & fag & T

el SFTE 9Y &1 &1 |

.G IO Fad SAC UFH (OMR) WX & 3ffeed

FH | AIT I YD AR HL | IAX T
2g 29d % (F%e FIS) H gAnT Mt B

. g% 999 % fo @Ru w = foeeedl H @ S

fgpea & T AT 99% (OMR) X &ad TF &l
gd H YU e H Oid @R 99 F 9 0H
IR I Sfkd X B G IH ST A8 S
T 2 |

srwpefl gfema Y b 3@ IO u=eh O Hiel |
ST Qawwﬁémﬁrsmqwm
ARl O SgHHI® IO Uk MEiRd
W & Afaiead o= 9 [Rid |

gse QRIS Ud IO 9 B eAYaS TANT HY,
iR e o aRRaf § (Faw geT gRawr o
IAX WE B HHIG A fWear Hl R @l
BIghI) ga¢ g7 Grawr 8 3=y &l #arn
ST 1

gs gROH/SOY 9Eeh H [T T A
el Wl ade ¥ et 9= 7 o |

el St uwdem E/HH H WA HE B
AT fopdl U sl 1gd @i, gigda =
sEfIRgd RSl I i, ﬁa’{ e B,

s’%@;ﬁmwmﬁ%ﬁmwﬁﬂmﬁr
H A S AT I FIA H AGART S 2 |

ISRUSET-ARY M U U STell ofuAr
T (T o) famamd |

o= Adierh a1 e ® [@AT g @ faer
FIE Tt STIAT W T BIE |

SAFS(~1eh /EETATAT Uiehaleh I SUANT afoid 2 |

fopel Bla H ued gRAeHl AR SAX U5 H Fis
ART ST T |

e " BN R, Sl qdiem et /et
8lgd 9 Yd SR YN HE-UIAEh bl AT
Fﬁtr%ganzreﬁamﬁwaqﬁg%waﬁém
qhd T |

6.

10.

11.

12,

13.

14.

15.

16.
17.

18.

Answers to questions in answer sheet are to be
given by darkening complete circle using black ball
point pen as shown below :

O e O o

The answer will be treated wrong, if it is marked, as given

below :
v ® © @

If you fill more than one circle it will be treated as a
Wrong answer.

. Rough work should be done only in the space provided

in the Test Booklet for the same.

. The answers are to be recorded on the OMR Answer

Sheet only. Mark your responses carefully. No whitener
(white fluid) is allowed for changing answers.

. Out of the four alternatives for each question, only one

circle for the most appropriate answer is to be darkened
completely with Black Ball Point Pen on the OMR
Answer Sheet. The answer once marked is not allowed
to be changed.

The candidate should ensure that the Answer Sheet is
not folded. Do not make any stray mark on Answer
Sheet. Do not write your Roll No. anywhere else except
in the specified space in the Answer Sheet.

Handle the Test Booklet and Answer Sheet with care, as
under no circumstances (except for discrepancy in Test
Booklet and Answer Sheet Serial No.), another set of
Test Booklet will not be provided.

The candidate will write the correct Number as given in
the Test Booklet/Answer Sheet in the Attendance Sheet.

Candidate is not allowed to carry any textual material,
printed or written, bits of papers, pager, mobile phone,
electronic device or any other material except the Admit
Card inside the examination hall/room.

Each candidate must show on demand his/her Admit
Card (Roll No.) to the Invigilator.

No candidate, without special permission of the
Superintendent or Invigilator, should leave his/her seat.

Use of Electronic/Manual Calculator is prohibited.

No part of the Test Booklet and Answer Sheet shall be
detached under any circumstances.

On completion of the test, candidate must hand over the
Answer Sheet to the Invigilator in the Room/Hall. The
candidate is allowed to take away this Test Booklet with
them.
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